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���&��������
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C��� M ���	��	 �( ������	�
 x1, x2, . . .� 	� 
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M = {x1, x2, . . .}

C��� M ���	��	 �( ������	�
 x 	���0� &	� 
�
������ ����	���� �
�:�	
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M = {x | P (x)}.
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� ��	����3��0 &���� {1, 2, 3, . . .}
• Z @ ������	
� ,���0 &���� {. . . ,−3,−2,−1, 0, 1, 2, 3, . . .}
• Z+ @ ������	
� ,���0 ���	��,�	��3��0 &���� {0, 1, 2, . . .}
• Q @ ������	
� ��,�����3��0 &���� {p/q : p, q ∈ Z, q �= 0}
• R @ ������	
� ��:�	
�	��3��0 &����
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�� �� x
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{(x, y) ∈ R2| 0 ≤ x ≤ 1, 0 ≤ y ≤ 1},
���� �6� 
��6�� 
 
��� ��)���� ����
���	


|x− 1/2| ≤ 1/2, |y − 1/2| ≤ 1/2.
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����	�: �� π/4 �
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√
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x+ y ≤ 1, ���� 0 ≤ x ≤ 1, 0 ≤ y ≤ 1
x− y ≥ −1, ���� −1 ≤ x ≤ 0, 0 ≤ y ≤ 1
x+ y ≥ −1, ���� −1 ≤ x ≤ 0,−1 ≤ y ≤ 1
x− y ≤ 1, ���� 0 ≤ x ≤ 1,−1 ≤ y ≤ 0,

,

$
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�
|x|+ |y| ≤ 1.

B @ 	�
��������� ������	
� A� ���� ∀x ∈ B ⇒ x ∈ A.
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������ 1 ∈ N� �� {1} ⊂ N. K	��� ���� ��	3 ������	 x � 	� �( ���� �����

��	���	3 ����������	��� ������	
� {x}� 
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����(A 
������0�� ������ "��	3 	�0 � 	��3�� 	�0� ��	����
�� "��1	�* ����� 8����	 �� 
������0�� "��	3 ������ ��"* J

���	3 A @ ������	
� �����	� ��	���� �� "��1	�* ����� !���� Ā @ ������	
�
�����	� ��	���� "��1	�* ����� ��
��	��� &	� 
������0��� (�
�	 �����  �
���
���	��	 
 	��� &	�

���� ∈ A ��� ���� ∈ Ā.
�������� &	� �� �	�	 
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��	�
���&�
��� �	
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�������� ;	� �(��&��	� &	� A ���3(* ������	��
�	3 ��� ������	
��
���	3 ���� ∈ A. !���� ���� ��� ��"* �� "���	� %��&�	� �������� 
����(� ��2

������ ��� ������ "��	3 
������0�� L�� �� ����M� K���� ���
���� 
������0��
"���	 ������ ��"*� ���	�
���&��A ���� ∈ Ā.

������	��� 	�
��3 ���&�: ���� ∈ Ā. !���� ���� ��� ��"* "���	� %��&�	� ��2
������ 
����(� �������� ����� 
������0�� "��	3 �� ������� ������3�� ���� �

������0�� ��� � 	� �� ��,�� �	� �(��&��	� &	� ���� �� "���	 ������ ��"*� ���	�2

���&��A ���� ∈ A.
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��� ������M�
��������� ������	
� ������	
� A � B ��
��� �"�(��&����A A = B� ���� A ⊆ B

� B ⊆ A.
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(�����) ���	3 A = {a, b, c} � B = {c, b, a, c}. !����

A ⊆ B,


�����3��
a ∈ A⇒ a ∈ B,
b ∈ A⇒ b ∈ B,
c ∈ A⇒ c ∈ B.

+"��	���
B ⊆ A,


�����3��
c ∈ B ⇒ c ∈ A,
b ∈ B ⇒ b ∈ A,
a ∈ B ⇒ a ∈ A,
c ∈ B ⇒ c ∈ A.

8����
�	��3���
A = B.
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+
���,�� �� ������	
�0 ���
��	
��*1	 �����16�� 	�����	
��

• A ∪A = A, A ∩ A = A L����
�	��	���	3M

• A ∪B = B ∪A, A ∩ B = B ∩ A L�����	�	�
���	3M

• (A ∪B) ∪ C = A ∪ (B ∪ C), (A ∩B) ∩ C = A ∩ (B ∩ C) L����,��	�
���	3M

• (A ∪ B) ∩ C = (A ∩ C) ∪ (B ∩ C), (A ∩ B) ∪ C = (A ∪ C) ∩ (B ∪ C) L���	��2
"�	�
���	3M

• A ∪ ∅ = A, A ∩ U = A,
A ∪ U = U, A ∩ ∅ = ∅ L��:	���3���	3M

• ¯̄A = AL��
��1	�
���	3M

• A ∪ Ā = U, A ∩ Ā = ∅
Ū = ∅, ∅̄ = U L��
�������M

• (A ∪B) = Ā ∩ B̄, (A ∩B) = Ā ∪ B̄ L�� ������M

#
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�	3 X = Y ���� 
��
���	3� &	�

x ∈ X ⇒ x ∈ Y
�

y ∈ Y ⇒ y ∈ X.
������1�	������ �"� �
���"� ����(�	��3�	
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������ 	�����	
 ����"� ���2
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 ����� K����

A ∪ B = ��
��

��
�	

(A ∪ B) ∪ C = ��
��

��
�	

��
�	

8 �����: �	������

B ∪ C =

��
�	

��
�	

A ∪ (B ∪ C) = ��
��

��
�	

��
�	

���	���

(A ∪ B) ∪ C = ��
��

��
�	

��
�	

= A ∪ (B ∪ C)

������� 
	���� �
���"�� 	�����	
� �� �������

(A ∪B) = Ā ∩ B̄.
8 ����: �	������

x ∈ (A ∪ B) ⇒ x ∈ U, x �∈ (A ∪B) ⇒ x ∈ U, x �∈ A, x �∈ B ⇒ x ∈ Ā, x ∈ B̄.
8����
�	��3��

(A ∪B) ⊆ Ā ∩ B̄
8 �����: �	������

x ∈ Ā∩ B̄ ⇒ x ∈ Ā, x ∈ B̄ ⇒ x ∈ U, x �∈ A, x �∈ B ⇒ x ∈ U, x �∈ A ∪B ⇒ x ∈ (A ∪ B).

.
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�	��3��
Ā ∩ B̄ ⊆ (A ∪B).

!�����	
� �� ������� ����(��� 
�����	31�
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��3 
 �	����� 
��� J

�� ����� �� �
������	3 ������	
� ������	
 �� �������6�0 ��"* 
 ��&��	
�
������	� J

�� I
�*�	�* �� ������	
� ������0 �
����	�
 
��������	
�� ������	
� N J

�� 9���� �( �����16�0 �	
�������� 
���� J  ���&�� �	��,�	��3���� �	
�	�

��
��	� ���	�
������

• {5, 6} ∈ {{1, 2, 3, 5, 6}, {1, 3}, 3, 5, 6}
• 7 ∈ {{5, 6, 7, 8}},
• {1} ∈ N

• 1 ∈ N

• {a} ⊆ {{a}}
• {a} ∈ {{a}}

!� 9���� �( �����16�0 �	
�������� 
���� J  ���&�� �	��,�	��3���� �	
�	�

��
��	� ���	�
������

• C��� A ∈ B,B ∈ C, 	� A ∈ C.
• C��� A ⊆ B,B ⊆ C 	� A ⊆ C

• C��� x ∈ A� 	� {x} ⊆ A.

• C��� {x} ⊆ A, 	� x ∈ A.

#� 9���� �( �����16�0 ������	
 ��
�� {a, b, c}, {c, b, a, c}, {b, c, b, a}, {c, a, c, b} J

*� ��
�� �� ������	
�
NM{{1, 2}} � {1, 2}
OM{{1, 2}, {2, 3}} {1, 2, 3}

'



�� %����� ������	
� ∅, A = {1}, B = {1, 3}, C = {1, 5, 9}, D = {1, 2, 3, 4, 5}, E =
{1, 3, 5, 7, 9}, U = {1, 2, . . . , 9}. 9���1 �( (����
 ⊆ ��� �⊆ ���"0����� �	�
�	3 �����
�����16��� 
�����A ∅, A; A,B; B,C; B,E; C,D; C,E; D,E; D,U �

+� ������	�� &	� �( ����
�* A ∪ B = A ∪ C �� ������	� &	� B = C.

� � ���	3 U = N, A = {1, 2, 3, 4}, B = {3, 4, 5, 6, 7}, C = {6, 7, 8, 9} E@ ������	
�
&�	��0 ��	����3��0 &����� D�:	�

• Ā, B̄, C̄

• A \B,B \ C,C \ E,
• A ∪B,B ∩ C,A ∩ B,
• A⊕B,A⊕ C,B ⊕ C.

��� %���:	� �����16�� ������	
� � 
���631 �
�����* ������	�


• {0, 1, 2, 3, 4, 5, 6, 7, 8, 9}
• {2, 4, 6, 8, 10}
• {1, 4, 9, 16, 25, . . .}
• {2, 3, 5, 7, 11, 13, 17, 19, 23, . . .}
• {−1, 1}

��� %���	3 �����16�� ������	
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���631 ����
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��� %���:	� �����16�� ������	
� � 
���631 
���&������* ������	�


• {x ∈ Z : 2x2 − 3x+ 1 = 0}
• {x ∈ R : 2x2 − 3x+ 1 = 0}
• {x ∈ R : (x− 1)(x3 + 1) = 0}
• {x ∈ C : (x− 1)(x3 + 1) = 0}

�/



��� ���	3 nZ = {na : a ∈ Z} @ ������	
� &���� ���	��0 �� n� ������	���
������	
� 2Z, 3Z, 5Z, 6Z� ������	
� ,���0 &���� ����&�
�16�0�* �� 0 � �����2
�	
� �	�
���: 2. 9���� �( �	�0 ������	
 *
�*1	�* 
��������	
��� �����0 J 5	�
*
�*�	�* �0 �"6�� ���������	
�� J

�!� D�:	� �"H�������* � 
�����&���* ������	
 3Z ∪ 12Z � 3Z ∩ 2Z, 3Z ∩
12Z, 12Z ∩ 15Z�

�#� D�:��	� "����� ������	
� {1, 2, 3, 4}�

�*� ������	� 	�����	
� ����"�� ������	
 �
��* ��	����� L� 
���631 ���2
�����  ���� � � 
���631 �������
���* ������	�
 
 ��
�0 � 
��
�0 &��	*0 ��2

���	
M� +"��	�	� 
������� �� ����3���	3 	�����	
�

��� 8 
���631 	�����	
 ����"�� ������	
 ����(�	3� &	�

(A ∪B) ∩ (A ∪ B̄) = A

(A ∪ B) \ (A ∩ B) = (A \B) ∪ (B \ A).

;	�	 ��(��3	�	 
���(�
��	� &	� �����	��&����1 ��(���	3 A⊕B ����� �
������	3
�
��* �
���"����

�+� ���	3 A = {a, b, c, d}. D�:	� ����� 
��������	
� ��	���� �������	 
� 	��
������	�� D�:	� ����� 
��������	
� ��	���� �������	 a � �
� �����0 ������	��
8���3�� ������	�
 ���1	 �	� ������ ������	
 � ��	���: �( ��0 *
�*�	�* 
��2
������� ������� J

� � ���	3 A = {1, 2, . . . , 9}� 9���� �( �����16�0 ��
���
���	�: 
��������	

(���1	 ��("����� ������	
� A J

• [{1, 3, 5}, {2, 6}, {4, 8, 9}]
• [{1, 3, 5}, {2, 4, 6, 8}, {5, 7, 9}]
• [{1, 3, 5}, {2, 4, 6, 8}, {7, 9}]
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	���� �

��������� � �������

��� �����	�
� 
���%
������ � �	��&���'

�����	�
� L��� 
�*���M 
���(
������ ������	
 A1, A2, . . . , An �
�����*�	�*
��� ������	
� �
��*��&����0 
������
�	��3���	�: {(a1, a2, . . . , an) | a1 ∈ A2, a2 ∈
A2, . . . , an ∈ An}� +"�(��&����A A1 × A2 × · · ·An ���

∏n
i=1Ai ���� ���	���

∏
iAi.

(�����) ���	3 A1 = {x, y}, A2 = {p, q, r}, A3 = {1, 2}. !����

A1 ×A2 ×A3 = {(x, p, 1), (x, p, 2), (x, q, 1), (x, q, 2),

(x, r, 1), (x, r, 2), (y, p, 1), (y, p, 2), (y, q, 1), (y, q, 2), (y, r, 1), (y, r, 2)}.
���������� ��* ������	
 A � B �	��)���� �
�����*�	�* ��� 
��������	
�

R ⊂ A × B� C��� (a, b) ∈ R 	� "���� 
���	3 aRb. C��� (a, b) �∈ R 	� "���� 
���	3
a �Rb�

������������� ���������� R = A× A
�
���� ���������� R = ∅ ⊂ A×A
������� ���	3 A = {*:,�� ������� ������(�} � B = {����
�� ��(�� ����,�}.

+
������� �	��)���� R �( A 
 B 
� 
��
��� aRb, ���� b 
���(
���	 a� !����

*:,� �R ����
�

R = {L*:,������,�M�L������� ����
�M�L���������(�M}.
������� +
������� �	��)���� �� ������	
� R 
� 
��
��� xRy, ���� x2 + y2 =

25. !���� R ����� 
����	�
�	3 
 
��� ��������	� ������� 5 �� 
������	�A

��
�	

x5

y

�

�

���	3 R @ "������� �	��)���� �( A 
 B�

��



������� �	��
�������

Dom(R) = {a | (a, b) ∈ R, ��* ����	����� b ∈ B}.

������� ���������

Im(R) = {b | (a, b) ∈ R, ��* ����	����� a ∈ A}.

+	��)���� �� L����&��0M ������	
�0 ����� (���	3

• 
���&��������� ��
������ R = {(a, b), (a, c), (b, d)}
• ��	��,�:

(λi,j), λi,j = { 1, aiRaj

0, 
 
��	�
�
������� ���&��

• �
�������� ��
������ 
 ������	
� �1��: aRb� ���� b@ �	�, a�

• 
 
��� ���4��� 4���,��� ��
������ xRy, ���� y = x/2. �

�

��
��

�

 �	! ��������� R ⊆ A× AA

• R@ ��"��#������ ���� aRa, ��* �1"��� a ∈ A� ������� ?��	3 
 ����� ������?�
• R@ ������"��#�����$ ���� a �Ra ��* 
��0 a ∈ A� ������� ?"�	3 �����?�
• R@ %����������#�� ���� aRb⇒ bRa� ������� ?��"�	�	3 �� ����: 4����?�

• R@ ���������������� ���� aRb, bRa⇒ a = b� ������� ?"�	3 ��&��3�����?�

• R@ ������������ ���� aRb, bRc⇒ aRc� ������� ?"�	3 ������?�

��� (	��&���� ��
�
����	���	�

&#�������������� R @ �	��)���� ��
�
����	���	�� ���� ��� ��4�����
��� ���2
��	��&�� � 	���(�	�
���

(�����) B��
�����3��� �	��)���� *
�*�	�* �	��)����� ��
�
����	���	��
(�����) ���	3 A �= ∅ � a ∈ A. ������3�� (a, a) �∈ ∅� 
��	�� �	��)���� ��

*
�*�	�* �	��)����� ��4�����
���	�� ���	��� 
��	�� �	��)���� �� *
�*�	�* �	2
��)����� ��
�
������	��

'���� (#������������� ������	� a ∈ A �	����	��3�� �	��)���* ��
�
����	��2
�	� R �
�����*�	�* ��� 
��������	
� ������	�
 b ∈ A ��0��*6�0�* 
 �	��)����
R � aA

R(a) = {b | (a, b) ∈ R}.

��



!����
R(a) ∪ R(b) �= ∅ ⇒ R(a) = R(b),

A = ∪a∈AR(a).

L������	� PM
������ ������� #������ (#�������������� D�(�
�� ���	��� ������
 ��
�
�2

���	���	� R(a1), R(a2), . . . , 
����: ���	���:� ����

• R(a1), R(a2), . . . , @ ��(��&��� ������ ��
�
����	���	��

• A = ∪i≥1R(ai).

;�����	 b ∈ A ��(�
��	�* 	��
���������� ������ R(a), ���� b ∈ R(a), 	���� (a, b) ∈
R.

)�#���*���������� ��* �	��)���* ��
�
����	���	� R ������	
� ρ(A) =
{R(a1), R(a2), . . .}� ������	��� ��	���0 *
�*1	�* 
����� ���	��� ������
 ��
�
�2
���	���	�� ��(�
��	�* 4��	��2������	
���  ���	� ρ(A) &��	� ��
��3(��	�* �"�2
(��&����A A/R.

(�����) ���	3 A = Z. +
������� �	��)���� (a, b) ∈ R� ���� a − b ����	�*
�� n� +"�&�� 
 	���0 ���&�*0 
�)�	 a ≡ b(mod n). K���	�* n ��(��&��0 ������

��
�
����	���	�

R(0) = {nk | k ∈ Z},
R(1) = {1 + nk | k ∈ Z},

���

R(n− 1) = {n− 1 + nk | k ∈ Z}.
!���� �"��(��� 4��	��2������	
� ���	��	 �( n ������	�
� +"�&�� 4��	��2������	
�
�"�(��&��	�* 	��A Z/nZ.

��������� ������	
� A @ 
����	�
����� ������	
� A 
 
��� �"H�������* ��
�2
������16�0�* ��
��	�0 
��������	
 Ai, i ∈ I� ��� I ����	���� ������	
� �����2
��
� ������� ���
����

• A = ∪i∈IAi

• Ai ∪Aj = ∅ ���� i �= j.

• Ai �= ∅ ��* 
��0 i ∈ I.
$�����
) ��("����� {Ai, i ∈ I} ������	
� A (����	 �	��)���� ��
�
����	��2

�	�
R = {(a, b) | ∃i ∈ I 	���:� &	� a, b ∈ Ai}.

+"��	��� 
��	3 R ⊆ A × A �	��)���� ��
�
����	���	�� !���� 
����* ���	���
������
 ��
�
����	���	� {R(a1), R(a2), . . .} (����	 ��("����� ������	
� A�

(�����) ���	3 A = {1, 2, 3, 4, 5, 6}. !���� A = A1 ∪ A2 ∪ A3@ ��("������ ���
A1 = {1, 3}, A2 = {2, 4, 6}, A3 = {5}. ;	��� ��("����1 ���	
�	�	
��	 �����16��
�	��)���� ��
�
����	���	�

R = {(1, 3), (3, 1), (2, 4), (4, 2), (2, 6), (6, 2), (4, 6), (6, 4),

��



(1, 1), (2, 2), (3, 3), (4, 4), (5, 5), (6, 6)}
(�����) ���	3 A = {a, b, c, d, e, f}� !����

R = {(a, a), (b, b), (c, c), (d, d), (e, e), (f, f), (a, b), (b, a), (c, e), (e, c),

(a, f), (f, a), (b, f), (f, b)}
*
�*�	�* �	��)����� ��
�
����	���	�� C�� ���	
�	�	
��	 ��("����� A = A1∪A2∪
A3, ��� A1 = {a, b, f}, A2 = {c, e}, A3 = {d}

(�����) K���	�* 
���� $ ��(��&��0 �	��)���� ��
�
����	���	� �� ������	
�
�( 	��0 ������	�
 A = {a, b, c}A

R1 = A× A,

R2 = {(a, a), (b, b), (c, c), (a, b), (b, a)},
R3 = {(a, a), (b, b), (c, c), (a, c), (c, a)},
R4 = {(a, a), (b, b), (c, c), (b, c), (c, b)},

R5 = {(a, a), (b, b), (c, c)}.
;	�� �	��)���*� ���	
�	�	
�1	 ��("����*

A = A1, A1 = {a, b, c},

A = A1 ∪ A2, A1 = {a, b}, A2 = {c},
A = A1 ∪ A2, A1 = {a, c}, A2 = {b},
A = A1 ∪ A2, A1 = {b, c}, A2 = {a},

A = A1 ∪A2 ∪ A3, A1 = {a}, A2 = {b}, A3 = {c}.
��������� ������������� @ ��4�����
��� � �����	��&����� �	��)�����  �*2

��� �	��)���� ��
�
����	���	� *
�*�	�* �	��)����� 	������	���	��
���
���� 
������ �	��)���� 	������	���	��
(�����) ���	3 A = N � aRb, ���� &���� a � b ���1	 0�	* "� ���� �"6�1

,�4���
(�����) ���	3 A @ ������	
� 
�*��0 �
������: 
������	� R2 � aRb, ����


�*��� a � b ���1	 	�&�� 
�����&���*�
(�����) ������	
� A ���	��	 �( &�	���0"��
����0 ������0 ���
 @ ����,�2

	��3��0 ��6��	
�	��3��0 
 �����	��3��� 
������ +
������� �	��)���� aRb ��
������	
� A 
� 
��
���A aRb, ���� ���
� a � b �	��&�1	�* �� "���� &�� �� ����
"��
��

9�� ?
��
��	�	3 ��0� 
 �����? 
 	������0 �	��� �	��)���* 	������	���	� J
D�
������ 	��A

��0� @ ���� @ 	��� @	��� @ ���� @ ���� @ ��4� @ ��4� @ ��1� @ ��1� @ ��1� @
���� @ ���� @ �	�� @ �	�� @ �����

�$



��� (	��&���� 
��'���

+	��)���� R (����	 �	��)���� 
��*���� ���� ��� ��4�����
��� ��	������	2
��&�� � 	���(�	�
���

(�����) +	��)���� a ≺ b �
���������� 
� 
��
��� a|b (����	 
��*��� ��
������	
� N.

+������� 
	���
������� ��������� @ ������	
� � �	��)����� 
��*����
(�����) ������ �	����	��3�� 
��1&���* (P (A),⊆) 2 &��	�&�� �
��*��&����
���	3 (A,≤) &��	�&�� �
��*��&����� ������	
�� =�
��*	� &	� x ∈ A 
����
��	

y ∈ A� ���� x ≤ y � �� ��6��	
��	 	����� ������	� z ∈ A� &	� x < y < z. �������2
�� Q���� ������	
� (A,≤) A 	�&�� ���	
�	�	
�1	 ������	�� ������	
� A � �
�

��)��� x � y ���������� ���� y 
����
��	 x� 
��&�� x ���
������ ���� &�� y�

(�����) ������ P ({a, b, c}) � ��� ��������� Q����

{a, b, c}

{a, b} {a, c} {b, c}

FNG FOG FRG

∅�
�
��

�
�
��

�
�
��

�
�
��

�
�
��

�
�
��

�
�
��

�
�
��

(�����) ������	
� (N,≺), ��� a ≺ b⇔ a|b &��	�&�� �
��*��&����
'����	���
�# L��� 
���
��*���M @ ��4�����
��� � 	���(�	�
��� �	��)�����
(�����) ������	
� (Z,≺) �	����	��3�� 
��*��� a ≺ b ⇔ a|b �
�(��
��*��2

&���� ;	� ������	
� �� *
�*�	�* &��	�&�� �
��*��&������ D�
������ −3 ≺ 3,
3 ≺ −3, �� −3 �= 3.

,���-�!- 	���
�#� ���*��� R �� ������	
� A ������� ���� ��* �1"�0 a, b ∈ A
����	 ���	� aRb ��� bRa.

,���-�� 
	���
������� ��������� @ ������	
� � �	��)����� ����:���� 
�2
�*����

(�����) (N, <) ����:�� �
��*��&��� �	����	��3�� �"�&���� 
��*��� <�

��� (
���)�� ��� �	��&���'��

������3�� �	��)���* *
�*1	�* 
��������	
���� 
�� �
���,�� ��� ������	
�2
�� ��
��	��� ��� �	��)���*��� ��* R1, R2 ⊆ A×B ��	��	
������ 
�	*�� �
��2
���*1	�* ��
�� �	��)���* L�"H���������� 
�����&����� ��(���	3� �����	��&����*
��(���	3 �	��)����M R1 ∪ R2, R1 ∩ R2, R1 \R2, R1 ⊕ R2 ⊆ A× B�

�������� ���������� ��* R ⊆ A× B �"��	��� �	��)���� �
�����*�	�* 	��A

R−1 = {(b, a) | (a, b) ∈ R}.

��



K���	�* �6� ���� �
���,�*� ��	���1 ���3(* 
���&�	3 �( �
���,�� ����"��
������	
� ;	� �
���,�* @ ���
�(�,�* �	��)���� R1 ◦R2.

'��	���.�� ���������� ���	3 R1 ∈ A × B,R2 ⊆ B × C, !���� �	��)����
R1 ◦R2 ⊆ A× C �
�����*�	�* 
� 
��
���

R1 ◦R2 = {(a, b) | ∃b ∈ B, (a, b) ∈ R1, (b, c) ∈ R2}.

$�����
) 9��
�(�,�* �	��)���� @ ����,��	�
���
+
������� �	�
��� �	��)���� R ⊆ A× A 
� 
��
���

R1 = R, Rn = R ◦Rn−1, ���� n > 1.

(�����) ���	3 A ������	
� �1��: � �	��)���� R ∈⊆ A × A �
�����*�	�*
	��A (a, b) ∈ R, ���� a @ �	�, b� !���� aR2b �(��&��	� &	� a @ ��� a�

/��!#���� ���������� ���	3 R ⊆ A×A� +
�������

Rref = R ∪ {(a, a)|a ∈ A} ��4�����
��� (��������,

Rsym = R ∪ R−1 �����	��&����� (��������,

R∗ = ∪∞
i=1R

iL	���(�	�
��� (��������M.

(�����) C��� A = R, R = {(a, b)|a < b}� 	� Rref = {(a, b)|a ≤ b}.
(�����) C��� A = R, R = {(a, b)|a < b}� 	� Rsym = {(a, b)|a �= b}
%���	�� &	�

R∗ = {(a, b) | ∃k ∈ N, (a, c1), (c1, c2), . . . , (ck, b) ∈ R}.

$�����
) C��� |A| = n, 	� R∗ = ∪n
i=1R

i.
,��
-
���&��	�)��
��	��� &	� ��6��	
��	 
������
�	��3���	3 ������	�
 x0, x1, . . . , xm ∈

A 	���:� &	� (x0, x1), (x1, x2), . . . , (xm−1, xm) ∈ R, � x0 = a, xm = b. �������� &	� ��*
�1"�0 a, b ∈ A ����� 
������
�	��3���	� m ����� 
���"��	3 	����� &	� m ≤ n�
���� a = b � m < m� ���� a �= b.

������	��� ���&�: a = b� ��
��	��� &	� m ≥ n + 1� !���� 
� 
���,�
� ��2
��0�� ����� m ������	�
 x1, x2, . . . , xm ∈ {a1, . . . , an} ��6��	
�1	 
� ���:��: ����
� �������
�0� ���	3 ��
������ xi = xj , 0 < i < j ≤ m. !���� ����	�* 
����2
��
�	��3���	3 x0 = a, x1, x2, . . . , xi, xj+1, . . . , xm = a ∈ A ����� < m 	���:� &	�
(a, x1), . . . , (xi−1, xi), (xj, xj+1), . . . , (xm−1, a) ∈ R. ��
	��** ��������	�� �	� 
��,�2
���� ��������	�� ����� 
��	���	3 
������
�	��3���	3 ����� m ≤ n 	��"������
�
�:�	
����

8��&�: a �= b ��	�
�*�	�* 
 ��&��	
� �
�������*�
(�����) C��� A = {x, y, z} � R = {(x, y), (y, z), (z, z)}, 	�

R(2) = {(x, z), (y, z), (z, z)},

R(3) = {(x, z), (y, z), (z, z)} = R(2).

���	���
R∗ = R ∪ R(2) ∪R(3) = {(x, y), (y, z), (z, z), (x, z)}.

�#



��" *���)��

+	��)���� f ⊆ A×B ��(�
��	�* 4���,��:� ����

• Domf = A

• Imf ⊆ B

• (a, b1) ∈ f, (a, b2) ∈ f ⇒ b1 = b2.

!���� �"��(��� 4���,�� @ &��	��: ���&�: �	��)����� 5	�"� (���	3 4���,�1
����� (���	3 	�� 
�6�A 
��
��� f � �"���	3 �
��������* A � �"���	3 (��&���� B�

�� �	�� ������ (��&���1 x ∈ A ���	
�	�	
��	 ��
�� ���� (��&���� y ∈ B� +"�&��

�)�	 y = f(x)� ������ �"�(��&���* ��* 4���,��A f : A → B, A

f→ B, f : x �→
f(x).

0�1�#��������� -���,�* f : A → B ��(�
��	�* ��H��	�
��:� ���� f(a) =
f(a1) ⇒ a = a1. K����� 
���	� 	������ ?��H��	�
��:? ��
��3(�1	�* ������ ���
�A
�������4�(�� 
������� ��� �	�"������� ?
?�

23�1�#��������� -���,�* f : A → B ��(�
��	�* �1�H��	�
��:� ���� ��*
�1"��� b ∈ B ��6��	
��	 a ∈ A 	����� &	� b = f(a). K����� 
���	� 	������ ?�1�H2
��	�
��:? ��
��3(�1	�* ������ ���
�A �
����4�(�� ��������� ��� �	�"�������
?��?�

���#.��� -���,�* f : A → B "���	�
�� L
(����� ����(��&��M� ���� f ��H��2
	�
�� � �1�H��	�
���

(�����) f : R → R, x �→ x2, @ �� ��H��	�
�� � �� �1�H��	�
���
(�����) f : R → R+, x �→ x2, @ �1�H��	�
��� �� �� ��H��	�
���
(�����) f : Z → Z, x �→ 2x, @ ��H��	�
��� �� �� �1�H��	�
���
(�����) f : R → R, x �→ 2x @ "���,�*�
'��	���.�� 4���,�� f : A→ B, g : B → C �
�����*�	�* ��� 4���,�*

g ◦ f : A→ C, (g ◦ f)(a) = g(f(a)).

(�����) ���	3 f : R → R, x �→ 2x+ 1 � g : R → R, x �→ x2 + 2. !����

g ◦ f : R → R, x �→ 4x2 + 4x+ 3,

f ◦ g : R → R, x �→ 2x2 + 5.

;	�	 
����� 
���(�
��	 &	� �
���,�* ���
�(�,�� �� ������	
� 4���,�� �� *
2
�*�	�* �����	�	�
��:A f ◦ g �= g ◦ f.

$�����
) 9��
�(�,�* 4���,�� ����,��	�
��� ��* �1"�0 	��0 4���,�� A
f→

B,B
g→ C,C

h→ D 
�
������ ��
���	
�

h ◦ (g ◦ f) = (h ◦ g) ◦ f.
,��
-
���&��	��

(h ◦ (g ◦ f))(a) = h(g ◦ f)(a)) = h(g(f(a))) = (h ◦ g)(f(a)) = ((h ◦ g) ◦ f)(a).

+"�(��&���� ��* ������	
� 4���,�� �( A 
 BA F(A,B) ��� BA.

�.



�	���.��� ���	3 An = A× · · · × A︸ ︷︷ ︸
n

� -���,�* f : An → A ��(�
��	�* n2���	��:

�
���,��: �� �
��� ����0 n ���1	�* �
�,���3��� ��(
���*A �2���	��* �
���,�* @ ������� �2

���	��* �
���,�* @ "������� �������1 �
���,�1 &��	� ��(�
�1	 �����������
B�������� ������	�
 f(a, b) ������ �"�(��&��	�* 	��A a × b, a + b, a · b, a ◦ b ���
a � b � 	���

(�����)  �*��1 4���,�1 f : A → A ����� ������	��
�	3 ��� ������1
�
���,�1�

(�����) ���	3 A = F(X,X). 9��
�(�,�1 4���,�� �( X 
 X ����� ������	2
��
�	3 ��� �
���,�1 ��������* 
 ������	
� 4���,�� F(X,X).

(�����)���	3 A = Matn @ ������	
� �
����	��0 ��	��,� B�������� ��	��,
(����	 "������1 �
���,�1 �� ������	
� Matn.

+
���,�� ���
�(�,�* 4���,�� � ��������� ��	��, @ ����,��	�
��� �� ��
�����	�	�
��A

h ◦ (g ◦ f) = (h ◦ g) ◦ f,
��* �1"�0 4���,�� ��� ��	��, f, g, h ��

f ◦ g �= g ◦ f
��* ����	���0 4���,�� L��	��,M f, g.

(�����) +
���,�* 
�&�	���* Z ������,��	�
��A

(a− b)− c �= a− (b− c), ��
������ 5− (3− 2) = 4 �= 0 = (5− 3)− 2.

(�����) +
���,�� �"H�������* � 
�����&���* ������	
 ����,��	�
���
(�����) +
���,�* ��(���	� ������	
 ������,��	�
��A

A \ (B \ C) �= (A \B) \ C.
D�
����� ��* A = {a, b, c}, B = {b, c}, C = {c}, �����

A \B = {a}, B \ C = {b} ⇒ (A \B) \ C = {a} �= A \ (B \ C) = {a, c}.
(�����) ���	3 A = R[x] @ ������	
� 
�������
 � ∂ : R[x] → R[x], f(x) �→

∂f(x)
∂x

@ ��44����,���
����� D�
������ ∂(x2−3x) = 5x−3. ��* a, b ∈ A �
�������
a ◦ b 
� 
��
��� a ◦ b = a∂(b). !����

a ◦ (b ◦ c) �= (a ◦ b) ◦ c,
��* ����	���0 a, b, c ∈ A. D�
������

1 ◦ (1 ◦ x2) = 2, (1 ◦ 1) ◦ x2 = 0,

�
1 ◦ (1 ◦ x2) �= (1 ◦ 1) ◦ x2.

D� ����� ���� ����	 ���	� 	�����	
�A

a ◦ (b ◦ c)− (a ◦ b) ◦ c = b ◦ (a ◦ c)− (b ◦ a) ◦ c,
��* 
��0 a, b, c ∈ A. L������	� PM

�'



��+ #���$�

�� ���	3 A = {1, 2}, B = {a, b}. D�:	� A× B; B × A; B × B.

�� ���	3 A = {1, 2}, B = {a, b, c}, C = {5, 6}. D�:	� A× B × C.

�� ���	3 A = {0, 1}, B = {x, y, z}, C = {x, w}. D�:	� (A×B) ∩ (A×C) � B ∩C.
�� ����(�	3� &	� (A× B) ∩ (A× C) = A× (B ∩ C).

!� 8���3�� �	��)���� ��6��	
�1	 �( A = {x, y, z} � B = {0, 1}J
�����A 8�6��	
��	 6 ������	�
 A × B� 8����
�	��3�� 26 = 64 
��������	


������	
� A× B. %��&�	 ��6��	
�1	 �� ���	��)���� �( A � B�

#� 8���3�� ��(��&��0 �	��)���� ��
�
����	���	� ��6��	
�1	 �� ������	
�
�( n ������	�
� ��� a)n = 1, b)n = 2, c)n = 3, d)n = 4. J

*� 8���3�� ��(��&��0 �	��)���� ��6��	
�1	 �� ������	
� �( n ������	�
 J

�� 8���3�� ��6��	
�1	 ��H��	�
��0 �	�"������� �( ������	
� n ������	�
 

������	
� �( m ������	�
� ���� (n,m) = (4, 3), (3, 3), (3, 4) J

+� 8���3�� ��6��	
�1	 �1�H��	�
��0 �	�"������� �( ������	
� n ������	�

�� ������	
� �( m ������	�
� ���� (n,m) = (4, 3), (3, 3), (3, 4) J

� � 8���3�� ��6��	
�1	 ��4�����
��0 �	��)���� �� ������	
� �( n ������	�

J

��� 8���3�� ��6��	
�1	 	���(�	�
��0 �	��)���� �� ������	
� �( n ������	�

��* a)n = 1; b)n = 2; c)n = 3 J

��� ���	3 R, S ��4�����
��� �	��)���*� ����(�	3 ��� �
��
�����	3 �����12
6�� �	
�������*�

• R ∪ S ��4�����
���
• R ∩ S ��4�����
���
• R ⊕ S �� ��4�����
���

• R \ S �� ��4������
���
• R ◦ S ��4�����
���

��� ���	3 R @ ��4�����
��� � 	���(�	�
��� �	��)����� ����(�	3� &	� Rn = R
��* �1"��� n ∈ N.

��� ���	3 R @ ��4�����
��� �	��)����� ����(�	3� &	� Rn ��4�����
�� ��*
�1"��� n ∈ N.

�/



�!� ���	3 R @ �����	��&����� �	��)����� ����(�	3� &	� �	��)���� Rn �����	2
��&�� ��* �1"��� n ∈ N.

�#� ����(�	3� &	� R ��4�����
�� 	���� � 	��3�� 	����� ����� R−1 ��4�����
���

�*� ����(�	3� &	� �	��)���� R �����	��&�� 	���� � 	��3�� 	����� ����� R =
R−1.

��� ���	3 R �� ��4�����
���  ����� �� �	��)���� R2 �� ��4�����
��J

�+� ���	3 A @ ������	
� �	����	�
 � B @ ������	
� ���� 
 "�"���	���� ���2
���	��� �	��)���* R1 � R2 �( A 
 B� �
���������� �����16�� �"��(��A aR1b,
���� �	����	� a ���"0����� 
��&�	�	3 ����� b � aR2b, ���� �	����	 a &�	�� ���2
�� b. +
�)�	� �
��*��&����� 
��� �����16�0 �	��)����A NMR1 ∪ R2 OM R1 ∩ R2

RMR1 ⊕R2 SM R1 \R2 TM R2 \R1.

� � +
������� �� ������	
� �1��: �	��)���* R � S 
� 
��
��� aRb� ���� a @
����	��3 b � aSb� ���� a � b "��(��,�� D�:	� R ◦ S � S ◦R.

��� ���	3 R1 R2 @ �	��)���* �� ������	
� A (������� ��	��,���

MR1 =


 0 1 0

1 1 1
1 0 0


 MR2 =


 0 1 0

0 1 1
1 1 1




D�:	� ��	��,� ���	
�	�	
�16�� �	��)���*� NMR1 ∪ R2 OM R1 ∩ R2 RMR1 ⊕ R2 SM
R1 ◦R1 TM R2 ◦R1

��� ���	3 MR =

(
1 1 0
0 1 1

)
, MS =

(
0 1 0
1 0 1

)
.  �&����	3 MR∪S , MR∩S, MR̄,

MR̄∪S̄, MR∩S .

��� ���	3 MR =

(
1 1 0
0 1 1

)
, MS =


 0 1

1 0
1 1


 .  �&����	3 MR◦S .

��� D�:	� �����	��&����� (�������� �	��)���* R = {(a, b)|a > b} �� Z.

�!� D�:	� ��4�����
��� (�������� �	��)���* R = {(a, b)|a �= b} �� ������	
�
Z�

�#� ���	3 MR ��	��,� �	��)���* R �� ������	
� �( n ������	�
� !���� ��	2
��,� 	���(�	�
���� (�������* R∗

MR∗ = MR ∨M [2]
R ∨M [3]

R ∨ · · · ∨M [n]
R .

�*� ���	3 A = {1, 2, 3, 4}, B = {x, y, z} � R @ �	��)���� �( A � B (������� 
�

��
���

R = {(1, y), (1, z), (3, y), (4, x), (4, z)}.
��* �	��)���* R

��



• ��:	� ��	��,� �	��)���*
• ������
�	3 ��������� �	�����
• ��:	� �"��	��� �	��)����
• ��:	� �"���	3 �
��������* � �"��(

��� ���	3 A = {1, 2, 3, 4, 6}� +
������� �� A �	��)���� R ��� x ����	 yA (x, y) ∈
R⇔ x|y�

• �����	�
�	3 R ��� ������	
� �
��*��&����0 
��

• D�����
�	3 ���4 �	��)���* R.

• D�:	� R−1. 9�� �
���	3 R−1 ���
��� J

�+� D� ������	
� A = {1, 2, 3} ������	��� �����16�� �	��)���*

R = {(1, 1), (1, 2), (1, 3), (3, 3)}, S = {(1, 1), (1, 2), (2, 1), (2, 2), (3, 3)},

T = {(1, 1), (1, 2), (2, 2), (2, 3)}, ∅ = 
��	�� �	��)����,

A×A = ���
�����3��� �	��)����.

9���� �( �	�0 �	��)���� *
�*1	�* ��4�����
����� �����	��&������� 	���(�	�
2
���� � ��	������	��&������ J

� � D� ������	
� A = {a, b, c} (����� �	��)����

R = {(a, a), (a, b), (b, c), (c, c)}.

D�:��	� ��4�����
���� �����	��&����� � 	���(�	�
��� (�������* R�

��� +	��)���� 
���"�* �� ������	
� 	������3����
 ��	3 �	��)���� ��
�
�2
���	���	�� ����(�	3�

��� ���
��3	�� &	� �	��)���� 
�����������	� ������ ����� ��	3 �	��)����
��
�
����	���	�� D�:	� 4��	��2������	
� ��* ������	
� �	����	�
 9�!B �	��2
��	��3�� �	��� �	��)���*�

��� D� ������	
� ,���0 &���� Z 

���� �	��)���� x ≡ y(modn) ���� n|x −
y. ����(�	3� &	� �	� �	��)���� *
�*�	�* �	��)����� ��
�
����	���	� � ��:	�
���	
�	�	
�16�� ��("����� ������	
� Z� 9�� ��	����� 4��	��2������	
� Z/ ≡ J

���  
���� �� ������	
� A = {(a, b)|a, b ∈ Z, b �= 0} �	��)���� R 
� 
��
���
(a, b)R(c, d), ���� ad = bc. ����(�	3� &	� R @ �	��)���� ��
�
����	���	�� +
���	3
������ ��
�
����	���	�� B�	���
�	3 "���,�1 4��	��2������	
� A/R 
 ������	
�
��,�����3��0 &���� Q.

��



�!� +
������� �� ������	
� A = {1, 2, 3, 4, 5, 6} �	��)����

R = {(1, 1), (1, 5), (2, 2), (2, 3), (2, 6), (3, 2), (3, 3), (3, 6),

(4, 4), (5, 1), (5, 5), (6, 2), (6, 3), (6, 6)}.
����(�	3� &	� *
�*�	�* �	��)����� ��
�
����	���	�� D�:	� ��("����� A/R.

�#� ��* �	��)���: P = {(x, y) ∈ R2|x = y2} � Q = {(x, y) ∈ R2|x · y > 0} ��:	�
P ◦Q,Q ◦ P, P ◦ P � P−1.

�*� ����(�	3 �����16�� 	�����	
�

R1 ◦ (R2 ◦R3) = (R1 ◦R2) ◦R3,

R1 ◦ (R2 ∪R3) = (R1 ◦R2) ∪ (R1 ◦R3),

R1 ◦ (R2 ∩R3) = (R1 ◦R2) ∩ (R1 ◦R3),

(R1 ∪R2) ◦R3 = (R1 ◦R3) ∪ (R2 ◦R3),

(R1 ∩R2) ◦R3 = (R1 ◦R3) ∩ (R2 ◦R3),

��� R1, R2, R3 ⊆ A×A.

��� ���	3 A = R[x] @ 
���	����	
� �����&����
� +
������� ��������� �� A

� 
��
���

f(x) ◦ g(x) = f(x)
∂g(x)

∂x
.

D�
������ x ◦ x4 = 4x4 ����(�	3� &	� 
�
������ 	�����	
�

(a ◦ b) ◦ c− a ◦ (b ◦ c) = (b ◦ a) ◦ c− b ◦ (c ◦ a),

(a ◦ b) ◦ c = (a ◦ c) ◦ b,
��* �1"�0 a, b, c ∈ A,

�+� ���	3 A = R[x] @ 
���	����	
� �����&����
� +
������� ��������� �� A

� 
��
���

f(x) ◦ g(x) = f(x)

∫ x

0

g(x) dx.

D�
������ x ◦ x4 = x6/5. ����(�	3� &	� 
�
������ 	�����	
�

(a ◦ b) ◦ c = a ◦ (b ◦ c+ c ◦ b),

��* �1"�0 a, b, c ∈ A,

��



	���� �

������������� � ������ �����

��� ����)�
� �$�	�

K���	�* �
� ����
��0 
��
��� ��* �&�	��
������� �
��!� ��
��	��� &	� ���"0����� 
�
����	3 (�����* T1 � T2� ����2


������� &	� ��6��	
��	 n1 � n2 
�(������	�: ��* 
�
������* (������ T1 � T2,

��&�� (�����* T1 � T2 ����
������� ��
�
������� !���� ��6��	
��	 n1 +n2 
�(2
������	�: ��* 
�
������* ������ �( (������ T1 � T2.

����4����� 	������ �
��!� ��
��	��� &	� ��* 
�(�����
���* (������
T1, T2, . . . , Tk−1 � Tk ��6��	
�1	 n1, n2, . . . , nk−1 � nk 
�(������	�: ���	
�	�	
�����

��&�� ������� �
� ��(��0 (�����* ����
������� ��
�
������� !���� ��6��	
��	
n1 + · · ·+ nk 
�(������	�: ��* 
�
������* ������ �( �	�0 (�������

 	������0 	����� ������	
 �"�"6����� 
��
��� ����� 
���*��	 	��� ���	3
(����� k ������	
 A1, A2, . . . , Ak 	����� &	� Ai ∩ Aj = ∅ ��* �1"�0 i �= j. !����

|A1 ∪ · · · ∪ Ak| = |A1|+ · · ·+ |Ak|.

����(�	��3�	
�� ���	3 (������ Ti ���	��	 
 
�"��� ������	�
 �( ������	
� Ai�
��� i = 1, . . . , k. !���� ��6��	
��	 ni 
�(������	�: ��* 
�
������* (�����* Ti.
!���� 
� 
��
��� ����� ��6��	
��	 n1 + · · · + nk 
�(������	�: ��* 
�
������*
������ �( �	�0 (������� K���� ���
����

|A1 ∪ · · · ∪ Ak| = |A1|+ · · ·+ |Ak|.

(�����) 8	����	 ������ 
�"��	3 ���� 	��� ��* �����
�: ��"�	�� 8�6��	
��	
� 	��� 
� 4�(��� � $ 	�� 
� 0����� 8���3�� 
�(������	�: ��6��	
��	 ��* 
�"���
	�� J

+	
�	A �U$E. 
�(������	�:�
������� 	������
����� ��
��	��� &	� (������ T ����� ��(����	3 �� �
� 
��2

(�����* T1, T2 	��� &	� �	� (�����* ����� 
�
����	3 
������
�	��3��� ���&���
(������ T1 � (�	�� (������ T2. %������ T1 
�
������ n1 �
���"��� � (������ T2


�
������ n2 �
���"���� !���� (������ T 
�
������ n1n2 �
���"����
����4����� 	������ 	������
����� ��
��	��� &	� (������ T ����� ��(����	3

�� k 
��(�����* T1, T2, . . . , Tk 	��� &	� �	� (�����* ����� 
�
����	3 
������
�2
	��3��� ���&��� (������ T1� (�	�� (������ T2 � 	��� %������ T1 
�
������ n1 �
�2

��



���� ���A 9�� "� �� ������ 	��0 (�:,�
 
 �
� ���	�� 
����� ��:��	�* ���	��� 

��	���: �������	�* 
� ���:��: ���� �
� (�:,��

��"���� (������ T2 
�
������ n2 �
���"���� � 	�� ����� (������ Tk 
�
������ nk

�
���"���� !���� (������ T 
�
������ n1n2 · · ·nk �
���"����
+"�"6����� 
��
��� 
���(
�����* 
 	������0 	����� ������	
A

|A1 × A2 × · · · ×Ak| = |A1||A2| · · · |Ak|

(�����) �� 
���� ��������� "�
�1	 
����3��� � )���������� �� ��(�����
��� "�
�1	 "��3)��� ������� � �����3���� 8���3�� 	�
�
 ��������0 ��6��	
�1	
J

+	
�	A 2× 3 = 6 	�
�
�
(�����) ���	3 F(A,B) = {f : A → B} ������	
� 4���,�� �( ������	
�


��*��� n 
 ������	
� 
��*��� m� D�:	� 
��*��� ������	
� F(A,B).
+	
�	A mn.

��� ����)�
 ����,��

����.�	 ����5��� %����� n 
�����	�
 � m *6���
� !��"��	�* ��(���	�	3

�����	� 
� *6����� C��� n > m� 	� 
����� ��:��	�* *6��� 
 ��	���� ��0��*	�*

� ���:��: ���� �
� 
�����	��

����,�
 ����0�� ���&� 
���� 4��������
�	3 
 	������0 (�:,�
 � ���	���
+���
��� 	��"�
����A (�:,�
 ������ "�	3 "��3)� &�� ���	��� !���� ��� "� 
�
�� 
�	����3 ���&)�	3 ����6��� ����
�* (�:,�
� 
�� �	� �� ����	�*�  ����� ��:2
��	�* 
� ���:��: ���� �
� (�:,�� ��	���� "���	 ����
��3�� 	��� &	� ��
�	 

����: ���	�� L�����M�

5	�"� 
������	3 
���,�
 ����0�� ���"0����� �
������	3�* &	� 
�����	3 
��
(�:,��� � &	� 
�� ���	����� D�
������ 
 �����16�: (���&� 
�� (�:,��� ������	

�����	3 )���3����
� � 
�� ���	���� 2��� �����

(�����) 8���� �1"�0 n+1 ,���0 &���� �� 
��
��0��*6�0 2n ��:��	�* &�����
��	���� ����	�* �� �������

�$



��)����� �����	�
�� &���� a1, . . . , an+1 < 2n 
 
��� ai = 2kiqi, 1 ≤ i ≤ n +
1, ��� qi @ ��&�	��� ������	��� 
������
�	��3���	3 ��&�	��0 &���� q1, . . . , qn+1.
������3�� 
�� ��� �� 
��
��0��*	 2n � ����&��	
� 	���0 ��&�	��0 &���� �� "��3)�
&�� n, ����� ��0 
� 
���,�
� ����0�� ���1	�* 
� ���:��: ���� �
� ��
��0�
���	3� qi = qj = q. !���� ai = 2kiq, aj = 2kjq. C��� ki < kj , 	� aj ����	�* �� ai. C���
ki > kj, 	� ai ����	�* �� aj .

(�����) LV� WXSYZ[� \� ]^T_TXT[M ��* ������� n ∈ Z+ �1"�* 
������
�	��32
���	3 ��(��&��0 ��:�	
�	��3��0 &���� ����� n2 + 1 �������	 �"�
�16�1 ���

�(���	�16�1 
��
������
�	��3���	3 ����� n+ 1� ����(�	3�

����(�	��3�	
�� ���	3 a1, . . . , ak2+1 
������
�	��3���	3 n2 + 1 ��(��&��0 ��:2
�	
�	��3��0 &����� ���	3 ik @ ��������3��* ����� 
�(���	�16�: 
��
������
�2
	��3���	�� ��&���16�:�* � ak � dk @ ��������3��* ����� �"�
�16�: 
��
������2

�	��3���	�� ��&���16�:�* � ak.

��
��	��� &	� ik ≤ n, dk ≤ n, ��* �1"�0 1 ≤ k ≤ n2 + 1. !���� 
� 
��
��� 
��2
�(
�����* ��6��	
�1	 n2 
�(������	�: ��* (ik, dk). %��&�	 
� 
���,�
� ����0��
(is, ds) = (it, dt), ��* ����	���0 s < t. �������� &	� �	� ��
�(������

C��� as < at, 	� 
���	�
�
 
 ��&��� 
�(���	�16�: 
��
������
�	��3���	� ��&�2
��16�:�* � at &���� as �� 
���&��� 
�(���	�16�1 
��
������
�	��3���	3 �����
it + 1 ��&���16�:�* � as. ������3�� is = it, 
���&��� 
��	�
���&�� � ��������32
���	31 ����� 
�(���	�16�: 
��
������
�	��3���	� ��&���16�:�* � as.

C��� as > at, 	� 
���	�
�
 
 ��&��� �"�
�16�: 
��
������
�	��3���	� ��&���2
16�:�* � at &���� as� �� 
���&��� �"�
�16�: 
��
������
�	��3���	3 ����� is+1
��&���16�:�* � as. ������3�� is = it, 
���&��� 
��	�
���&�� � ��������3���	31
����� �"�
�16�: 
��
������
�	��3���	� ��&���16�:�* � as.

(�����) ��
��	��� &	� 
 ���

� �( )��	� &���
�� �1"�� �
� *
�*1	�* ��"�
���(3*��� ��"� 
������� ����(�	3� &	� 
 ���

� ���1	�* � &���
��� �1"�� �
� �(
��	���0 *
�*1	�* ���(3*��� ��"� 
�������

����(�	��3�	
�� ���	3 A ���� �( )��	�� �� 
���,�
� ����0�� ��6��	
��	 
�
���:��: ���� 3 > 5/2 &���
�� ���(�: A ��� 
����
 A. ��
��	��� &	� B,C,D @
���(3* A. C��� 
� ���:��: ���� �
� &���
��� ����� B,C,D *
�*1	�* ���(3*���
	� ��� � A �"��(��	 ���

� �( 	��0 ���(�:� C��� 
�� B,C,D �"��(��	 ������	
�

(�����0 
����
� 	� 
���&��� ������	
� �( 	��0 &���
�� 
����
�

(�����) ������	�� &	� ����� �1"�0 11 ��:�	
�	��3��0 
�����	��3��0 &�2
���� �� 
��
��0��*6�0 100 ��:��	�* 
� ���:��: ���� �
� L�"�(��&�� �0 x, yM 	�����
&	� 0 < |√x−√

y| < 1.
��)����� ���	3 a1, . . . , a11 @ 
���(
��3��* 
������
�	��3���	3 ��:�	
�	��3��0

&���� ����� 0 � 100. ������	��� 
������
�	��3���	3 �� &����
√
a1, . . . ,

√
a11. +��

����	 �� �	��(�� 1 � 10. ���	��� 
� 
���,�
� ����0�� ��:��	�* �
�� �"�(��&�� �0
&���(

√
x,
√
y, ��	���� ����	 �� ����� �	��(�� ����� �� !���� 0 < |√x−√

y| < 1.

����� �����	

��  )���� �&�	�* ��# )���3����
� ������	�� &	� ��:��	�* �
� )���3����� �
��	���0 �������
� ��� �������*�

��



�#������� 8���3�� ���: 
 ����J

�� D� ��4���� 
��)�: ��	���	��� ��"�	�1	 �� 
��
���
�	���:� ������	�� &	�
��:��	�* �
� 
��
���
�	��*� ��	���� �������3 
 ���� � 	�	 �� ���*,�

�#������� %�:,� @ 
��
���
�	���� 9��	�� @ �� ���*,�
�

�� >1"�� ������	
� ���	�*6�� �( �� ��(�0���0 ���
 �������	 
� ���:��: ����
�
� ���
� ��&���16�� �( �������
�0 "��
� ����(�	3�

�#������� 9�(�0���: ��4�
�	 �������	 �� "��
� 8��
� �� ����	 ��&���	3�* �
"��
 ?H? � ?3?�

�� ���	3 S ⊂ Z+, ��� |S| = 25. !���� S �������	 
� ���:��: ���� �
� ������	�
��	���� ���1	 �������
�: ��	�	�� �	 ������* �� ���

!�  �*��� 
��������	
� 
��*��� 6 ������	
� S = {1, 2, . . . , 9} ����	 �
� ���2
���	� � �����: 10.

#� 8���� 
*	� 	�&�� 
�"�����0 
��	�� ��
���	�������� 	������3���� �� �	�2
����: 1 ����	�* �
�� ����	�*��� ����� ��	����� ���3)� &�� 1/2� ����(�	3�

*� D�:	� 
������
�	��3���	3 &�	���0 ��(��&��0 ��:�	
�	��3��0 &����� ��	�2
��� �� �������	 �"�
�16�1 ��� 
�(���	�16�1 
��
������
�	��3���	3 ����� ��

�� D�:	� 
������
�	��3���	3 ��
*	� ��(��&��0 ��:�	
�	��3��0 &����� ��	����
�� �������	 �"�
�16�1 ��� 
�(���	�16�1 
��
������
�	��3���	3 ����� ��

+� ����(�	3� &	� 
 (���&� V� WXSYZ[� \�]^T_TXT[ (�����	3 n2 + 1 �� n2 ���3(*�
���	��:	� 
������
�	��3���	3 ��(��&��0 ��:�	
�	��3��0 &���� ����� n2 �� ��2
�����6�: �"�
�16�: � 
�(���	�16�: 
��
������
�	��3���	� ����� n+ 1.

��� *������ 
��-$���' . ����-$���'

$�����
) | ∪n
i=1 Ai| =

∑n
s=1(−1)s+1

∑
1≤i1<···<is≤n |Ai1 ∪ · · · ∪Ais |.

����(�	��3�	
� "���� 
��
���	3 �����,��: 
� n. ��� n = 1 �	
�������� �&�2

�����

������� �	
�������� ��* n = 2. K����

A1 ∪ A2 = (A1 \ A2) ∪A2.

%���	��� &	�
|A1 \ A2| = |A1| − |A1 ∩A2|,

(A1 \ A2) ∩A2 = ∅.
���	���

|A1 ∪ A2| = |A1|+ |A2| − |A1 ∩ A2|.
��
��	��� &	� �	
�������� 
���� ��* n ≥ 2. ���	3

A = ∪n
i=1Ai.

�#



8������� 	�����	
� ���	��"�	�
���	�

A ∩An+1 = (A1 ∩An+1) ∪ (A2 ∩An+1) ∪ · · · ∪ (An ∪ An+1).

%���	��� &	�

(Ai1 ∩ An+1) ∩ · · · ∩ (Ais ∩ An+1) = Ai1 ∩ · · · ∩ Ais ∩ An+1.

���	���� 
� 
���
�������1 �����,��

|A ∩ An+1| =
n∑

s=1

(−1)s+1
∑

0<i1<···<is≤n

|Ai1 ∩ · · · ∩ Ais ∩An+1|.

9�� "��� (���&��� 
�)� ��)� �	
�������� 
���� ��* n = 2. ���	��� 
� 
���2

�������1 �����,��

|A ∪An+1| = |A|+ |An+1| − |A ∩An+1| =

∑
s=1

(−1)s+1
∑

0<i1<···<is≤n

|Ai1 ∩ · · · ∩ Ais|+ |An+1| −
n∑

s=1

(−1)s+1|Ai1 ∩ · · · ∩ Ais ∩ An+1| =

n+1∑
s=1

(−1)s+1
∑

0<i1<···<is≤n+1

|Ai1 ∩ · · ·Ais |.

K����,�����: 
���0�� ��	���
���� !������ ����(��� 
�����	31�
(�����) `�0	��� ��(��"��� �// "����	�
 ����� �������6�� ����(�� �
���,

� ���
�� +��(����3� &	� "����	� �������6�� ����(� �"*(�	��3�� �������	 � �
�2
��,� �/ "����	�
 �������	 ���
� � $/ "����	�
 �������	 ����(� � ���
�� 8���3��
"����	�
 �������	 ����(� J

��)����� ���	3 A1, A2 � A3 ������	
� "����	 �������6��� ���	
�	�	
�����
����(�� �
���, � ���
�� �� ����
�1 (���&� A1 ⊆ A2, 
��	���

A1 ∪ A2 = A2, A1 ∪ A2 ∪A3 = A2 ∪A3.

9���� 	����
|A3| = 60, |A1 ∪A3| = 50,

�
|A1 ∪ A2 ∪ A3| =

|A1|+ |A2|+ |A3| − |A1 ∪ A2| − |A1 ∪ A3| − |A2 ∪ A3|+ |A1 ∪A2 ∪A3| =
|A1|+ |A3| − |A1 ∪A3|.

���	���
|A1| = 100− 60 + 50 = 90.

(�����) -���,�* ;:����� ���	3 n ∈ N. D�:	� 
��*��� ������	
� &����
����� � � n� 
(����� 
���	�0 � n. ;	� &���� �"�(��&��	�* φ(n). -���,�* φ : N →
N ��(�
��	�* 4���,��: ;:�����

�.



�������� &	�

φ(n) = n
k∏

i=1

(1− 1

pi

),

��� n = pα1
1 · · ·pαk

k @ ������&����� ��(������� 
 
���(
������ 
���	�0 �������	�2
��: &���� n�

���	3
Ai = {pim | m ∈ N, 0 < pim < n}.

!����
|Ai| = n/pi.

����� 	���� ��* �1"�0 0 < i1 < . . . < is ≤ k ������	
� Ai1 ∩ · · · ∩ Ais ���	��	 �(
&����� ��	���� �� ���*	�* �� pi1 · · ·pis , �

|Ai1 ∩ · · · ∩ Ais| = n/pi1 · · ·pis .

���	��� 
� 4������ 
��1&���*2����1&���*

|A1 ∪ · · · ∪Ak| =∑
s≥1

(−1)s+1n/pi1 · · ·pis =

n(1−
k∏

s=1

(1− 1/ps)).

%���3 ��
��3(��	�* �����16�* ������ ��	���1 ����� ����(�	3 �����,��: 
� k.
.���
) ��* �1"�0 k &���� x1, . . . , xk, �
��
����
� ��
���	
�

1 +

k∑
s=1

(−1)s
∑

1≤i1<···<is≤k

xi1 · · ·xis =

k∏
s=1

(1− xs).

������3�� ������	
� A1 ∪ · · · ∪ Ak ���	��	 �( &����� ��	���� ���1	 0�	* "�
���� ����	��3 
��� pi ��* ����	����� 1 ≤ i ≤ k� ������	
�

{m | 0 < m < n,D+�(m,n) = 1}
��

����	 � ��
�������� A1 ∪ · · · ∪Ak, ��� 
 ��&��	
� ���
�����3���� ������	
�

(*	� ������	
� {1, 2, . . . , n}. !���� �"��(���

φ(n) = n

k∏
s=1

(1− 1/ps).

(�����) ���
��*���� �����	���
�� f ∈ Symn ��(�
��	�* "��
��*����� ����
f(i) �= i, ��* �1"��� i ∈ {1, 2, . . . , n}. D�:	� ����&��	
� "��
��*���
�

�������� &	� ����&��	
� "��
��*���
 ��
��

D(n) = n!(1− 1

1!
+

1

2!
− 1

3!
+ · · ·+ (−1)n 1

n!
).

�'



���	3
Ai = {f ∈ Symn | f(i) = i}, i = 1, 2, . . . , n.

!���� ��* �1"��� 0 < i1 < · · · < is ≤ n,

|Ai1 ∩ · · · ∩Ais | = (n− s)!

 ������	
� �( n ������	�
 
��������	
� 
��*��� s 
�"����	�*
(

n
s

)
�
���"����

������� ���
���� ����&��	
� 
�"���� (i1, . . . , is)� 	���0� &	� 0 < i1 < · · · < is ≤ n
��
��

(
n
s

)
. !���� �"��(��� 4������ 
��1&���*2����1&���* 
���"��	��	 
��

|A1 ∪ · · · ∪An| =

n∑
s=1

(−1)s+1
∑

0<i1<···<is≤n

|Ai1 ∩ · · · ∩ Ais| =

n∑
s=1

(−1)s+1

(
n

s

)
(n− s)! =

n∑
s=1

(−1)s+1n!

s!
.

���	���
Dn = |A1 ∪ · · · ∪ An| =

|Symn| − |A1 ∪ · · · ∪An| =

n!(
∑
s≥0

(−1)s 1

s!
).

(�����) 9���&��	
� �1�H��	�
��0 4���,��� ���	3 F on(A,B) = {f : A→ B}
@ ������	
� �1�H��	�
��0 4���,�� �( ������	
� �( n ������	�
 
 ������	
� �(
m ������	�
� !����

|F on(A,B)| =
m∑

s=0

(−1)s

(
m

s

)
(m− s)n.

D�
������ 
�� n = 3, m = 2 ��6��	
�1	 6 = 8− 2 �1�H��	�
��0 4���,���
����(�	��3�	
� �	��� 4��	� "���	 
��
����� 
 �����16�� 
���	��

����� �����	

��  ������ 
� 
����	�
�� � ����
����� )���3���� �(�&�1	 ��	���	��� �
��4�����	���� K( ��0 �$ )���3����
 �(�&�1	 ��4����	���� �� �&�	 ��	���	���
� . �(�&�1	 ��	���	��� � ��4����	���� 8���3�� )���3����
 
���6�1	 ������J

��  �������� �&�	�* �./# �	����	�
� K( ��0 �$� �(�&�1	 �����:���:� $�#
�(�&�1	 ����,��:� � �'' �(�&�1	 �����:���: � ����,��:� 8���3�� �	����	�
 ��
�(�&�1	 �� �����:������ �� ����,���� J

�� 8���3�� ������	�
 �������	 ������	
� A1 ∪ A2, ���� A1 �������	 �� ���2
���	�
� A2 ����	 �. ������	�
 �

�/



• A1 ∩ A2 = ∅
• |A1 ∩A2| = 1

• |A1 ∩A2| = 6

• A1 ⊆ A2

�� D�:	� ����&��	
� ,���&�������0 ���	��,�	��3��0 ��)���� ���
����* x1 +
x2 + x3 + x4 = 8 � ����
�*�� xi ≤ 7, ��* 
��0 i = 1, 2, 3, 4.

!� 8���3�� ���	��,�	��3��0 ,���&�������0 ��)���� ����	 ���
����� x1 +x2 +
x3 = 11 �	����	��3�� ���(
��	��0 x1, x2, x3 	���0� &	� x1 ≤ 3, x2 ≤ 4 � x3 ≤ 6. J

#� 8���3�� ��6��	
�1	 4���,�� ?��? �( ������	
� 
��*��� )��	3 �� �����2
�	
� 
��*��� 	��J

*� 8���3�� &���� ��	���	�* 
 ������	
� {1, 2, . . . , 1000} 
���� 
�&����
���*
&���� ���	��0 2, 3, 5, 7J

�� 8���3�� &���� 
 ������	
� {1, 2, . . . , 100} �� ���*	�* 
 �
����	 ������ ��"�
,����� &���� "��3)�: &�� � J

+� ���
��*���� ������	
� {1, 2, . . . , n} ��(�
��	�* 
����	���
�� σ ∈ Symn 	�2
��*� &	� σ(i) �= i, ��* 
��0 i = 1, 2, . . . , n. ����&����	3 
�� "��
��*��� ������	
�
{1, 2, 3, 4}.

� � 8���3���� �
���"��� ����� 
����	�
�	3 ,�4�� {0, 1, 2, . . . , 9} 	��� &	�"�
�� ���� &�	��� &���� �� �	�*�� �� �
��� ���	� J

��� 8���3�� 
����	���
�� �( �� "��
 ��(�0����� ��4�
�	� �� �������	 
����2
��
�	��3���	� #6��$ ���!$ 78�� J

��� LD���
���	
� ���4������M ����(�	3 ����
���	
�A

q∑
k=1

(−1)k−1
∑

I∈({1,2,...,n}
k )

|
⋂
i∈I

Ai| ≤ |
n⋃

i=1

Ai|,

���� q &�	���
q∑

k=1

(−1)k−1
∑

I∈({1,2,...,n}
k )

|
⋂
i∈I

Ai| ≥ |
n⋃

i=1

Ai|,

���� q ��&�	���

��



��� ��������/��� ���00�)���	�

)�#������ n! = 1·2·3 · · ·n� ����	�
��* 4���,�* f : n→ n� ��� n = {1, 2, . . . , n}�
��(�
��	�* 
����	���
��:� ���	3 Symn ������	
� 
����	���
��� !����

|Symn| = n!.

����������!- #�(""�.����(
n

i

)
=
n(n− 1) · · · (n− i+ 1)

i!
, n ∈ Z, i ∈ Z+.

������ �"�(��&���*A Ci
n� C(n, i)� �� �
��������1

(
n
i

)
= 0, ���� i > n. +"��	��


������� �� 	�� &	� "�������3��: ���44�,���	 ����� �
������	3 � ��* �	��,�2
	��3��0 n. C��� n ∈ Z+� 	� (

n

i

)
=

n!

i!(n− i)!
,(−n

i

)
= (−1)i

(
n + i− 1

i

)
.

(�����) ���� ������	
� 
��*��� n� D�:	� ����&��	
� 
��������	
 
��*���
k�

��)����� ���	3 A = {a1, . . . , an} @ ������	
� 
��*��� n � Pk(A) = {B ⊆ A||B| =
k} @ ������	
� 
��������	
 
��*��� k. ���	3 Ck

n = |Pk(A)|. ���	3 B ⊆ A @ 
��2
������	
� 
��*��� k�  �(����� �
� 
(����� ����1&�16�0 ���&�*�

���
�: ���&�:A an ∈ B� !���� B\{an} ⊆ A\{an} � |B\{an}| = k−1� 9���&��	
�
	���0 
��������	
 @ Ck−1

n−1.
 	���: ���&�:A an �∈ B� !���� B ⊆ A \ {an} � |A \ {an}| = n − 1. 9���&��	
�

	���0 
��������	
 @ Ck
n−1.

!���� �"��(���
Ck

n = Ck−1
n−1 + Ck

n−1.

+&�
����� &	�
C0

1 = 1, C1
1 = 1.

9�� "���	 ��	���
���� 
��(� �( �	�0 ����
�� ������	� &	�

Ck
n =

n!

k!(n− k)!
.

+	
�	A
(

n
k

)
.

2�������� @ ��(��6���� i ����(��&���0 
�����	�
 
� n *6����� �� "���� &��

� ������ 
 *6��� 9���&��	
� ��&�	����

(
n
i

)
.

2�������� � 	����������� @ ��(��6���� i ����(��&���0 
�����	�
 
� n *6�2
���� 5���� ��&�	���� � 
�
	�����*�� @

(
n+i−1

i

)
.

(�����) I6�� �������	 )��� k ,
�	�
� `���
 ������� ,
�	� �� ���3)� &��
n� 8���3���� �
���"��� ����� 
�"��	3 n )���
 J

��



��)����� ��
��	��� &	� 
�"���� �( n )���
 �������	 i1 )���
 ,
�	� 1� i2
)���
 ,
�	� 2� � 	��� ���
������ �0 
� 
��*��� 
� ,
�	�� � ����� ���� 
��	�
��

�����������


 
 · · · 
 
 · · · 
 · · · 
 · · · 
 

i1 ����� ����� 	 i2 ����� ����� 
 · · · ik ����� ����� �

���	3 A @ ������	
� )���
 L�0 n )	��M 
�"���� � 
���������� L�0 k − 1 )	��M�
!���� |A| = n + k − 1 � ��)� (���&� ��
�����3�� 
�"��� 
��������	
� 
��*���
k − 1 L
����������M ������	
� 
��*��� n + k − 1 L)��� � 
����������M�

+	
�	A
(

n+k−1
k−1

)
.

(�����) 8���3�� ���	��,�	��3��0 ,���&�������0 ��)���� ����	 ���
�����
x1 + · · ·+ xk = n

;	� 
�
��� ��
�
����	�� 
������6��� 
�
����� �����	�
3	�� &	� xi @ ����&�2
�	
� )���
 i2��� ,
�	�� ��� i = 1, 2 . . . , k.

+	
�	A
(

n+k−1
k−1

)
.

 ��
������# ���#���

1
1 1

1 2 1
1 3 3 1

1 4 6 4 1
1 5 10 10 5 1

;�����	� �����: �����16�: �	���� �
�����*1	�* ��� ����� �
�0 &���� �	�*6�0

� "���� �
��0��

+"�(��&�� &���( Ci
n i2�: ������	 n2�: �	����� ������� Ci

n = 0 ���� i < 0 ���
i > n. !���� �
�:�	
�� 
������16�� 	������3��� ������* (����	�* 	��

Ci
n = Ci

n−1 + Ci−1
n−1.

��
�� �����	

�� ����(�	3� &	�

Ci
n =

(
n

i

)
.

��
(

n
i

)
+
(

n
i−1

)
=
(

n+1
i

)
.

�� L����� D31	���M (x+ y)n =
∑n

i=1

(
n
i

)
xiyn−i.

��
∑n

i=0

(
n
i

)
= 2n.

��



!�
∑n

i=0(−1)i
(

n
i

)
= 0.

#� ����(�	3� &	�
(

n
i

)
����	�* �� p� ���� n = p, 0 < i < p, � p@ 
���	���

*� D�:	� ����&��	
� 
��������	
 
��*��� 2 ������	
� 
��*��� 6�
+	
�	� 15�

��  *6��� �������	�* )��� 	��0 ,
�	�
� 8���3���� �
���"��� ����� 
�"��	3
4 )��� J L`���
 ������� ,
�	� �� ���3)� 4M

+	
�	A �$�

+� 8���3�� ���	��,�	��3��0 ,���&�������0 ��)���� ����	 ���
����� x1 +x2 +
x3 = 4J

� � ���	3 u(k) = ∂ku
∂x

@ k2�* 
���(
����* 4���,�� u = u(x). ����(�	3� &	�

(u+ v)(n) =
n∑

i=0

(
n

i

)
u(i)v(n−i).

��" *���)�� �� ����$��, ������	
�,

+"�(��&���*A

• F(A,B) = {f : A→ B} @ ������	
� 
��0 4���,�� �( A 
 B�

• F in(A,B) @ ������	
� ��H��	�
��0 4���,�� �( A 
 B�

• F on(A,B) @ ������	
� �1�H��	�
��0 4���,�� �( A 
 B�

���	3
An

m = m · (m− 1) · · · (m− n + 1)

@ &���� 
����	���
�� n ������	�
 �( m ��(��&��0 ������	�
 "�( 
�
	�����:� ��
�
��������1�

An
m = 0, ���� m < n.

$�����
� ���	3 A�B @ ������	
� 
��*��� n � m ���	
�	�	
����� !����

|F(A,B)| = mn,

|F in(A,B)| = An
m,

|F on(A,B)| =
m∑

s=0

(−1)s

(
m

s

)
(m− s)n.

����(�	��3�	
�� ���	3 A = {a1, . . . , an} � B = {b1, . . . , bm}.
 �*��* 4���,�* f ∈ F(A,B) ����(��&�� �
�����*�	�* �
���� (��&���*��

f(ai) ∈ B, ��� i = 1, . . . , n. ;�����	 f(ai) ����	 
������	3 ���� �( m (��&�2
��� b1, . . . , bm. !���� �"��(��� 
� 
��
��� 
���(
�����* ��* (f(a1), . . . , f(an)) ∈
B × · · · ×B︸ ︷︷ ︸

n

����	�* mn 
�(������	�:� K���� ���
����

|F(A,B)| = mn.

��



���	3 f ∈ F in(A,B). !���� ������	
� ������	�
 Imf = {f(a1), . . . , f(an)} �
��2
���*1	 n ������	��� 
��������	
� ������	
� B� !���� �"��(��� 
�"�� �����2
�	
� Imf ��
�����3�� 
�"��� n ������	���� 
��������	
� ������	
� B� 9�� ��
(���� �	� ����� �����	3

(
m
n

)
�
���"���� ���	3 A′ = {b′1, . . . , b′n} �1"�� n ������	2

��� 
��������	
� ������	
� B� 8�6��	
�1	 n! 4���,�� � ������	
�� ������	�

�"��(�
 A′. K������ 4���,�� fσ, ��� σ ∈ Symn, (�������� 
� 
��
����

fσ(ai) = b′σ(i),

�"����1	 	���� �
�:�	
��� K	��� 
� 
��
��� 
���(
�����*�

|F in(A,B)| =

(
m

n

)
n! = m(m− 1) · · · (m− n + 1).

���	3 f ∈ F on(A,B). ���	3 Fi = {f ∈ F(A,B) | f(a) �= bi, ∀a ∈ A} @ 
�����2
���	
� 4���,��� �� 
������16�� (��&���* bi. !���� f ����� ������	��
�	3 ���
4���,�1 �( A �� (��&���*�� 
 m− 1 ������	��� ������	
� B \ {bi} :

f ∈ Fi ⇒ f ∈ F(A,B \ bi), |B \ {bi}| = m− 1.

!���� �"��(���
|Fi| = (m− 1)n, i = 1, . . . , n.

�� �������&���� 
��&������ �1"�1 4���,�1 f ∈ Fi1 ∩ · · · ∩ Fis ����� ������	2
��
�	3 ��� 4���,�1 f ∈ F(A,B \ {bi1 , . . . , bis} �

|Fi1 ∩ · · · ∩ Fis| = (m− s)n.

�� (����� &	� �	���� (i1, . . . , is) 	����� &	� 1 ≤ i1 < · · · < is ≤ m ����� 
�"��	3(
m
s

)
�
���"���� K	��� 
� 
��
��� 
��1&���*2����1&���*

|F1 ∪ · · · ∪ Fm| =
m∑

s=1

(−1)s+1
∑

1≤i1<···<is≤m

|Fi1 ∩ · · · ∩ Fis | =
m∑

s=1

(−1)s+1

(
m

s

)
(m− s)n.

+&�
����� &	� ������	
� �1�H��	�
��0 4���,�� ��

����	 � ��
��������
F1 ∪ · · · ∪ Fm, ��� 
 ��&��	
� ���
�����3���� ������	
� 
��	�
��	 ������	
� 
��0
4���,�� F(A,B). !���� �"��(���

|F on(A,B)| = |F1 ∪ · · · ∪ Fm| = |F(A,B)| − |F1 ∪ · · · ∪ Fm| =

mn −
m∑

s=1

(−1)s+1

(
m

s

)
(m− s)n =

(
m

0

)
(m− 0)n +

m∑
s=1

(−1)s

(
m

s

)
(m− s)n =

m∑
s=0

(−1)s

(
m

s

)
(m− s)n.

/��%��	��)
m∑

s=0

(−1)s

(
m

s

)
(m− s)m = 0, ���� m < n.

����(�	��3�	
�� �� 
���,�
� ����0��� �1�H��	�
��0 4���,�� ��	� ���� n >
m.

$�����
� ���	3 |A| = |B| = n � f ∈ F(A,B). 8����16�� ����
�* ��
�
����	2
��A

�$



• f @ ��H��	�
��

• f @ �1�H��	�
��

• f @ "���	�
���

����(�	��3�	
�� ���	3 f ∈ F in(A,B), �� f �∈ F on(A,B). K���� ���
���� ��2
��&��	
� ������	�
 
��������	
� �"��(�
 ImA ⊂ B ���3)� &�� n. !���� 
�

���,�
� ����0�� ��6��	
�1	 
� ���:��: ���� �
� ������	� a, a′ ∈ A 	����� &	�
f(a) = f(a′). ;	� 
��	�
���&�	 	���� &	� f ��H��	�
���

+"��	��� 
��	3 f ∈ F on(A,B), �� f �∈ F in(A,B). !���� ��:��	�* 
� ���:��:
���� �
� ������	� a, a′ ∈ A 	����� &	� f(a) = f(a′). !���� �"��(��� |ImA| < n. ;	�

��	�
���&�	 	���� &	� f �1�H��	�
���

K	��� �� ����(���� &	� ��H��	�
���	3 � �1�H��	�
���	3 
�� |A| = |B| 
��*	�*
��
�
����	���� ������� ���
���� 
�� 	�� 
��*	�* ��H��	�
���	3� �1�H��	�
���	3
� "���	�
���	3 
�� |A| = |B| ��
�
����	���

/��%��	��)

|Symn| = n!.

����(�	��3�	
�� ����	�
�� m = n 
 4������

|F in(A,B)| = An
m = m(m− 1) · · · (m− n + 1).

/��%��	��)
m∑

s=0

(−1)s

(
m

s

)
(m− s)m = m!.

����(�	��3�	
�� ����	�
�� n = m 
 4������

|F on(A,B)| =
m∑

s=0

(−1)s+1

(
m

s

)
(m− s)n.

����&���� &	� 
�� |A| = |B| = m,

|F on(A,B)| =
m∑

s=0

(−1)s+1

(
m

s

)
(m− s)m.

�� ����(��� 
�)�� &	� ���� |A| = |B|, 	�
|F on(A,B)| = |F in(A,B)|.

+�	����3 
������	3 
������6�� �����	
��

|F in(A,B)| = |Symm| = m!

&	�"� (�
��)�	3 ����(�	��3�	
��
(�����) !��� ���	**� 
��������� (��*	3�* ����� �( �����16�0 ���A ��
�	3

���	�)��� 
��	� ���	 ��� �"���	3 ������ 9����: �( ��0 ����	 ��&�� �� (�����	32
�* � ���� (�����	3�*� 	� �� "���� &�� ����� ������ 8���3�� �
���"�
 �0 
�
�����*
��6��	
�1	 J

��



��)����� ���	3 A @ ������	
� ���	*�
A

A = {���	*:1, ���	*:2, ���	*:3}.
���	3 B @ ������	
� �( &�	���0 ������	�


B = {��
�	3 ���	�)��, 
��	� ���	, �"���	3 �����, ��&�� �� (�����	3�*}.
���	��� �	�"������� A → B, a �→ b, ���	�*6�* 
 	��� &	� a 
�"����	 (��*	��
b *
�*�	�* 4���,��:� !���� �"��(��� ��6��	
��	 43 = 256 �
���"�
 
�
�����*
���	*�
�

+	
�	A 256.
(�����) 9����: �( &�	���0 �����
 ��)��� ��
�	3 
� ����	���� 
���� ���	�

�� 0�&�	 
�"���	3 ����	�� 	���: ��� ��� � �������� K��1	�* ����	��� )��	� 
���
�
8���3���� �
���"��� ���(3* ����	 ���6��	
�	3 �
�� 
�"�� J

��)����� ���	3 A @ ������	
� ���(�: � B @ ������	
� ����	���
� !���� �	�"2
������� A → B, a �→ b, ���	�*6�* 
 	��� &	� a 
�"����	 ����	�� b *
�*�	�*
4���,��: L�����: 
�"����	 
� ����	���M� 
��&�� ��3��	�
��: L
�� 
�"������
����	��� ��(��&��M� !���� �"��(��� ����&��	
� �
���"�
 
�"��� ����	���
 ��
��

|F in(A,B)| = 6 · 5 · 4 · 3 = 360.

+	
�	A 360.
(�����) 5�	��� ����	���	��� �"*(��� 
�
����	3 
����	� ��	���: ���	��	 �(

	��0 &��	�:� 9����: �( ����	���	���
 
�"����	 ���� �( &��	�: 
����	�� 
��&��
�	� &��	3 ����	 
�"��	3 � �����: ����	���	��� 8���3���� �
���"��� ����	��	�2
�� ����	 ������(�
�	3 ��"�	� ��� 
����	�� J

��)����� ���	3 A @ ������	
� ����	��	���
 � B @ ������	
� &��	�: 
����	��
!���� �	�"������� A →, a �→ b, ���	�*6�* 
 	��� &	� ����	���	�� a 
�"����	
&��	3 b 
����	� *
�*�	�* 4���,��:� 
��&�� �1�H��	�
��: L
����	 ������ "�	3

�
�����M� ���	��� ����&��	
� �
���"�
 ��"�	� ��� 
����	�� ��
��

|F on(A,B)| = (−1)0

(
3

0

)
(3− 0)4 + (−1)1

(
3

1

)
(3− 1)4 + (−1)2

(
3

2

)
(3− 2)4 + 0 = 36.

+	
�	A 36.

��+ ��	���	�$����' �����)�'

�����������#�� ��

#.��� ���	3 P (n) @ ����	���� �	
�������� (�
��*6�� �	
n = 1, 2, . . . . ��
��	��� &	� ����	�* ����(�	3 �����16�� 
�6��

��������� ��

#.��A P (1) 
�����
0�

#.����!- 	���5�
A ���� P (n) 
����� 	� P (n+ 1) 
�����
�!��
A 	���� P (n) 
���� ��* �1"��� n�
 �	�� ���	��	 ��	�� ��	���	�&����: �����,���
������� �������� &	� ����� ��&�	��0 
������
�	��3��0 ,���0 &���� *
�*�	2

�* 
����� �
����	��� K������ 
��	3 �	
�������� P (n) ���	��	 
 	��� &	�

1 + 3 + 5 + · · ·+ (2n+ 1) = (n+ 1)2. L���M

�#



+���
���� �����,��A
P (1) : 1 = (0 + 1)2.

K	��� ����
���� �����,�� ����	�*�
K����	�
��: 
���0��A ��
��	��� &	� P (n) 
����� 	����

1 + 3 + 5 + · · ·+ (2n+ 1) = (n+ 1)2.

!����
1 + 3 + 5 + · · ·+ (2n + 1) + (2n + 3)

= (n+ 1)2 + (2n+ 3) = n2 + 2n + 1 + 2n + 3 = n2 + 4n + 4 = (n+ 2)2.

K���� ���
��� P (n+ 1) 
����� !����� �"��(��� �����,�����: 
���0�� 
�����
 �
��A L���M 
���� ��* �1"��� n.
(�����)

∑n
i=0

(
m+i

i

)
=
(

n+m+1
n

)
.

��)����� ����� ��������	3 �����,��: 
� n = 0, 1, 2, . . . . ��� n = 0 �	
�����2
��� 
����� ��
��	��� &	� ��� 
���� ��* n� !����

n+1∑
i=0

(
m+ i

i

)
=

(
n +m+ 1

n+ 1

)
+

n∑
i=0

(
m+ i

i

)
=

(
n +m+ 1

n + 1

)
+

(
n+m+ 1

m+ 1

)
=

(
n +m+ 1

m

)
+

(
n+m+ 1

m+ 1

)
=

(
n +m+ 2

n + 1

)
!���� �"��(��� �	
�������� 
���� ��* n. K����	�
��: 
���0�� ��	���
���� K��2
�� ���
���� �	
�������� 
���� ��* 
��0 n ∈ Z+.

����� �����	

������	� �����16�� 4������ ��* �����

��
∑n

i=1 i = n(n + 1)/2.

��
∑n

i=1 i
2 = n(n+ 1)(2n+ 1)/6.

��
∑n

i=1 i
3 = (n(n+ 1)/2)2.

��
∑n

i=1 i
4 = (3n2 + 3n− 1)(2n+ 1)(n+ 1)n/30.

!�
∑n

i=1 i
5 = (2n2 + 2n− 1)(n+ 1)2n2/12.

#� ������	�� &	� ����� n 
������
�	��3��0 ��&�	��0 &���� *
�*�	�* 
�����
�
����	���

*� ������	�� &	� ����� ��"�
 n 
������
�	��3��0 ,���0 &���� *
�*�	�* 
��2
��� �
����	���

�� ������	�� &	� n 	�a�� ��* �1"��� n ≥ 8 ����� ��(���*	3 � 
���631 � � $
	�a���

�.



+� ������	�� &	� ���� x+ 1/x ∈ Z, 	� xn + 1/xn ∈ Z, ��* �1"��� n ∈ N.

� � ���	3 x1, x2 @ ����� ���
����* x2 + 5x − 7 = 0. ������	�� &	� ��* �1"���
��	����3���� n &���� xn

1 + xn
2 *
�*�	�* ,�����

��� ������	�� &	� &���� 23n
+ 1 ����	�* �� 3n+1.

��� B "�"�)�� "�� 
��&��� ��	���: �&��3 �1"�� 
����3�� ���"���� 	�� ��	����

 ��	��
�: "����� �� "�"�)�� �� 
�(
��*�� ��� 	����	3� K 
��&�� (������ �"��2
��	3 "�"�)��� +� ��)�� �H���	3 �����: ���3 
� 0.1 ��	�� �( ����: ��&)�: "����
� ����
�	3 �� 
���: L	6�	��3�� 
�����6�
M� 5���( ����3�� ���: "�"�)�� �"����2
��	 �"���� ���� 
����3� ��	���	�* 
������ �� 
�� 
�� ��("�
����� ��� 
���:
��
���
��� J

B��(����� K����,��: 
� n ������	�� &	� &���( n ���: ��	���	�* 0.9n ��	��


����3*� %���	��� &	� 0.56 < 1/2 < 0.57. ���	��� &���( � ���: �"��� 
�� �6� ��
�"������	�*� �� &���( # ���: "�"�)�� �"��� �"������	�

+	
�	� 7 ���:�

���  �&����	3 �	����� 
��
��3���� 2n2����3����� 

�������� 
 ���� �������
r.

B��(����� a2n+1 =

√
2r2 − 2r

√
r2 − a2

2n

4

��� L!������ b���M D� 
������	� ���� n 	�&��� ����	�*��� ����� �1"���
�
��* �( ��	���0 �� 
��
��0���	 �����,�� ����(�	3� &	� 
�� �	� 	�&�� �����
(���1&�	3 
 ���� ������� 1/

√
3.

=������&����� &���� �
�����*1	�* 
� 4������

Hn = 1 +
1

2
+

1

3
+ · · ·+ 1

n
.

D�
������
H1 = 1, H2 = 3/2, H3 = 11/6.

B�	���
�	3 �����16�� �
�:�	
� �������&����0 &�����

�!�
∑n

j=1Hj = (n+ 1)Hn − n ��* 
��0 n ∈ N.

�#� H2n ≥ n/2 + 1 ��* �1"��� n ∈ N.

�*� ��* �1"��� n ∈ Z+

n∑
j=1

jHj =
(n+ 1)nHn+1

2
− (n+ 1)n

4
.

��� ���	3 an @ ,���&�������* 
������
�	��3���	3 	���*� &	�

a1 = 1, a2 = 2, an = an−1 + an−2, n ≥ 3.

�'



D�:��	� (��&���* a3, a4, a5, a6, a7 � ������	�� &	� an < (7/4)n ��* �1"��� n ≥ 1.

����(�	3 ����
���	
�A

�+� C��� n > 3� 	� 2n < n!.

� � C��� n > 4� 	� n2 < 2n.

��� %���	��� &	�
1 = 1

2 + 3 + 4 = 1 + 8

5 + 6 + 7 + 8 + 9 = 8 + 27

10 + 11 + 12 + 13 + 14 + 15 + 16 = 27 + 64

��
��"�:	� �4��������
�	3 �"6�1 ��
�	�(� � ����(�	3 ���

��1 2���� *�!!���$$�

��)�	3 
�� (���&� ���"*(�	��3���
5���� -�""���&&� �
�����*1	�* 
� �����,��

F1 = F2 = 1, Fn = Fn−1 + Fn−2.

D�
������ 
��
�� ���*	3 &���� -�""���&&� 
���*�*	 	��A

F1 = 1, F2 = 1, F3 = 2, F4 = 3, F5 = 5, F6 = 8,

F7 = 13, F8 = 21, F9 = 34, F10 = 55.

���������: �
���" 
��
���	3 ������3�� ��
��� ��	�� ��	���	�&����: �����2
,�� ��1	 &���� -�""���&&�� B�	���
�	� �����16�� �
�:�	
� &���� Fn�

����� �����	

�� F1 + F3 + · · ·+ F2n−1 = F2n.

�� F2 + F4 + · · ·+ F2n = F2n+1 − 1.

�� F 2
1 + F 2

2 + · · ·+ F 2
n = FnFn+1.

�#������� FkFk+1 − Fk−1Fk = F 2
k .

�� L����2!�	���M 8���3���� �
���"��� ����� 
����	3 "�( ��������� 
�*��2
����3��� n× 2 � 
���631 �
����	�
 2× 2 � 1× 1.

!� L9�(��&��2
�
�����,��M 9�(��&�� 
�	�)��	
��	 �� �
������: ��������	2
��: 
������	� 
� ��� x ���
� ��
��
� 
����* 
� ,���&�������� 
��)���� �� ����
��� �
� )���� 8���3���� �
���"��� �� ����	 ��"��	3�* �( 	�&�� � 
 	�&�� nJ

�/



������ Fn�

#�
Fn+m = Fn−1Fm + FnFm+1 L���M

�#������� ;	� �	
�������� ����� ����(�	3 � 
���631 �����,�� 
� m.  	���:
�
���" ����(�	��3�	
� ����
�� �� (���&� � ��(��&���� K( 	�&�� x = 1 �� ����	

�
��	3 
 	�&�� x = n + m � 
���631 Fn+m �
���"�
� +� ����	 
�
��	3 
 �	�
	�&�� �
��* 
�	*�� 
 (�
������	� �	 	��� 
�
����	 �� �� 
 	�&�� x = n ���
�"0���	� ���
�: 
�	3A ���&��� �� ��"����	�* �� 	�&�� x = n − 1 L�	� �� �����	
�����	3 Fn−1 �
���"���M� (�	�� 
���
����
��	 �� � )��� 
 	�&�� x = n+1 � �	�1��

 	�&�� x = n + m L�	� �� �����	 �����	3 Fm �
���"���M�  	���: 
�	3A ���&���
��(��&�� 
�
����	 
 	�&�� x = n � 
���631 Fn �
���"�
� (�	�� �( 	�&�� x = n 

	�&�� x = n+m � 
���631 Fm−1 �
���"�
�

*� ����(�	3� &	� F2n ����	�* �� Fn.
�#�������  �(3��	� n = m 
 L���M�

�� F2n = F 2
n+1 − F 2

n−1.
�#�������  
������6�: (���&� 
��
��3(�:	��3 	��� &	� Fn = Fn+1 − Fn−1.

+� F3n = F 3
n+1 + F 3

n − F 3
n−1.

�#�������  �(3��	� m = 2n 
 (���&� L���M�

� �
∑2n−1

i=1 FiFi+1 = F 2
2n.

���
∑2n

i=1 FiFi+1 = F 2
2n+1 − 1.

���
∑2n−1

i=1 (n+ 1− i)Fi = Fn+4 − (n+ 3).

���
∑2n−1

i=1 iFi = nFn+2 − F(n+ 3) + 2.

��� C��� n ����	�* �� m, 	� � Fn ����	�* �� Fm.

�!� ��* �1"��� ,����� &���� n ����� 
��
�0 n2−1 &���� -�""���&&� ��:��	�*
0�	* "� ����� ���*6���* �� n.

�#� 8������� &���� -�""���&&� 
(����� 
���	��

�*� ��* ,���0 &���� m,n &���( (m,n) �"�(��&�� �0 ���"��3)�: �"6�: ����2
	��3� !���� ���"��3)�: �"6�: ����	��3 &���� -�""���&&� 	���� *
�*�	�* &�����
-�""���&&�A

(Fn, Fm) = F(n,m).

B��(����� �������	� ������	� C
�����

��� Fn ����	�* �� Fm 	���� � 	��3�� 	����� ����� n ����	�* �� m�

�+� 5���� -�""���&&� &�	�� 	���� � 	��3�� 	����� ����� ��� ����� ����	�* ��
��

��



� � 5���� -�""���&&� ����	�* �� � 	���� � 	��3�� 	����� ����� ��� ����� ��2
��	�* �� ��

��� 5���� -�""���&&� ����	�* �� � 	���� � 	��3�� 	����� ����� ��� ����� ��2
��	�* �� ��

��� 5���� -�""���&&� ����	�* �� $ 	���� � 	��3�� 	����� ����� ��� ����� ��2
��	�* �� $�

��� 5���� -�""���&&� ����	�* �� # 	���� � 	��3�� 	����� ����� ��� ����� ��2
��	�* �� .�

��� 5���� -�""���&&� ����	�* �� �� 	���� � 	��3�� 	����� ����� ��� �����
����	�* �� ���

�!� C��� &���� -�""���&&� ����	 ��&�	��: ������ 	� 
�� ��� ��&�	��� ����	���
���1	 
�� 4k + 1

��3 ��������	��� ���	��&���'

�
����
��� ��##
������� ������������ ���	3 fn = afn−1 + bfn−2 ��������	���
���	��)����� ��� a � b ����	��	�� ��
��	��� &	� q1 � q2 @ ����� ���
����*

x2 = ax+ b.

!���� fn ����	 
��

fn = cqn
1 + dqn

2 , ���� q1 �= q2,

fn = (c+ dn)qn
1 , ���� q1 = q2,

��* ����	���0 ����	��	 c, d.
����(�	��3�	
�� ������	��� ���&�: ��(��&��0 �����:� 8��&��� 
������� &	�

fn = cqn
1 + dqn

2 ���
��	
��*�	 ��)�� ��������	��� ���	��)���*�� K����

afn−1 + bfn−2 = acqn−1
1 + adqn−1

2 + bcqn−2
1 + bdqn−2

2 = cqn−2
1 (aq1 + b) + dqn−2

2 (aq2 + b)

������3�� q1, q2 @ ����� ���
����* x2 − ax− b = 0,

aq1 + b = q2
1 , aq2 + b = q2

2,

� 
��	����
afn−1 + bfn−2 = cqn

1 + dqn
2 = fn.

!�
��3 
������� &	� �"��	��� �1"�� ��)���� ��������	���� ���
����* ����	

�� fn = cqn

1 + dqn
2 ��* ����	���0 ����	��	 c, d. ��
��	��� &	� (����� ��&��3���

����
�* f0 = A0, f1 = A1.
D�&��3��� ����
�* ��1	 �����16�� ����
�*{

A0 = c+ d
A1 = cq1 + dq2

��



+
������	��3 �	�: ���	��� ��
�������A∣∣∣∣ 1 1
q1 q2

∣∣∣∣ = q2 − q1 �= 0.

���	���

c =
A0q2 − A1

q2 − q1
, d =

A1 − A0q1
q2 − q1

.

��������	��� ���	��)���* ����(��&�� �
�����*1	 fn 
� ��&��3��� ������� !�2
��� �"��(�� 
 ���&�� q1 �= q2, ��)� ��������	��� ���	��)���� ����	 ��)���� 


��� fn = cqn

1 + dqn
2 �

8��&�: q1 �= q2 ��(�"��� 
�����	31� 8��&�: q1 = q2 ��	�
�*�	�* 
 
��� �
���2
����*�

(�����) L5���� -�""���&&�M ��)�	3 ���
����� fn = fn−1+fn−2 � �����&����
����
�*�� f0 = 0, f1 = 1.

��)����� Q����	����	�&����� ���
����� χ(t) = t2 − t − 1 ����	 ����� t1 =
1+

√
5

2
, t2 = 1−√

5
2
. ���	��� fn = c(1+

√
5

2
)n + d(1−√

5
2

)n ��* ����	���0 ����	��	 c � d.
5	�"� ��:	� ����	��	� 
��
��3(����* ��&��3���� ����
�*��� K����

f0 = 0 ⇒ c+ d = 0,

�

f1 = 1 ⇒ c
1 +

√
5

2
+ d

1−√
5

2
= 1 ⇒ c =

1√
5
.

!���� �"��(���

fn =
1√
5

((
1 +

√
5

2

)n

−
(

1−√
5

2

)n)
.

(�����) ��)�	3 ���
����� fn+2 = 4fn+1 − 4fn � �����&���� ����
�*�� f0 =
1, f1 = 4.

��)����� Q����	����	�&����� ���
����� χ(t) = t2 − 4t + 4 ����	 �
����	��:
�����3 t = 2. ���	��� fn = (c + dn)2n ��* ����	���0 ����	��	 c � d. 5	�"� ��:	�
����	��	� 
��
��3(����* ��&��3���� ����
�*��� K����

f0 = 1 ⇒ c = 1,

f1 = 4 ⇒ c+ d = 2 ⇒ d = 1.

!���� �"��(��� fn = (n+ 1)2n.
(�����) D�:	� ��������	��� ���	��)���� ��* ����&��	
� ��("����� �����2

�	
� 
��*��� n.
��)����� ���	3 Bn @ ����&��	
� ��("����� ������	
� 
��*��� n� �������

B0 = 1. ���	3 A = {a1, . . . , an, an+1} @ ������	
� 
��*��� n + 1. ���	3 X ⊆ A
@ 
��������	
� 
��*��� k + 1 �������6�� ������	 an+1. !���� 
��������	
� X \
{an+1} ⊆ A\{an+1} ����� 
�"��	3

(
n
k

)
�
���"���� ��
������� A\X ����� ��("�	3

Bn �
���"���� !���� �"��(��� 
� 
��
��� 
���(
�����* � 
� 
��
��� �����

Bn+ =

n∑
k=0

(
n

k

)
Bn−k =

n∑
k=0

(
n

n− k

)
Bn−k =

n∑
k=0

(
n

k

)
Bk.

��



+	
�	� Bn+1 =
∑n

k=0

(
n
k

)
Bk.

D�
������
B1 = 1,

B2 =

(
1

0

)
B0 +

(
1

1

)
B1 = 1× 1 + 1× 1 = 2,

B3 =

(
2

0

)
B0 +

(
2

1

)
B1 +

(
2

2

)
B2 = 1× 1 + 2× 1 + 1× 2 = 5.

5���� Bn ��(�
��	�* &����� ������

��
�� �����	

�� ��)�	3 ��������	��� ���
����*

• an = an−1 + 6an−2, n ≥ 2, a0 = 3, a1 = 6

• an = 7an−1 − 10an−2, n ≥ 2, a0 = 2, a1 = 1

• an+2 = −4an+1 + 5an, n ≥ 0, a0 = 1, a1 = 8

• an = an−2/4, n ≥ 2, a0 = 1, a1 = 0

• an = an−1 + 2an−2, n ≥ 2, a0 = 2, a1 = 7

�� L5���� >�����M %����� ��������	��� ���	��)����

Ln = Ln−1 + Ln−2, L0 = 2, L1 = 1.

����(�	3� &	�
Ln = Fn−1 + Fn+1, n = 2, 3, . . . ,

��� Fn &���� -�""���&&�� D�:	� 	�&��1 4������ ��* &���� >������

�� ������	�� &	� &���� �(2 +
√

3)n� *
�*�	�* ��&�	���� %���3 �α� �"�(��&��	
,���1 &��	3 &���� α ∈ R � 	���� ,���� &���� n 	����� &	� n ≤ α < n+ 1.

B��(����� ���	3 an = (2 +
√

3)n� ���
��3	�� &	� an+1 = 4an − an−1. ���	���
�an+1� = 4�an� − �an−1�+ 2, �a1� = 3.

�� ����(�	3� &	� &���� 1
2
((1 +

√
2)n + (1−√

2)n) ,���� ��* �1"��� n ∈ Z.
B��(����� an+2 = 2an+1 + an � a0 = a1 = 1.

!� ����(�	3� &	� &���� (6 +
√

37)999 ����	 
� ���:��: ���� ''' ����: 
����
���*	�&��: (�
*	�:�

B��(����� �������
�	��3���	3 xn = (6+
√

37)n− (6−√37)n ���
��	
��*�	 ����2

�*� xn+2 = 12xn+1+xn, � x0 = 2, x1 = 12. ���	��� xn ∈ Z ��* 
��0 n ≥ 0. %���	���
&	�

√
37− 6 < 0.1

#� L������ �
���"� 
�&������* "��
��*���
M ����(�	3� &	� &���� "��
��*���

Dn ���
��	
��*1	 �����16�� ��������	��� ���	��)���*��

��



• Dn = (n− 1)(Dn−1 +Dn−2), D1 = 0, D0 = 0.

• Dn = nDn−1 + (−1)n, D1 = 0, D0 = 0.

%���	3	�� &	� �	� ���	��)���* �� 
�
���1	 
 ����� ��������	��0 ���	��)���� �

��	�*����� ���44�,���	���� !� �� ����� �	����	�* � ��������	��� ���	��)�2
��*� ��* &���� ������

��4 ����%
��'5�� 0���)��

���	3 an 
������
�	��3���	3 &����� ��� n ∈ Z+ � Γ @ ������	
� 
������
�	��32
���	�:� +
������� �� ������	
� Γ �
���,�1 �����

(a + b)n = an + bn,

�
���,�1 ��������* �� ����*�

(λa)n = λan

� �
���,�1 ��������* L���
��1,�*M

(a � b)n =

n∑
i=0

aibn−i.

���	3 0 ∈ Γ@
������
�	��3���	3� ���	�*6�* �( ����0 ����:A 0n = 0, ��* 
��0 n.
+"�(��&�� &���( 1 ∈ Γ 
������
�	��3���	3 ����
�* ���
����	� ��	���: ��
�� �� �
��	��3��� ��
�� /�

!���� (Γ, 0, 1,+, �) @�����	�	�
��* ����,��	�
��* ����"�� � �����,�:� K����
���
���� 
�
������ �����16�� 	�����	
�

0 + a = a,

1 � a = a,

a+ b = b+ a,

a � b = b � a,

λ(a+ b) = λa + λb,

a+ (b+ c) = (a+ b) + c,

(a + b) � c = a � c+ b � c,

a � (b � c) = (a � b) � c,

��� a, b, c ∈ Γ.
��* 
������
�	��3���	� a 
���(
��*6�* 4���,�* �	���	�* 
� 
��
���

G(a) =
∑
i≥0

aix
i.

�$



;	�� 
��"6� ��
��*� 4�����3��: �*�� 	���� �*� � "������&���� ������
��� &����2
���

(�����) D�:	� 
���(
��*6�1 4���,�1 ��* 
������
�	��3���	� 1, 1, 1, 1, . . . .
��)����� ��* 
������
�	��3���	� an = 1 �����

G(a) = 1 + x+ x2 + · · · = 1

1− x
.

+	
�	� G(a) = 1
1−x

.

��* &���� λ � ��* 4�����3��0 �*��
 f(x) =
∑

i≥0 aix
i, g(x) =

∑
i≥0 bix

i, 
���2
���

λf(x) =
∑
i≥0

λaix
i,

f(x) + g(x) =
∑
i≥0

(ai + bi)x
i,

f(x)g(x) =
∑
n≥0

(
∑
i≥0

aibn−i)x
n.

������	
� 4�����3��0 �*��
 C[[x]] �	����	��3�� �	�0 �
���,�� 	���� �"��2
(��	 #���
������
3 ����.������
3 ������
 � �
���.�-� L���
��3	� PM D��3 �	�:
����"�� �"��(��	 �*� 0 =

∑
i≥0 0xi � �����,� @ �*� 1 = 1 +

∑
i>0 0xi.

$�����
) +	�"������� Γ → C[[x]], a �→ G(a) *
�*�	�* �������4�(��� ��2
��"�A

G(0) = 0,

G(1) = 1,

G(λa) = λG(a),

G(a+ b) = G(a) +G(b),

G(a � b) = G(a)G(b).

/��%��	�� �� �������16�* 4���,�* ��* 
������
�	��3���	� an 
���&����:
�( 
������
�	��3���	�: bn, cn 
�	�� �������*A an = bn + cn, 
���&��	�* �( 
����2
��16�0 4���,�� G(a) � G(b) 	���� 
�	�� �������*A

G(a) = G(b) +G(c).

/��%��	�� �� �������16�* 4���,�* ��* 
������
�	��3���	� an 
���&����:
�( 
������
�	��3���	� bn 
�	�� ��������* �� &����A an = αbn, 
���&��	�* �(

������16�: 4���,�� G(b) 	���� 
�	�� ��������* �� &����A

G(a) = αG(b).

(�����) D�:	� 
���(
��*6�1 4���,�1 ��* 
������
�	��3���	� 1, 3, 5, 7, . . . .
��)����� ���	3 an = 2n + 1, bn = n + 1, cn = 1. !���� an = 2bn − 1 � ��������

�����	
�*� � � ��

G(a) = 2G(b)−G(c) = 2/(1− x)2 − 1/(1− x) = (1 + x)/(1− x)2.

��



+	
�	A x+1
(1−x)2

/��%��	�� �� ���	3 bn @ 
������
�	��3���	3� 
���&����* �( 
������
�	��3��2
�	� an �� ��
���� �� k 

��
�A

bi = 0, i ≤ k, bk = a0, bk+1 = a1, . . . .

!����
G(b) = xkG(a).

/��%��	�� �� ���	3 bn @ 
������
�	��3���	3� 
���&����* �( 
������
�	��3��2
�	� an �� ��
���� �� k 
��
�A

b1 = ak, b2 = ak+1, b3 = ak+2, . . . .

!����
G(b) = (G(a)− a0 − a1x− · · · − ak−1x

k−1)/xk.

/��%��	�� $� ���	3 α @ &���� � 
������
�	��3���	3 bn 
���&��� �( 
����2
��
�	��3���	� an 
�	�� 4������ bn = αnan. !���� 
���(
��*6�* 4���,�* G(b)

���&��	�* �( G(a) 
�	�� 
���	���
�� αx 
���	� x.

(�����) 1
1−2x

@ 
���(
��*6�* 4���,�* ��* 
������
�	��3���	� 1, 2, 4, 8, 16, 32, . . .
/��%��	�� �� ���	3 (����� 
������
�	��3���	3 a0, a1, . . . � bn @ �� ��(�������A

bsk = ak � bn = 0, ���� n �� ����	�* �� s. !���� G(b) 
���&��	�* �( G(a) 
�	��

���	���
�� xs 
���	� x.

(�����) 1
1−x3 @ 
���(
��*6�* 4���,�* ��* 
������
�	��3���	�

1, 0, 0, 1, 0, 0, 1, 0, 0, 1 . . . .
+"�&�� 
���(
��*6�� 4���,�� �	��*	�* � 
���631 ���"���,�� 
�)����(��2

��0 ��	���
�
(�����) ���	3 an = 2�n/2� 	���� a = 1, 1, 2, 2, 3, 3, 4, 4, . . . . D�:	� 
���(
��*6�1

4���,�1 G(a).
��)����� 9�� "��� ��	���
���� 
�)�� 
������
�	��3���	3 b = 1, 2, 4, 8, . . . ���2

�	 	���1 
���(
��*6�1 4���,�1

G(b) =
1

1− 2x
.

���	��� �� ��(������� c = 1, 0, 2, 0, 4, 0, 6, · · · ����	 	���1 
���(
��*6�1 4���2
,�1

G(c) =
1

1− 2x2
.

8����
�	��3�� �� ��
�� �� � )�� ��
��
� d = 0, 1, 0, 2, 0, 4, 0, 8, · · · ����	 	���1

���(
��*6�1 4���,�1

G(d) =
x

1− 2x2
.

%���	��� &	� an = cn + dn. ���	���

G(a) = G(c) +G(d) =
1 + x

1− 2x2
.

�#



C6� ���� �
���,�* � 
���(
��*6��� 4���,�*�� �
*(��� � �
���,�*�� ��42
4����,���
���* � ��	������
���*� ���	3 bn = nan. !����

G(b) = G(a).

���	3 cn = bn/(n+ 1). !����

G(c) =

∫ x

0

G(a)dx.

(�����) D�:	� 
���(
��*6�1 4���,�1 ��* 
������
�	��3���	� 1, 2, 3, . . . .
��)���� �� ���	3 an = 1 ��* 
��0 n ∈ Z+. 8 
���631 �����,�� 
� n ∈ Z+

����� ����(�	3� &	� (a � a)n = n + 1. ���	���

G(a � a) = G(a)G(a) =
1

(1− x)2
.

��)���� �� ���	3 bn = n+ 1, ��* n ∈ Z+. !����

G(b) = 1 + 2x+ 3x2 + 4x3 + · · · = ∂(1 + x+ x2 + · · · ) =
∂(1 + x+ x2 + x3 + · · · )

∂x
=

∂(1− x)−1

∂x
=

1

(1− x)2
.

+	
�	A 1
(1−x)2

(�����) D�:	� 
���(
��*6�1 4���,�1 ��* &���� -�""���&&��
��)����� ���	3 G(x) @ ������* 
���(
��*6�* 4���,�*� K����

Fn = Fn−1 + Fn−2, n ≥ 2,⇒ Fnx
n = Fn−1x

n + Fn−2x
n

⇒
∑
n≥2

Fnx
n − x

∑
n≥2

Fn−1x
n−1 − x2

∑
n≥2

Fn−2x
n−2 = 0.

%���	��� &	� ∑
n≥2

Fnx
n =

∑
n≥1

Fnx
n = G(x)− x,

∑
n≥2

Fn−1x
n−1 =

∑
n≥1

Fnx
n = G(x),

∑
n≥2

Fn−2x
n−2 =

∑
n≥1

Fnx
n = G(x), 
�����3�� F0 = 0.

!���� �"��(���
(G(x)− x)− xG(x)− x2G(x) = 0,

���
G(x) =

x

1− x− x2
.

+	
�	A x
1−x−x2

(�����) ���	3 n ∈ Z+� ����(�	3� &	�
(
2n
n

)
=
∑n

i=0

(
n
i

)2
.

�.



����(�	��3�	
�� 8��
��� ���44�,���	� � xn 
 �"��0 &��	*0 	�����	
�

(x+ 1)2n = (x+ 1)n(x+ 1)n.

 ��
�: &��	� �	�	 ���44�,���	 ��
��
(
2n
n

)
� 
 
��
�: @

n∑
i=0

(
n

i

)(
n

n− i

)
=

n∑
i=0

(
n

i

)2

.

(�����) ����(�	3� &	� 
������
�	��3���	3 an =
(

n+k−1
n

)
����	 
���(
��*6�1

4���,�1 1
(1−x)k .

��)����� ������	��� 
������
�	��3���	3 a(k) �
���������1 
� 
��
����

a(k)
n =

(
n + k − 1

n

)
, n ∈ Z+.

!����
a(1)

n = 1, ∀n ∈ Z+.

����� ��������	3 �����,��: 
� k = 1, 2, . . . . ��� k = 1 ��� �� ��	���
���

�)� G(a(1)) = 1

1−x
, 	���� ����
���� �����,�� 
�����

��
��	��� &	� �	
�������� 
���� ��* k. 9�� "��� ��	���
���� 
 
������ ���2
,�� ��� ����	 ���	� 4������

n∑
i=0

(
m+ i

i

)
=

(
n +m+ 1

n

)
.

���	��� (
n+ k − 1

n

)
=

n∑
i=0

(
k − 2 + i

i

)
.

K	���

a(k)
n =

n∑
i=0

(
k − 2 + i

i

)
× 1 =

n∑
i=0

a
(k−1)
i a

(1)
n−i.

������� ���
����
a(k) = a(k−1) � a(1),

�

G(a(k) = G(a(k−1))G(a(1)) =
1

(1− x)k−1

1

1− x
=

1

(1− x)k
.

(�����) I6�� �������	 30 "���0 40 &����0 � 50 ������0 )���
� `���
�������
� ,
�	� ����(��&���� 8���3���� 
�	*�� ����� 
�"��	3 #/ )���
 J

��)����� 5���� �
���"�
 
�"��� #/ )���
 ��
�� ���44�,���	� 
�� x70 
 
��2
�(
������

(1 + x+ x2 + · · ·+ x30)(1 + x+ x2 + · · ·+ x40)(1 + x+ x2 + · · ·+ x50)

=
1

(1− x)3
(1− x31)(1− x41)(1− x51).

�'



K���	 ���	� ��(�������

1

(1− x)3
= (
∑
i≥0

(
i+ 2

2

)
xi.

L��� 
������6�1 (���&� 
�� k = 3M� ���	���

(1 + x+ x2 + · · ·+ x30)(1 + x+ x2 + · · ·+ x40)(1 + x+ x2 + · · ·+ x50)

= (
∑
i≥0

(
i+ 2

2

)
xi)(1− x31 − x41 − x51 +O(x70)).

���	��� ���44�,���	 
�� x70 ��
��(
70 + 2

2

)
−
(

70 + 2− 31

2

)
−
(

70 + 2− 41

2

)
−
(

70 + 2− 51

2

)
= 1061.

+	
�	� �/���
(�����) D�:	� ����&��	
� ��)���� ���
����* x1 + · · ·+xk = n 
 ��	����3��0

&����0�
��)����� C��� xi ∈ N, i = 1, . . . , k, ���
��	
��*1	 ����
�1 x1 + · · ·+ xk = n, 	�

yi = xi − 1 ∈ Z+, i = 1, . . . , k, ���
��	
��*1	 ����
�1 y1 + · · ·+ yk = n− k. +"��	���
�1"�� ��)���� ���
����* y1 + · · · + yk = n − k 
 ,���0 ���	��,�	��3��0 &����0

�(
��*�	 
��	���	3 ��)���� ���
����* x1 + · · · + xk = n 
 ��	����3��0 &����0A
xi = yi + 1, i = 1, . . . , k. �� (����� &	� ���
����� y1 + · · ·+ yk = m ����	

(
m+k−1

k−1

)
��)���� 
 ���	��,�	��3��0 ,���0 &����0� ���	��� ���
����� x1 + · · · + xk = n
����	

(
n−k+k−1

k−1

)
��)���� 
 ��	����3��0 &����0�

+	
�	�
(

n−1
k−1

)
.

����� �����	

�� -���,�* (x+1)n *
�*�	�* 
���(
��*6�: 4���,��: ��*
(

n
0

)
,
(

n
1

)
,
(

n
2

)
, . . . ,

(
n
n

)
, 0, 0, . . . .

�� Ln ∈ Z+M -���,�* (x+1)−n *
�*�	�* 
���(
��*6�: 4���,��: ��*
(−n

0

)
,
(−n

1

)
,
(−n

2

)
, . . . .

(�����)D�:	� 
���(
��*6�1 4���,�1 ��* 
������
�	��3���	� 0, 1, 4, 9, 16, . . . .
+	
�	A x+1

(1−x)3
.

�� D�:	� ���44�,���	 
�� x5 
 (1− 2x)−7.

�� D�:	� ���44�,���	 
�� x8 
 1
(x−3)(x−2)2

.

!� D�:	� ���44�,���	 
�� x15 
 (x2 + x3 + x4 + · · · )4.

#� ���	3 n,m, k ∈ Z+� ����(�	3� &	�
(

n+m
k

)
=
∑k

i=0

(
n
i

)(
m

k−i

)
.

B��(����� (x+ 1)m+n = (x+ 1)m(x+ 1)n.

$/



*� 8���3�� ��6��	
�1	 ���������0 
�������
 �	�
��� n � k ���(
��	����� 	����

�������
 xα1

1 · · ·xαk
k , 	���0� &	� α1 + . . .+ αk = n, α1, . . . , αk ∈ Z+ J

�����A
(

n+k−1
k

)
�� ���	3 p0(n) @ ����&��	
� �
��*��&����0 ��("����� &���� n� D�
������

p0(3) = 4, 
�����3�� 3 = 1 + 1 + 1, 3 = 1 + 2, 3 = 2 + 1, 3 = 3. D�:	� p0(n).
+	
�	A p0(n) = 2n−1.

+� ���	3 pn @ ����&��	
� ��("����� &���� n� D�
������

p1 = 1 : 1 = 1;

p2 = 2 : 2 = 2, 2 = 1 + 1;

p3 = 3 : 3 = 3, 3 = 2 + 1, 3 = 1 + 1 + 1;

p4 = 5 : 4 = 4, 4 = 3 + 1, 4 = 2 + 2, 4 = 2 + 1 + 1, 4 = 1 + 1 + 1 + 1;

p5 = 7 : 5 = 5, 5 = 4 + 1, 5 = 3 + 2, 5 = 3 + 1 + 1, 5 = 2 + 2 + 1,

5 = 2 + 1 + 1 + 1, 5 = 1 + 1 + 1 + 1 + 1.

����(�	3� &	�
G(p) =

∏
i≥1

(1− xi)−1.

���6 7���� $���� � �������	/

 ��(� �� 
�������� &	� a, b, c, q, r ∈ Z.
�������� L�"�(��&���� d|aM d @ ����	��3 &���� a, ���� a = dq, ��* ����	�����

q ∈ Z.
'������� a ���	��� b� ���� b|a.
a 
������ �� b� ���� b|a.
9��������- ��4�- 
������� &���� a, b L�"�(��&���� D+�(a, b)MA

d1|a, d1|b⇒ d1|D+�(a, b)

������� D+�(18, 30) = 6.
9��������� ��4�� #������ L�"�(��&���� D+9(a, b)MA

a|c, b|c⇒ D+9(a, b)|c
������� D+9(18, 30) = 90.
+����

• N @ ������	
� ��	����3��0 &���� {1, 2, 3, . . .}
• Z @ ������	
� ,���0 &���� {. . . ,−3,−2,−1, 0, 1, 2, 3, . . .}
• Z+ @ ������	
� ,���0 ���	��,�	��3��0 &���� {0, 1, 2, . . .}
• Q @ ������	
� ��,�����3��0 &���� {p/q : p, q ∈ Z, q �= 0}

$�



• R @ ������	
� ��:�	
�	��3��0 &����

• C @ ������	
� ���
������0 &����

• �α� @ ����** ,���* &��	3 &���� α ∈ R� 	���� 	���� n ∈ Z� &	� n ≤ α < n+ 1.

• �α�@ 
��0�** ,���* &��	3 &���� α ∈ R � 	���� 	���� n ∈ Z� &	� n− 1 < α ≤ n.

'��������#�� ���������� &���� n ∈ N@ 
����	�
����� n 
 
��� 
���(
�����*
�	�
���: ��(��&��0 
���	�0 ����	���:A n = pα1

1 · · · pαk
k , p1 < p2 < · · · < pk.

:������� ;�#��
�� ���	3 a, b ∈ Z, b �= 0. <�����	� C
����� ���	��	 
 	��
&	�"� 
�
	��*	3 ��������	�� 
��,��� ������* � ��	�	���� ��
��	��� &	�

a = bq0 + r1, 0 < r1 < b,

b = r1q1 + r2, 0 < r2 < r1,

r1 = r2q2 + r3, 0 < r3 < r2,

���

rk−1 = rkqk

��* ����	����� k. !����
D+�(a, b) = rk.

(�����) D�:��� ���"��3)�: �"6�: ����	��3 &���� a = 7228, b = 378. K����

7228 = 378× 19 + 46,

378 = 46× 8 + 10,

46 = 10× 4 + 6,

10 = 6× 1 + 4,

6 = 4× 1 + 2,

4 = 2× 2 + 0.

������� ���
����
7228 |378

−7182 19
378 |46

−368 8
46 |10

−40 4
10 |6
−6 1

6 |4
−4 1

4 |2
−4 2

0

$�



���	���
D+�(7228, 378) = 2.

������� ������ 5���� n > 1 ��(�
��	�* 
���	��� ���� � ���� ��	 ����	���:
����� � � n�

(�����) 7 @ 
���	�� &�����
2�������� ����� @ �� 
���	�� &�����
(�����) 6 @ ���	�
��� &�����
 ������ ;�#��
�� ����	�0 &���� "������&�� ������
����(�	��3�	
�� C��� p1 < . . . < pn @ ��(��&��� 
���	�� &����� 	� �	� &���� ��

*
�*1	�* ����	��*�� &���� p1 · · ·pn + 1. ���	��� �� ����	 
���	�: ����	��3 > pn.
�������� ������� ���"����#�� >1"�� n ∈ N ����� 
����	�
�	3 
 
��� n =

pα1
1 · · · pαk

k � ��� p1 < · · · < pk @ 
���	�� &���� � α1, . . . , αk ∈ N. !���� ��(�������
�����	
����A ���� n = qβ1

1 · · · qβr
r , ��� q1 < · · · < qr @ 
���	�� &���� � β1, . . . , βr ∈ N,

	� k = r � α1 = β1, . . . , αk = βk.
'��������#�� ����������� ��(������� n = pα1

1 · · · pαk
k � ��� p1 < · · · < pk @ 
��2

�	�� &���� � α1, . . . , αk ∈ N, ��(�
��	�* ������&����� ��(���������
(�����) 5040 = 24 × 32 × 51 × 71 @ ������&����� ��(������� &���� 5040.
2���������� ������ D�	����3��� &���� ��(�
��	�* ��
��)������ ���� ��� ��
�2

���� ��
�� ����� 
��0 �
��0 ����	���:�
(�����) 6, 28 @ ��
��)����� &����� 
�����3�� 12 = 1 + 2 + 3 + 6 � 56 =

1 + 2 + 4 + 7 + 14 + 28.

������ �����	

�� ����(�	3� &	� ��* �1"�0 ,���0 r1, . . . , rn

b|a1, . . . , b|an ⇒ b|r1a1 + · · · rnan.

�� ����(�	3� &	� ��* �1"��� ,����� n &���� n5 − n ����&�
��	�* ������

�� ����(�	3� &	� �������&����� &���� Hn = 1+ 1
2
+ · · ·+ 1

n
�� ����	 "�	3 ,����

&������
��)����� ���	3 k @ ���"��3)�� ,���� � ����
��� 2k ≤ n � P @ 
���(
������


��0 ��&�	��0 
���	�0 &����� �� 
��
��0��*6�0 n. 5���� 2k−1PHn 
����	�
�	�*
�����1� 
�� ��������� ��	���:� ����� 2k−1P 1

2k � ��	3 ,���� &�����

�� ������	�� &	� ����� 1
3

+ 1
5

+ · · · + 1
2n+1

, ��� n > 0� �� ����	 "�	3 ,����
&������

��)����� ���	3 Sn = 1
3

+ 1
5

+ · · ·+ 1
2n+1

. ���	3 k @ ���"��3)�� ,���� � ����
���
3k ≤ 2n+ 1 � P @ 
���(
������ 
��0 
(����� 
���	�0 � � &����� �� 
��
��0��*6�0
2n+1. 5���� 3k−1PSn 
����	�
�	�* �����1� 
�� ��������� ��	���:� ����� 3k−1P 1

3k �
��	3 ,���� &�����

!� ���	3 n ∈ N� ����(�	3� &	� 
�� ���44�,���	� ��(������* "����� D31	���
(a + b)n "���	 ��&�	���� 	���� � 	��3�� 	����� ����� n ����	 
�� 2k − 1.

$�



#� ���	3 p @ 
���	�� &����� ����(�	3� &	� 
���(�	��3 ��������3��: �	�
���
&���� p� �� ��	���1 ����	�* n! ��
��

∑
k>0� n

pk �

*� 8���3���� ���*�� ����&�
��	�* &���� 100! J
B��(����� ���	3 100! ����&�
��	�* � s ���*��� ;	� (��&�	� &	� 100! ����	�* ��

10s, 
��&�� s @ ��������3��� &���� � 	���� �
�:�	
��� ���	3 100! = 2α13α25α3 · · ·
@ ������&����� ��(�������� %���	��� &	�

α3 =
∑
i≥1

�100/5i� = 20 + 4 = 24,

�
α1 =

∑
i≥1

�100/2i� = 50 + 25 + 12 + 6 + 3 + 1 > 24 = α3,

������3�� 10s = 2s5s, �� 
���&���� &	� s = 24.
+	
�	� 100! ����&�
��	�* � 24 ���*���

�� L
�
��� �	������ � ����� c����( <���"��
�:M 8���3�� ,�4� ����	 100! J
+	
�	� 100! ����	 �log10 100!� = 158 ,�4��

+� D�:	� ������&����� ��(������� &���� 20! �
0������) %���	��� &	� 
���	��� ����	��*�� &���� 20! *
�*1	�* 2, 3, 5, 7, 11, 13, 17, 19�

���	��� ������&����� ��(������� &���� 20! ����	 
��

20 = 2α13α25α37α411α513α617α719α8 .

%���	��� &	�

α1 = �20/2�+ �20/4�+ �20/8�+ �20/16� = 10 + 5 + 2 + 1 = 18,

α2 = �20/3�+ �20/9� = 6 + 2 = 8,

α3 = �20/5� = 4,

α4 = �20/7� = 2,

α5 = �20/11� = 1,

α6 = �20/13� = 1,

α7 = �20/17� = 1,

α8 = �20/19� = 1.

+	
�	� 20! = 218 · 38 · 54 · 72 · 11 · 13 · 17 · 18.

� � D�:	� ���"��3)�: �"6�: ����	��3 � ������3)�� �"6�� ���	��� &���� 65
� 520d 1139 � 1288d 162 � 56d 543 � 831.

��� ����(�	3� &	� ���� n ��&�	���� 	� an + bn ����	�* �� a + b�
����(�	��3�	
�� an + bn = (a+ b)

∑n−1
i=0 a

ibn−i−1.

��� ���	3 n ∈ N. ����(�	3� &	� an − bn ����	�* �� a− b.

$�



����(�	��3�	
�� an − bn = (a− b)
∑n−1

i=0 a
ibn−i.

��� L�������M C��� &���� 2n − 1 
���	��� 	� n @ 	��� 
���	���
����(�	��3�	
�� ��
��	��� &	� n �� 
���	�� � n = ab, a > 1, b > 1. !���� 2n−1 =

2ab − 1 = (2a)b − 1 ����	�* �� 2a − 1. ������3�� 2n − 1 > 2a − 1 > 1, �� 
���&����
&	� 2n − 1 �� 
���	��� ����&����� 
��	�
���&�� 
���(�
��	� &	� n 
���	��� ����
2n − 1 
���	���

��� L-����M C��� &���� 2n + 1 
���	��� 	� n @ �	�
��3 �
�:���
����(�	��3�	
�� ��
��	��� &	� n �� *
�*�	�* �	�
��31 �� ;	� �(��&��	� &	� n

����� 
����	�
�	3 
 
��� n = 2sa, ��� a @ ��&�	��� � a > 1. !���� 2n +1 = 2ab +1 =
(2a)b + 1 ����	�* �� 2a + 1. ������3�� 2n + 1 > 2a + 1 > 1, �� 
���&���� &	� 2n + 1
�� 
���	��� ���	�
���&���

�!� LC
����M C��� &���� 2k+1− 1 *
�*�	�* 
���	��� 	� &���� 2k(2k+1− 1) *
�*2
�	�* ��
��)������

����(�	��3�	
�� ������3�� 2k+1 − 1 @ 
���	��� &���� N = 2k(2k+1 − 1) ����	
�����16�� ������	
� 
���	�0 ����	���:

D(N) = {2i, 2i(2k+1 − 1) | 0 ≤ i ≤ k}.

!����

∑
d|N

=

k∑
i=0

2i +
∑
i≥0

2i(2k+1 − 1) = (

k∑
i=0

2i)(2k+1 − 1 + 1) = (2k+1 − 1)2k+1 = 2N.

;	� (��&�	� &	� &���� N ��
��)������

�#� L;:���M 9����� &�	��� ��
��)����� &���� ����	 
�� 2k(2k+1−1)� ��� 2k+1−1
*
�*�	�* 
���	�� &������

�*� +�	�
 ������ ��(��
�� �����
 �. &����� � �# �� &����� 
��4��1(�� 
��2
&�� 
��� &����� 
��4��1(� ���	����3 
���
��� � 
��� �� &����� @ 	��� 
���
���
+��(����3� &	� � +�	�
� "�� �����	
����: �
���" ��(��	3 �����
 	���� �"��(���
9���� ���"��3)�� ����&��	
� �����
 � ���� ����� "�	3 J

���� 8��
����'

2��������� ���	3 a, b ∈ Z. %�
��3 
��� a ≡ b(modm) �(��&��	� &	� &���� a− b
����	�* �� m.  	���0 ���&�*0 ��
��*	� &	� &���� a � b ���
���� 
� �����1 m.

(�����) 63 ≡ 18(mod15).
'����! �!������ +	��)���� a ≡ b(modm) *
�*�	�* �	��)����� ��
�
����	2

���	�� 8��	
�	�	
�16�� ������ ��
�
����	���	� ��(�
�1	�* �������� 
�&�	�
�
 ���� ���1	�* m ������
 
�&�	�
 
� �����1 m.

(�����) 9����� 
�&�	�
 
� �����1 m = 5A

0̄ = {0,±5,±10± 15, · · · },

$$



1̄ = {1, 6, 11, · · · ,−4,−9, · · · },
2̄ = {2, 7, 17, · · · ,−3,−8, · · · },
3̄ = {3, 8, 13, · · · ,−2,−7, · · · },

4̄ = {4, 9, 14, · · · ,−1,−6,−11, · · · }.
2�������� 	����- ���	���� ��)���� ���
����* ax ≡ b(modm) @ ����� 
�&�2

	�
 
� �����1 m� ���� ������	 ��	����� ���
��	
��*�	 ���
����1� +&�
����� &	�
	���� �1"�: ������	 �	��� ������ ���
��	
��*�	 ���
����1�

���	3 d = D+�(a,m). 8��
����� ax ≡ b(modm) ��(��)��� 	���� � 	��3��
	����� ����� d|b.  �	�� ���&�� ��� ����	 d ��)���:�

��)���� ���
����* ax ≡ b(modm) ��
�
����	�� ��)���1 ���
����* ax+my = b

 ,���0 &����0� 8
���" ��)���* 	���0 ���
����� � 
���631 ,�
��0 ���"�: ���2
���	��
��	�* 
 
���	� ����� ��� ��"��3)�0 m �	� ���
����� ��)��	�* 
��"�����

2������ ��������� 	����- ���	���� 8��	��� ���
����:


a1x ≡ b1(modm1),
a2x ≡ b2(modm2),

���
anx ≡ bn(modmn)

�
���	�* � ���	��� 
��� 


x ≡ b1(modm1),
x ≡ b2(modm2),

���
x ≡ bn(modmn).

5	�"� ��)�	3 
�������: ���	�	�&�� ���	3 ��)�	3 ���	���{
x ≡ b1(modm1),
x ≡ b2(modm2).

K( 
��
��� ���
����* 
���&�� x = b1+m1t. ����	�
�� �	� 
� 
	���� ���
������
����&��� m1t = b2 − b1(modm2). 9��	����� ��(��)����	� �	��� ���
����* *
�*2
�	�* ����
�� D+�(m1, m2)|b2 − b1.  �	�� ���&�� ����� ���� ��)���� 
� �����1
m2/D+�(m1, m2) :

t ≡ t0(mod
m2

D+�(m1, m2)
).

���	���

x = b1 +m1(t0 +
m2

D+�(m1, m2)
t) = b0 +

m1m2

D+�(m1, m2)
t = b0 +D+9(m1, m2)t

*
�*�	�* ��)����� ��)�: ���	��� �( �
�0 ���
������ K	�� ���	��� �( �
�0 ���
��2
��� 
 ���&�� ��(��)����	� ����	 �����	
����� ��)���� 
� �����1 D+9(m1, m2).

 �"6�� ���&�� ���� ���	��� ���
����� ����	 ��)����� 	� ��� ����	 �����	
��2
��� ��)���� 
� �����1 D+9(m1, . . . , mn).

$�



'���-�#�� ������� �� �����#�5� ��
��	��� &	� ,���� &���� m1, m2, . . . , mn


�
���� 
(����� 
���	�� ���	3 xi @ ��)���� ���
����*

m1 · · ·mi−1ximi+1 · · ·mn ≡ 1(modmi),

��� i = 1, 2, . . . , n. !����

x = m2m3 · · ·mnx1b1 +m1m3 · · ·mnx2b2 + · · ·+m1m2 · · ·mn−1xnbn

��)���� ���	��� ���
����� 


x ≡ b1(modm1),
x ≡ b2(modm2),

���
x ≡ bn(modmn)

;	� ��)���� �����	
���� 
� �����1 
���(
�����* m1m2 · · ·mn.
(�����) ��)�	3 ���	��� ���
����: ��	�:���� �
���"��


x ≡ 2(mod 5)
x ≡ 3(mod 6)
x ≡ 4(mod 7)

��)����� m1 = 5, m2 = 6, m3 = 7. K����

x1 × 6× 7 ≡ 1(mod 5) ⇒ x1 ≡ 3(mod 5),

x2 × 5× 7 ≡ 1(mod 6) ⇒ x2 ≡ −1(mod 6),

x3 × 5× 6 ≡ 1(mod 7) ⇒ x3 ≡ 4(mod 7).

���	���
x = 6× 7× 3× 2 + 5× 7× (−1)× 3 + 5× 6× 4× 4 = 627

��)���� ��)�: ���	��� ���
������ ;	� ��)���� �����	
���� 
� �����1 ��/�

���� 7�
��� ���!�

'�# 	�������� .�	�
3 
���� < ���	3 a, b ∈ Z, b > 0. �������� ������	�
C
�����A

a = bq0 + r1, 0 < r1 < b,

b = r1q1 + r2, 0 < r2 < r1,

r1 = r2q2 + r3, 0 < r3 < r2,

���

rk−1 = rkqk

$#



��* ����	����� k. !���� ,�
��* ���"3 ���	
�	�	
�16�* a
b
��
��

q0 +
1

q1 +
1

q2 + · · · 1

qk−1 +
1

qk

9��	��* (�
��3A
a/b = [q0, q1, . . . , qk].

(�����) D�:��� ,�
��1 ���"3 ��* a = 3614/189. K����

3614 = 189× 19 + 23,

189 = 23× 8 + 5,

23 = 5× 4 + 3,

5 = 3× 1 + 2,

3 = 2× 1 + 1,

2 = 1× 2 + 0.

!����
3614

189
= 19 +

1

8 +
1

4 +
1

1 +
1

1 +
1

2
��� ���	��

3614/189 = [19, 8, 4, 1, 1, 2].

��
5�
�4�� 
���� ��,�����3���� &���� a/b = [q0, q1, . . . , qk] (���1	�* 	��

δ0 =
q0
1
,

δ1 = q0 +
1

q1
,

���

δk = q0 +
1

q1 +
1

q2 + · · · 1

qk−1 +
1

qk

.

$.



!����

δ0 =
P0

Q0
, δ1 =

P1

Q1
, · · · δs =

Ps

Qs
, · · · , δk =

Pk

Qk
.

8
���" 
�&������* Ps, Qs ���	�* 
� �����16�� ��������	��� 4��������
$�����
) P0 = q0, Q0 = 1,

Ps = Ps−1qs + Ps−2, Qs = Qs−1qs +Qs−2, s = 1, 2, . . . , k.

����(�	��3�	
�� ��* s = 0, 1 �	
�������� �&�
����� ��
��	��� &	� �	
�����2
��� 
���� ��* s. ������3��

[q0, q1, . . . , qs+1] = [q0, q1, . . . , qs−1, qs +
1

qs+1
],


�����

q′s = qs + q−1

s+1,

(s+ 1)2�1 
��0��*6�1 ���"3 δs+1 ����� (�
���	3 
 
��� s2�: 
��0��*6�: ���"�A

δs+1 = [q0, q1, . . . , qs−1, q
′
s].

���
��� (���3 q′s �� �"*(�� "�	3 ,����� D� ��)� 
�&������* 4�����3��� ��� ��
	��"�1	 ,���&��������	� q′s. �� 
���
�������1 �����,�� ��* δs+1 = Ps+1/Qs+1

��� s2�: 
��0��*6�: ���"� ������

Ps+1 = Ps−1q
′
s + Ps−2 = Ps−1(qs + q−1

s+1) + Ps−2,

Qs+1 = Qs−1q
′
s +Qs−2 = Qs−1(qs + q−1

s+1) +Qs−2.

���	���
Ps+1

Qs+1
=

Ps−1(qs + q−1
s+1) + Ps−2

Qs−1(qs + q−1
s+1) +Qs−2

=

Ps−1qs + Ps−2 + Ps−1q
−1
s+1

Qs−1qs +Qs−2 + +q−1
s+1Qs−1

=

Ps + Ps−1q
−1
s+1

Qs +Qs−1q
−1
s+1

=

Psqs+1 + Ps−1

Qsqs+1 +Qs−1
.

K	��� �����	�
��: 
���0�� 
�(������ !������ ����(����
K	��� &����	��� Ps � (������	��� Qs ����� 
�&����	3 
� �0���

s 0 1 2 · · · s · · · k

qs q0 q1 q2 · · · qs · · · qk
Ps 1 P0 = q0 P1 = P0q1 + 1 P2 = P1q2 + P0 · · · Ps = Ps−1qs + Ps−2 · · · Pk

Qs 0 Q0 = 1 Q1 = q1 Q2 = Q1q2 +Q0 · · · Qs = Qs−1qs +Qs−2 · · · Qk

(�����) D�:	� 
��0��*6�� ���"� ��* 3614/189� D�
������ &	�

3614/189 = [19, 8, 4, 1, 1, 2].

$'



K�����

s 0 1 2 3 4 5

qs 19 8 4 1 1 2
Ps 1 P0 = P1 = P2 = P3 = P4 = P5 =

19 19× 8 + 1 153× 4 + 19 631× 1 + 153 784× 1 + 631 1415× 2 + 784
= 153 = 631 = 784 = 1415 = 3614

Qs 0 Q0 = Q1 = Q2 = Q3 = Q4 = Q5 =
1 8 8× 4 + 1 33× 1 + 8 41× 1 + 33 74× 2 + 41

= 33 = 41 = 74 = 189

���	���

δ0 =
19

1
, P0 = 19, Q0 = 1,

δ1 =
153

8
, P1 = 153, Q1 = 8,

δ2 =
631

33
, P2 = 631, Q2 = 33,

δ3 =
784

41
, P3 = 784, Q3 = 41,

δ4 =
1415

74
, P4 = 1415, Q4 = 74,

δ5 =
3614

189
, P5 = 3614, Q5 = 189.

2��-���� 	�
5�
�4�5 
����-�  ��(� 
������	�*� &	� s = 0, 1, 2, . . . , k � 
�� 
��2
���� 
��(� �	���*	�* � &���� a/b = 3614/189.

�� Ps, Qs ∈ Z� 
��&�� Qs ∈ N ��* 
��0 s � Q1 < Q2 < · · · < Qk.
(�����) %������	��� ��&���* � 
��
��� &���� �"��(�1	 
�(���	�16�1 
�2

�����
�	��3���	3A 1 < 33 < 41 < 74 < 189
�� Ps−1Qs − PsQs−1 = (−1)s.
,��
-
���&��	�) ����� ��������	3 �����,��: 
� s = 1, 2, . . . , k. ���	3 s = 1�

K���� P0 = q0, Q0 = 1, P1 = q0q1 + 1, Q1 = q1. !����

P0Q1 − P1Q0 = q0q1 − (q0q1 + 1)× 1 = −1.

��
��	��� &	� �	
�������� 
���� ��* s� !���� Ps+1 = Psqs + Ps−1, Qs+1 = Qsqs +
Qs−1, �

PsQs+1 − Ps+1Qs = Ps(Qsqs +Qs−1)− (Psqs + Ps−1)Qs = PsQs−1 − Ps−1Qs.

%��&�	 
� 
���
�������1 �����,��

PsQs+1 − Ps+1Qs = −(−1)s.

K	��� �����,�����: 
���0�� 
�(������ B	
�������� ����(��� 
�����	31�
(�����)

P0Q1 − P1Q0 = 19× 8− 153× 1 = −1,

�/



P1Q2 − P2Q1 = 153× 33− 631× 8 = 1,

P2Q3 − P3Q2 = 631× 41− 784× 33 = −1,

P3Q4 − P4Q3 = 784× 74− 1415× 41 = 1,

P4Q5 − P5Q4 = 1415× 3614− 3614× 74 = −1.

�� D+�(Ps, Qs) = 1
����(�	��3�	
�� 8�����	 �( 
������6��� �
�:�	
�A ���� d = D+�(Ps, Qs), 	� d

@ ����	��3 &���� (−1)s, 
��	��� d = 1.
(�����) D+�(19, 1) = 1,D+�(153, 8) = 1,D+�(631, 33) = 1,D+�(784, 41) =

1,D+�(1415, 74) = 1,D+�(3614, 189) = 1.
�� |δs − δs−1| = 1

Qs−1Qs
.

����(�	��3�	
�� B	
�������� ������	 �( 4������ 
���	� � A

δs − δs−1 =
PsQs−1 − Ps−1Qs

Qs−1Qs

=
(−1)s−1

Qs−1Qs

.

$�
δ1 > δ3 > δ5 > · · · > δ2p+1 > · · · > a/b

δ0 < δ2 < δ4 < · · · < δ2p < · · · < a/b

(�����) δ1 = 153/8 > δ3 = 784/41 > δ5 = 3614/184 > a/b, δ0 = 19 < δ2 =
631/33 < δ4 = 1415/74 < a/b

������ �����	

�� ��(����	3 
 ,�
��1 ���"3 � ��:	� 
�� 
��0��*6�� ���"� ��(������*A 105
38
d

245
83
d 37

81
d 2, 71828d 3, 14159.

�� ����"��(�
�	3 
 �"����
����1 ���"3 �����16�� ,�
��� ���"� [2, 3, 1, 4]d
[2, 1, 1, 2, 1, 6, 2, 5]�

�� ����"��(�
�	3 ,�
��1 ���"3 
 �"����
����1

1 +
1

2 +
1

3 +
1

4 +
1

5

��



���� ���/	�
����	�
��� 0���)��

�
����	��#������� "
�#.�� �	� 4���,�* θ : N → C � ����
��� θ(ab) =
θ(a)θ(b), ��* �1"�0 a, b ∈ N 	���0� &	� D+�(a, b) = 1.

(��%�������) ���	3 θ @ ���3	�
����	�
��* 4���,�* � θ(a0) �= 0 ��* ����2
	����� a0 ∈ N. !���� θ(1) = 1 � θ(a) 
�����	31 �
�����*�	�* �
���� (��&���*�� 

�	�
��*0 
���	�0 &�����

����(�	��3�	
�� ������3��

θ(a0) = θ(a01) = θ(a0)θ(1), θ(a0) �= 0,

�����
θ(1) = 1.

C��� a = pα1
1 · · · pαk

k � p1 < · · · < pk, 	� 

��� ���3	�
����	�
���	� θ,

θ(a) = θ(pα1
1 ) · · · θ(pαk

k ).

!���� �"��(��� ���� �� (���� (��&���* θ(pαi
i ), ��� pi @ 
���	�� &���� � αi ∈ N, 	�

&���� θ(a) 
�&���*1	�* ����(��&�� ��* �1"�0 a ∈ N.
(�����) ������� θ(1) = 1 � θ(pα) = 2, ���� α ∈ N. !����

θ(pα1
1 · · · pαk

k ) = θ(pα1
1 ) · · · θ(pαk

k ) = 2k.

K���� ���
��� 4���,�* θ � �
���������* 
� 
��
���

θ(a) = 2k,

���� a ����	 k ��(��&��0 
���	�0 ����	���:� *
�*�	�* ���3	�
����	�
��:�
.���
� ���	3 θ1 � θ2 @ ���3	�
����	�
��� 4���,�� � θ @ 4���,�* �
�������2

��* 
� 
��
��� θ(a) = θ1(a)θ2(a). !���� θ @ ���3	�
����	�
���
����(�	��3�	
�� K����

θ(1) = θ(1)θ(1) = 1.

C��� D+�(a, b) = 1, 	�
θ(ab) = θ1(ab)θ2(ab) =

θ1(a)θ1(b)θ2(a)θ2(b) = θ1(a)θ2(a)θ1(b)θ2(b) =

θ(a)θ(b).

(��%�������) ���	3 θ @ ���3	�
����	�
��* 4���,�* � a = pα1
1 · · · pαk

k @
������&����� ��(������� &���� a. !����

∑
d|a

θ(d) =
k∏

i=1

(1 + θ(pi) + · · ·+ θ(pαi
i )).

����(�	��3�	
�� �������� ���"�� 
��
�: &��	�� ����&��� ����� ��������0 
�2
��

θ(pβ1

1 ) · · · θ(pβk

k ) = θ(pβ1

1 · · · pβk

k )

��



� �� ������3�� 
�*��: ����	��3 &���� a ����	 
�� pβ1
1 · · · pβk

k , 
 ��
�: &��	� �	�*	
	���* �� ������

'��������� 
�������- &���� n

τ(n) = (α1 + 1) · · · (αk + 1),

��� n = pα1
1 · · · pαk

k @ ������&����� ��(��������
(�����) τ(60) = 12.
)
�#.�� ����
�� µ(n) �
�����*�	�* 	��A

µ(n) =




1, ���� n = 1,
0, ���� n ����	�* �� �
����	 
���	��� &�����

(−1)k, ���� n @ 
���(
������ k ��(��&��0 
���	�0 &�����

������	�� &	� 4���,�* ��"���� @ ���3	�
����	�
���
(�����) µ(60) = 0, µ(30) = −1, µ(35) = 1.
(��%�������� ���	3 θ @ ���3	�
����	�
��* 4���,�* � a = pα1

1 · · · pαk
k @ ����2

��&����� ��(�������� !����∑
d|a

µ(d)θ(d) = (1− θ(p1)) · · · (1− θ(pk)).

����(�	��3�	
�� ����(
������ �
�0 ���3	�
����	�
��0 4���,�� θ1(a) = θ(a)µ(a)
	���� *
�*�	�* ���3	�
����	�
��:� ���	���

θ1(p) = −θ(p), θ1(p
α) = 0, α > 1.

+�	����3 
������	3 
������6�� 
�����������
/��%��	��)∑

d|a µ(d) =

{
0, ���� a > 1,
1, ���� a = 1

����(�	��3�	
��  �(3��� 
 ��&��	
� ���3	�
����	�
��: 4���,�� θ 4���,�1�
(������1 
� 
��
��� θ(a) = 1, ��* 
��0 a ∈ N.

/��%��	��)∑
d|a

µ(d)
d

=

{
(1− 1

p1
) · · · (1− 1

pk
), ���� a > 1,

1, ���� a = 1.
����(�	��3�	
��  �(3��� 
 ��&��	
� ���3	�
����	�
��: 4���,�� θ 4���,�1�

�
���������1 
� 
��
��� θ(a) = 1
a
, ��* 
��0 a ∈ N.

)
�#.�� &-���� φ(n) @ ����&��	
� ��	����3��0 &����� ���3)�0 &�� n � 
(�2
���� 
���	�0 � n. K���	 ���	� 4������

φ(n) = n
∏
i≥1

(1− 1

pi

),

��� pi @ 
���	�� ����	��� &���� n�
(�����) φ(60) = 60(1− 1

2
)(1− 1

3
)(1− 1

5
) = 240.

 ������ &-�����

D+�(a, n) = 1 ⇒ aφ(n) − 1 ≡ 0(mod a).

��



����(�	��3�	
�� D�(�
�� a �"��	���� 
� �����1 n� ���� au ≡ 1(modn). C���
a, b �"��	��� 
� �����1 n� 	� ab �"��	��� 
� �����1 nA

au ≡ 1(modn), bv ≡ 1(modn) ⇒ (ab)(uv) ≡ 1(modn).

C��� a �"��	�� 
� �����1 n, 	�

au ≡ av(modn) ⇒ u ≡ v(modn).

���	3 a1, . . . , aφ(n) @ 
����	�
�	��� 
��0 �"��	���0 ������
 
�&�	�
 
� �����1
n. C��� �0 
��0 ������	3 �� &���� a� 	� 
���&�	�* 
����	�
�	��� 
��0 �"��	���0
������
 
�&�	�
�

���������� 
�� �"��	���� 
�&�	� �
��* �
���"���A

a1 · · ·aφ(n) ≡ (aa1) · · · (aaφ(n) = aφ(n)a1 · · ·aφ(n).

������3�� a1 · · ·aφ(n) 	���� �"��	�� 
� �����1 n� �� 
���&���� &	�

aφ(n) ≡ 1(modn).

����� ������� )���� ��* �1"��� 
���	��� p � ��* �1"�0 a ∈ Z,

ap − a ≡ 0(modp)

����(�	��3�	
�� %���	��� &	� φ(p) = p − 1. B	
�������� ������	 �( 	������
;:�����

(�����) ��* �1"��� ,����� &���� a &���� a5 � a ����&�
�1	�* �������
���
,�4�����

������ �����	

�� ���	3 τ(n)@ ����&��	
� ����	���: &���� n = pα1
1 · · · pαk

k . ����(�	3� &	�

τ(n) = (α1 + 1) · · · (αk + 1).

�� D�:	� τ(5600), τ(116424).

�� D�:��	� 
�� ��	����3��� &���� ���3)�� �//� ���16�� ��
�� �$ ����	���:�

�� C��� θ(a) @ ���3	�
����	�
��* 4���,�*� 	�

∑
d|a

µ(d)θ(d) =

k∏
i=1

(1− θ(pi)),

��� n = pα1
1 · · · pαk

k @ ������&����� ��(������� &���� n � µ(n) @ 4���,�* ��"�����

!� D�:	� µ(n) ��* 
��0 n = 1, 2, . . . , 100.

��



#� ���	3 θ @ ���3	�
����	�
��* 4���,�* � θ1 =
∑

d|a θ(d). ����(�	3� &	� θ1
	���� ���3	�
����	�
���

+"��	��� 
��	3 θ �
�������� �� N � 4���,�* ψ(a) =
∑

d|a θ(a) @ ���3	�
����2
	�
��� ����(�	3� &	� θ 	���� ���3	�
����	�
���

*� ���	3 φ(n) @ ����&��	
� ,���0 &���� ����� 1 � n 
(����� 
���	�0 � n
L-���,�* ;:����M� ����(�	3� &	�

φ(n) = n

k∏
i=1

(1− 1

pi
), L���M

��� n = pα1
1 · · · pαk

k @ ������&����� ��(������� &���� n�

�� ��* n = 1, 2, . . . , 50

• 
��	���	3 ������	
� 
(����� 
���	�0 &���� ���3)�0 &�� n � 
�&����	3
φ(n).

• 
�&����	3 φ(n) � 
���631 4������ ���

• 
�&����	3 φ(n) ��
��3(�* ���3	�
����	�
���	3 4���,�� φ(n).

+� ���	3 n ∈ Z+ � F@ 4���,�* �
���������* �� ������	
� ����	���: &���� n�
���	3

G(n) =
∑
d|n

F (d).

!����
F (n) =

∑
d|n

µ(d)G(
n

d
).

� � D�:	� n� ����

• φ(11n) = 13310

• φ(7n) = 705894

��� D�:	� n� ���� φ(n) = 2496 � n ����	 
�� n = 2α5β13γ.
+	
�	A n = 6760.

��� ���
���	3 4������
∑

d|n φ(d) = n �� 
������0 n = 100, 1240.

��� ����(�	3� &	�

• φ(4n) = 2φ(2n)

• φ(4n+ 2) = φ(2n+ 1)

��� ���3(�*�3 4�������� ;:���� � -����� ��:	� ��	�	�� �	 ������*A 378 �� 11
d 493 �� 13d 46921 �� 21�

�!� D�:	� 
������11 ,�4�� 
 ���*	�&��� 
����	�
����� &����A 9100d 13219d
17300d 243402d 4732004�

�$



���� ��&���� ���
����� 
 )���, $����,�

2	���� ��5��
���� �������� ������� 
�������� ax+ by = 1
��(����� a/b 
 ,�
��1 ���"3A

a/b = [q0, q1, . . . , qk].

���	3 δk−1 @ (k − 1)2�* 
��0��*6�* ���"3 � δk−1 = Pk−1/Qk−1.
 ������� ���	3 D+�(a, b) = 1. B��
����� ax + by = 1 ����	 �����16�� ,���2

&�������� ��)����A
x0 = (−1)k−1Qk−1, y0 = (−1)kPk−1.

����(�	��3�	
� ������	 �( ���	��)���* Ps−1Qs−PsQs−1 = (−1)s, 
��
��������

 
���	� ����� ��� s = k 
���&���� &	�

(−1)kPk−1Qk + (−1)k−1PkQk−1 = 1.

������3�� Pk = a,Qk = b, �	� �(��&��	� &	�

a(−1)k−1Qk−1 + b(−1)kPk−1 = 1.

������� ���
����
ax0 + by0 = 1.

(�����) B��
����� 3614x+189y = 1 ����	 &��	��� ��)���� x = 74, y = −1415�

�����3��� ��� �� ��	���
��� 
�)�� k = 5 � δ4 = 1415/74.

��4�� ������� 
�������� ax+ by = c.
���	3 d = D+�(a, b). B��
����� ax+by = c ����	 ,���&�������� ��)���� 
 	��

� 	��3�� 
 	��� ���&�� ����� c ����	�* �� d�
���	3 (x0, y0) @ &��	��� ��)���� ���
����* ax + by = c. !���� �"6�� ��)����

�	��� ���
����* ����	 
��

x = x0 − b

d
t,

y = y0 +
a

d
t,

��� t ∈ Z.
(�����) D�:	� �"6�� ��)���� ���
����* 3614x+189y = 1. 9�� "��� ��	���
2

���� 
�)� �	� ���
����� ����	 &��	��� ��)���� x0 = 74, y0 = −1415. �� (�����
&	� &���� ���� � �.' 
(����� 
���	�A d = 1. ���	��� �"6�� ��)���� ����	 
��

x = 74− 189t, y = −1415 + 3614t.

(�����) ��)�	3 ���
����� 12x+ 15y = 4 
 ,���0 &����0�
B��
����� ��)���* �� ����	� 
�����3�� c = 4 �� ����	�* �� ���"��3)�: �"6�:

����	��3 d = 3.
(�����) ��)�	3 ���
����� 12x+ 15y = 6 
 ,���0 &����0�
B��
����� ����	 &��	��� ��)���� x0 = −2, y0 = 2 � d = 3. ���	��� �"6��

��)���� ����	 
��
x = −2− 5t, y = 2 + 4t, t ∈ Z.

��



���
�� �����	

�� K��1	 �� ��)���* 
 ,���0 &����0 �����16�� ���
����* J

• 30x+ 64y = 7

• 12x+ 86y = 16

�� ��)�	3 ���
����* 
 ,���0 &����0

• 7x ≡ 5(mod31)

• 6x ≡ 17(mod29)

• −7x ≡ 21(mod14)

�� ��)�	3 ���
����* 
 ,���0 &����0

• 53x− 17y = 25

• 47x+ 105y = 4

• 18x+ 33y = 112

• 11x+ 16y = 156

• 35x+ 16y = 2

�� ������	�� &	� &���� 
��	�����0 ,���0 	�&�� �	��(�� � ,����� ���,���
A(x1, y1), B(x2, y2) ��
�� d− 1� ��� d = (y1 − y2, x1 − x2).

!� 5���( ����3�� ,���0 	�&�� 
��0��*	 �	����� 	������3���� � 
��)�����
A(2, 3), B(7, 8), C(13, 5).

#� D�:��	� ������3)�� ��	����3��� &����� ���	��� # � ��16�� ��	�	�� � 
��
������� ��� �� ������$���

*� ���
�)�	� �
��
� � &���� #' 	���� �
�(��&��� &����� &	�"� 
���&�����
&�	���0(��&��� &���� 
�� ������� �� �� � �� ���� "� ���	
�	�	
���� ��	�	�� � �
$�

�� !��"��	�* 
������	3 	����� ��(�
��
��� �� �&��	�� �����: �$/ ��  ���2

��*����� �	���	���: ���1	�* 	��"� ��(����
 �����: ' � � �� �� 8���3�� 	��"
	��� � ������� ��(���� ���� 
(*	3� &	�"� 
������	3 	����� J !��"� ��(�	3 ��
������	� &���� �
����0 )
�
 ������ "�	3 �������3����

��)����� ���	3 x, y @ &���� 	��" ���� x � y ���	
�	�	
����� !����

9x+ 13y = 450.

�#



���	���� ,�
��1 ���"3 ��* 13/9 � 
��	���� � �� 
���631 ��)���� &��	���
���
����* 9x+ 13y = 1. K����

9 |13
−0 0

13 |9
−9 1

9 |4
−8 2

4 |1
−4 4
0

K	��� D+�(9, 13) = 1 �
9/13 = [0, 1, 2, 4].

K����
δ0 = 0, δ1 = 1, δ2 = 2/3.

K	��� k = 3, Pk−1 = 2, Qk−1 = 3. ���	���

x0 = 3, y0 = −2

@ &��	��� ��)���� ���
����* 9x+13y = 1. %��&�	 x1 = 3·450 = 1350, y1 = −2·450 =
−900 &��	��� ��)���* ���
����* 9x+ 13y = 450. K	��� �"6�� ��)���� ���
����*
9x+ 13y = 450 ����	 
��

x = 1350− 13t, y = −900 + 9t, t ∈ Z.

D�:��� 	���� t ∈ Z, &	� x, y "���	 ���	��,�	��3����A{
1350− 13t ≥ 0
−900 + 9t ≥ 0

��)���� �	�: ���	��� ����
���	
A

103
11

13
≥ t ≥ 100.

%��&�	 ,����� ��)���*�� �	�: ���	��� ����
���	
 "���	A

t = 100, 101, 102, 103.

8��	�
�� 	�"��,�
t 100 101 102 103
x 50 37 24 11
y 0 9 18 27

x+ y 50 46 42 38

.

5���� )
�
 ��
�� x+ y. �� 
����� &	� �������3��� &���� )
�
 
���&��	�* 
��
x+ y = 38. %��&�	 x = 11, y = 27.

+	
�	� �� 	��" ����� ' � �# 	��" ����� ���

�.



���" 9��
/-	���� 
���	�� $���� � ���
	����	���

������ ������������ ����� �� �������� �	���

D�
������ &	� &���� n ��(�
��	�* ���	�
���� ���� n = a · b ��* ����	���0
a, b ∈ N.  
��	�
��� ���&�� n ��(�
��	�* 
���	���

K��1	�* �
� ����
��� 
��"���� ����	��3�� 
���	�	� n.
(������
 �� I
�*�	�* �� n 
���	��J
(������
 �� 9�� ��(����	3 n 
 
���(
������ 
���	�0 �������	���: J
!����	�&���� �	� �
� 
��"���� ��
�
����	��� D� 
���	��� 
�� "��3)�0 n �	�

(���&� 
��
��6�1	�* 
 �&��3 ������� � ��
��)���� ��(��� 
��"����� ��	���0
���3(* ��)�	3 "�( 
���6� ��
����6��0 ���
31	���
�

������ &�� ������(�	3 �" ������	��0 
��
���� 
���	�	� �� ���
31	���0 
��2

���� ������3�� 
������
� ��	���	�&���� ��� *
�� ���H�(��� �� ��� ���1�	��2
��1	 
�(����16���* 	������	��

5����
10100 + 267 = 1 00 . . .00︸ ︷︷ ︸

97 �
���

267

*
�*�	�* 
��
�� 
���	�� &����� � �/� ,�4����� D� ���
31	���0 �	� ����� 
��2

���	3 
 ������3�� ������� C��� &���� �//2(��&���� 	� 	�
�&��� 
���	�� &����
�	��� 
��*��� 	��"�1	 ��* 
��
���� ������3�� ����	�

 ���*	���� &	� &����
101031 − 1

9
= 111 . . . 11︸ ︷︷ ︸

1031 ����

*
�*�	�* 
���	��� 5	�"� ��(�"��	3�* � 	����� &������ 	��"�1	�* ������3�� �����3�
��* &���� ����	���0 �
�,���3��0 	�
�
 ����� 
�:	� ���3)�� D�
������ ��

8��
�����: � 
���631 ���
31	��� efgh2� ����(��� &	� �$'��2(��&��� &����
��������

286243 − 1 = 536 . . . 207

*
�*�	�* 
���	��� ;	� 
�	��"�
��� ������3�� &���
 ��)������ 
������� D�
��2
���� &	� &���� �������� �
�����*�	�* ��� &���� 
��� 2n − 1.

 �)� 
 ��(���� ���/�� L���(���&� ��������M �� ����(���� &	� 
���	�	� n *
2
�*�	�* ���"0������ ����
��� ��* 
���	�	� &���� 2n− 1. ;	� ����
�� �� *
�*�	�*
���	�	�&���� D�
������

p1 = 22 − 1 = 3, p2 = 23 − 1 = 7, p3 = 25 − 1 = 31, p4 = 27 − 1 = 127

��:�	
�	��3�� *
�*1	�* 
���	���� �� &���� 211−1 = 2047 = 23·89 @ ��	�  �	 �
����

��
�0 ���� 
���	�0 &���� �������� L
��
�� &�	��� 
���	�0 &���� 
��
�����

������ ����	
 �� 
��
�� 
������ �
��
��
 ����� �������� �� ��
��
 ���	��� ����� � ��

�� ���
�� ���
� ��	
� ������� ��� !�� � ���" ��� #�� �����$	���� ������� %�� 
����
��
"

�

��
��
& � ������� '()*+ 
����	��� � ���,�� -��.�/�

�'




�)�M

p5 = 213 − 1 = 8191, p6 = 217 − 1 = 131071, p7 = 219 − 1 = 524287.

 �''. ����� � 4�
���*� ������ 9�������� �'2��	��: �	����	 9���4����:�����
=�������	
������ ���
����	�	� �"H*
�� �" �	���	�� �#2�� &���� ��������� K�
���(���* &���� 23021377 − 1.

 �//� ���� �$ ��*� ���) -�����: LiZ[j klmSnToM �	���� ��2�� &���� ��������
224036583 − 1. 5���� ����	 "��3)� # ��������
 ,�4� � *
�*�	�* ���"��3)�� 
��2
�	�� &����� �(
��	��� 
 ���	�*6�: �����	 L�/ ��	*"�* �//�M� ���) 
��
��*�
�	�	 4��	 ����� �
�0 �����3 �� �
��� ���
31	��� ��� \p^ VTmqlrs �� +� "�� 	��2

���
 � ��
�� ���&� ����� $ ��	� D�
�(�� � 
���	�	� &���� "��� 
���
��
�����
!��� ���0 LtZmo fTluM 
 	�&���� $ ���:� +� ��
��3(�
�� �
���,�����1 ���	���
>���0 �� ���
31	��� �� vqNmlrs vv ��� \p^ eVw[�  	���* 
��
���� "��� �������
�����,�� ���44 =��0���	 LiTx \lnRjXl[qM� ���
���� 
�	��"�
��� �� ���:�

���"���� ��(������* &���� �� 
���	�� �������	��� ����(�� �������� 8�6�2
�	
�16�� ��	��� ���
��
�*1	�* � &������ 
��*��� �/ ��� $/ ,�4� 
 ������3��
&���
� K(
��	��� ��
������ &	� &����

2293 − 1 = 159 . . . 791

*
�*�	�* ���	�
���� �� ��:	� 0�	* "� ���� ��� �������	��3 �&��3 ��
���	�� ��2
������� ���	������ 
 �	�: �"���	�A �� ���	*"�* �//� ���� ��
�� 8����0 LyNzlS
]osRZuM ��)�� $�2,�4��
�: �������	��3 ��* &���� �������� 2971 − 1. ;	� "���
������3)�� &���� ��������� ��* ��	����� �������	��� �� "��� �(
��	���

B��
�	��3��� &	� �� (��* �������	���: ����� �(��	3 *
�*�	�* �� (�������
&���� 
���	�� ��� ��	� !���� 4��	� �"�&�� ��	���
��
�1	�* � 
���631 �����2
16�: 	������ ��� �0 ��(��
�����	*���

$�����
 1���
 L�3�� -����� ��/�2��$$� ��"�	�� 1���	�� 
 !���(���� 
��2
�����	�� D� ������ (�������* ��	���	���:�M

n 
���	��⇒ an ≡ a(modn), ∀a ∈ Z.

%���	��� &	� ��* �����0 a � n ����� 
��
���	3 
�
������ �� (���1&����
	������ -���� L
� ���:��: ���� �� ���
31	���M� ;	� 
���� ���� ���� a � n
�&��3 "��3)��� D�
������ ��* &���� 
��*��� 10100. ��* �	��� �� ����� ��&���	3

�&���*	3 ��
������	
���� anA ���� ��* a = 3, n ≈ 10100 �	� &���� �	���
�	�*
������3�� "��3)��� &	� ��� ��
�(����� 
�&����	3 ���� �� ���
31	����  ���	�
�	��� ���	�	�&�� 
�&���*	3 ��	�	�� an �	 ������* �� n. ;	� ����� ����� �����	3�
��
������ 
������
�	��3���� 
�(
�����*�� 
 �
����	 � ��������*�� 
� �����1
n. ;	�	 ��	�� 
��
���� 
 �����16�: ���,���

5	�"� (���1&�	3� &	� n ���	�
���� ���	�	�&�� ��:	� 0�	* "� ������ a ∈ Z ��
���
��	
��*16��� ����
�1 an ≡ a(modn). ��* �	��� �� ����� ��0���	3 ����	���:
&���� n.

5	�"� ����(�	3 
���	�	� n ���"0����� �"��6���� 	������ -����� %���3 
�(2
����1	 �
� 
��"�����

#/



�� ���
�* 
��"���� ���	��	 
 	��� &	� ��
������	
����� �"��6���� 	������
-����� 
 ��	���� ��
����,�* ⇒ (����*�	�* �� ⇐ ��
����� 5���� �����������
1729 = 7 · 13 · 19 ���	�
���� ��

a1729 ≡ a(mod 1729), ∀a ∈ Z.

8��	�
��� &���� �"����16�� �	�� �
�:�	
�� ��(�
�1	�* &������ 9����:����
 ���*	��� 	���0 &���� "������&�� ������

8
���� 
��
�0 �/ &���� 9����:���A

5���� 9����:��� ������&����� ��(������*
561 3 · 11 · 17
1105 5 · 13 · 17
1729 7 · 13 · 19
2465 5 · 17 · 29
2821 7 · 13 · 31
6601 7 · 32 · 41
8911 7 · 19 · 67
41041 7 · 11 · 13 · 41
825265 5 · 7 · 17 · 19 · 73
413631505 5 · 7 · 17 · 73 · 89 · 107

��  	���* 
��"���� ���	��	 
 	��� &	� ����� ���� ��
������	
����� �"��6����
	������ -���� 
����� �	� ���	 �� 	�� �� ������ 
�����3�� 
��
���� ����
�* an −
a ≡ 0(modn) ��* 
��0 ,���0 a(modn) 
�&	� ���"�(����� ���� ��* n ������0
��(����
�

9�� ��)�	3 �	� 
��"���� J
���
�* 
��"���� ��)��	�* ��
��3(�
����� "���� �	��&����0 
����� 	������

-����� ��	���� ��
�����	 �"��6����� �� 
��
���� �
� 
������� ���
�� @ ����"2
���&����� �"�"6���� 	������ -�����

$�����
) n @ 
���	�� ⇒ (a+ b)n = an + bn(modn), ∀a, b ∈ Z.
���	3 n @ ��&�	���� ������ &�� ��	3 	����	���2&����
�� �"�"6���� 	������

-���� �� ��
������ &	� ���
�� I��"�
(

a
n

) ∈ {1,−1} ��* a ∈ Z,D+�(a, n) = 1
�
�����*�	�* 	��(

a
n

) ≡ a
n−1

2 (modn), ���� n @ 
���	�� ,(
a
n

) ≡ ( a
p1

)
· · ·
(

a
pr

)
, ���� n = p1 · · · pr, ��� pi @ 
���	�� &���� ,(

a
b

)
= 0, ���� D+�(a, b) �= 1,(

a
1

)
= 1, ��* 
��0 a ∈ Z.

8��
�� I��"� �(�&��	�* 
 	����� =������ !����* "�(����	�* �� �
����	�&���
(����� 
(������	�� �� �� "���� 
��
���	3 �	�	 (����� �� �	��	�� ���� �����	
��A
��
��3(�* (���� 
(������	� ����� �44��	�
�� 
�&����	3

(
a
b

)
, ���� ���� ��(��2

����� n �� 
���	�� �������	��� ���(
��	���
K( �
��������* ���
��� I��"� 
�	����	 �����16�� 4��������
�� 	������

-�����

#�



$�����
)

n@ 
���	�� ⇒ a
n−1

2 ≡
(a
n

)
(modn) ��* �1"��� a ∈ Z 	������ &	� D+�(a, n) = 1.

���� ��* "��3)�0 a � n � 
���631 ���
31	��� ����� ����� 
��
���	3 
�2

������ �� ����
�� a

n−1
2 ≡ ( a

n

)
(modn).

 �'#� ���� ��D� >�0��� ����(��� &	� �"��6���� �	�: 	������ 
�����
$�����
) C��� n ��&�	��� ���	�
��� &����� 	� a

n−1
2 �≡ (

a
n

)
(modn), 
� ���:��:

���� ��* 
���
��� 
��0 a ∈ {1, 2, . . . , n− 1}, 
(����� 
���	�0 � n.
!���� �"��(��� ��)���� 
��"���� � ����� �&�	�	3 ���
��	
���	��3����
���"���� � 
�� �6� ��	��	�*A ��	 
�&����	��3�� ���6��	
���0 
��
���� ��*


��0 a(modn). ���
�: 
����������: ��	��� &	�"� ��)�	3 �	� 
��"���� { 
���2
*	���	��: ��	��� +� ���	��	 
 �����16���  �"���� �// ���&�:��0 (��&���� �(
������	
� {1, 2, . . . , n− 1} � 
��
���� ��* ��0 ����
��

a
n−1

2 ≡
(a
n

)
= ±1(modn).

C��� �	� �� 
���� 0�	* "� ��* ������ a� 	� ����&��� n @ ���	�
���� 8 �����: �	�2
����� ���� �	� 
���� ��* 
��0 
�"�����0 ������ �// &���� a� 	� n ����	 "��3)�1

���*	���	3 &	�"� "�	3 
���	�:�

5	�"� �"���	3�* 
 �	��� 
���
������� &	� n @ �� 
���	��� �� 	������ >�0����
��* 
�*���� 4������
������ a 
���*	���	3 
�)�
��
�������� ���
����* ≤ 1/2,

��	��� 
���*	���	3 
�
������* ���
����* ��* 
��0 100 &����

≤ (1/2)100 < 0. 000000000000000000000000000001︸ ︷︷ ︸
30 ����

.

���	��� �&��3 	����� ��
��
�	3�* 
 
���	�	� n.
;	�	 ��	�� 
 ����
��� "�� 
�������� �� 8���
��� �  � `	��������� 9�� 
�2

���� 
 ��	���	�&����� ������ �� ���
���"�� ��
�	3 �	����� ����(�	��3�	
� 
��2
�	�	�� 8 �����: �	����� �� �&��3 "��	� � ����	 "�	3 
������� 
����� &�� ��2

��3(�
�	3 ������ ��	��� 
�����16�� ����� 
�������

8����16�: ��	�� ��)���* 
��"���� � *
�*�	�* 4�	����	�&������ 
�����32
�� �� (�
���	 �	 ������(����: ��
�	�(� @ �	 �"�"6����: ��
�	�(� ������� ;	�
�	
�������� �����	�* ���
�������1 ����: ����	���0 ���
������0 4���,��� K�2
0��* �( �	�: ��
�	�(� =�>� ������ 
 �'#� ���� ����(��� &	� 
 
�)�
��
�������
	��	� ����� ������	��
�	3 	��3�� 	���� a, &	�

a < 70(logn)2, a@ 
���	��.

C��� ��* 
��0 	���0 a 
�
������ ����
�� a
n−1

2 ≡ (
a
n

)
(modn), 	� ��
��3(�* �"�"2

6����1 ��
�	�(� ������ ����� ����(�	3� &	� n 
���	��� ;	�	 ��	�� ����	 �
�
�����	�	��� ���
��� ���"�� �,���� 
���(�
�1	� &	� ��* &���� ���16�� ����� �//
,�4�� ��	�� ��"�	��	 
������� $// ��( ��������� &�� �"��������� ��	����0�	*
��* ���	�	�&�� "��3)�0 n �� ��"�	��	 "��	����  	���: �����	�	�� ��	���A �� ����2

�� �� ������(����� �	
�������� @ �� ��
�	�(� �������

#�



������ ������� �	��� �����!"	� 	# ���	$ ��	�	%

5����� ���	�*6�* �( �������
�0 ,�4� ����	�* �� �	� ,�4��� ���	��� 	����
&���� *
�*�	�* 
���	�� 
 	�� � 	��3�� 
 	�� ���&��� ����� �	� ,�4�� ��
�� ��
���	3 an &����� ���	�*6�* �( n �����,�

D���
��
������* 
��������� ��
������* 
 ���	��� |gV}W 
�(
��*�	 
�&��2
�*	3 
���	�� &���� 
��� an.

��������	
���


�
��� ���� ����� �����

����� ��� �


����������

�������

�� ���	�����
 ��� ���	�����
 ���� �	���������� ����������


��� ��

��� �
�

�	������������


��� �	
�

+"��6���� � �	�: 
��,����� ���	 	���: ��(��3	�	� 5���� ���	�*6�� �( k ≤ 1200
�����, @ 
���	�� 	��3�� 
 �����16�0 
*	� ���&�*0A

k = 2, 19, 23, 317, 1031.

8�6��	
�1	 "������&�� ����� ���	�
��0 &����� ���	�*6�� �( ����0 �����,�
;	�	 4��	 
�	����	 �( �����16�: 	�������

 ������� ��* �1"��� ��	����3���� n, 
(����� 
���	��� � 10� ��6��	
��	 &�����
���	�*6�� �( �� "���� &�� n �����,� ��	���� ����	�* �� n�

����(�	��3�	
�� ��
��	��� &	� �� ���� �( n &���� a1, a2, . . . , an �� ����	�* �� n�
������3�� ��	�	�� &���� a1, a2, . . . , an �	 ������* �� n ����	 
 (n− 1)2������	���
������	
� {1, 2, . . . , n − 1}, 
� 
���,�
� ����0�� ��:��	�* 
� ���:��: ���� �
�
&���� ak � as� s < k, 	����� &	� �0 ��(���	3

ak − as = ak−s · 10s

����	�* �� n. !�� ��� &���� 10 � n 
(����� 
���	�� �	� �(��&��	� &	� &���� ak−s

����	�* �� n.

D��(
��	��� ��6��	
�1	 �� "������&�� ����� 
���	�0 &���� 
��� an.

������ &	�����' ����� (�#(����	� ( ��������

����� �
���" 
�&������* aN 
� �����1 m. +� 
�����"�	�* 
 ���
	����	���0 �
�	���	�� ��1&��� �" &�� "���	 ��	� ��&3 
 �����16�: ���,���

>1"�� ��	����3��� &���� a ����� 
����	�
�	3 
 
 
���

a =
k∑

i=0

ain
i,

#�



���
0 ≤ ai < n, i ≥ 0,


��&�� 	���� 
����	�
����� �����	
����� �������
�	��3���	3 (ak · · ·a1a0)n ���
���	�� ak · · ·a1a0 ��(�
��	�* n2���&��: (�
��31 &���� a.

(�����) ���	3 a = 3602. !���� a = 3 · 103 + 6 · 102 + 0 · 101 + 2 · 100. ���	���
3602 @ ���*	�&��* (�
��3 &���� a.

(�����) ���	3 a = 3602. !���� a = 1 · 55 + 3 · 53 + 4 · 52 + 2 � 103402 @ 52�&��*
(�
��3 &���� a.

(�����) ���	3 a = 3602. !���� a = 1 · 211 + 1 · 210 + 1 · 29 + 1 · 24 + 1 · 21 �
111000010010 @ �
��&��* (�
��3 &���� a.

9�� ��:	� n2���&��1 (�
��3 &���� aJ ��
	���� ������	� ������* � ��	�	���A

a = nq0 + r0, 0 ≤ r0 < n,

q0 = nq1 + r1, 0 ≤ r1 < n,

q1 = nq2 + r2, 0 ≤ r2 < n,

���

qk−2 = nqk−1 + rk−1, 0 ≤ rk−1 < n,

qk−1 = nqk.

!���� rk−1rk−2 · · · r1r0 � ��	3 n2���&��* (�
��3 &���� a.
(�����)

3602 = 2 · 1801 + 0, r0 = 0,

1801 = 2 · 900 + 1, r1 = 1,

900 = 2 · 450 + 0, r2 = 0,

450 = 2 · 225 + 0, r3 = 0,

225 = 2 · 112 + 1, r4 = 1,

112 = 2 · 56 + 0, r5 = 0,

56 = 2 · 28 + 0, r6 = 0,

28 = 2 · 14 + 0, r7 = 0,

14 = 2 · 7 + 0, r8 = 0,

7 = 2 · 3 + 1, r9 = 1,

3 = 2 · 1 + 1, r10 = 1,

1 = 2 · 0 + 1, r11 = 1.

K	��� �
��&��* (�
��3 &���� 3602 ��	3 111000010010.
%�
�)�� N 
 �
��&��: ���	��� �&������*A N =

∑k
i=0Ni2

i. %������ 
 
������2

�	��3���	� Nk · · ·N1N0 �����1 ,�4�� 1 �� 
��� "��
 SMa � �����1 ,�4�� 0 ��
S 
���� �	��� 
�&������ 
��� "��
 SMa ���
�� ����&�
)�*�* 
������
�	��3���	3

#�



"��
 "���� ��	��
��	���
�	3 ��� �
���" 
�&������* ak, 
�����* S ��� ?
�(
���2
��� 
 �	�
��3 2 � 
(*	3 ��	�	�� 
� �����1 m? � Ma ��� ? ��������� �� a � 
(*	3
��	�	�� 
� �����1 m.?

(�����)  �&����	3 1655 
� �����1 N = 221.
��)����� �
��&��* 
����	�
����� &���� $ ��
�� �/�� C�� ���	
�	�	
��	 
�2

�����
�	��3���	3 SM165SSM165.  �"����
 ��
�1 SM165, 
���&��� 
������
�	��32
���	3 SSM165. !����

1655 = ((165)2)2 · 165.

 Z221 �����
1652 = 42, 422 = 217, 217 · 165 = 3.

+	
�	� 1655 ≡ 3(mod 221).

�����
 ��	����	����� � ��)����� )�����

�� 
����� ��� ���
�** ����� � 
���	�0 &����0 ��	��	�* �&��3 
��
����	��3��:
� ��* ��
����
�������0 	�0�������� +�� ����� �� 	��3�� ��* 	���� &	�"� ��
�	�2

�	3 ��6���	� ��
�0 ���
31	���
� ���
���� 
 (���1&���� �6� ���� 
���������
�"���������� ����� 
�
����
 
 
��	������ ���
	����	�� � �	���	�� ��1&���

����
������� &	� �	
��
�	��1 ����� �	
��
�	3 ���"6���� L,���� &���� x
	����� &	� 0 < X < NM 
���&�	��1� ��* �	��� 
���&�	��3 �����	 �"6����	�
����
�
� &����A N � e L�	���	�: ��1&M� ��	���� 
��&����� �
�� ����
�*�A

• N = pq, ��� p � q @ "��3)�� 
���	�� &����� ��	���� B �����	 
 �����	��

• &���� e ∈ N "���	�* 
(����� 
���	�� � φ(N) = (p− 1)(q − 1).

+	
��
�	��3 
������	 
���	� x &���� E(x) = xe(modN). ;	� � ��	3 (�)�4��
�����
���"6����� ��	���� �	
��
�*�	�* 
���&�	��1�

5	�"� 
���	���
�	3 ��0����� ���"6����� 
���&�	��3 
��	�
��	 	��A

• ��0���	 d ∈ N 	����� &	� 1 ≤ d ≤ N − 1 � ed ≡ 1(modφ(N)). ;	� ���
�����
��(��)��� �����	
����� �"��(��� 
�����3�� e 
(����� 
���	 � φ(N)). ��*
��)���* ���
����* ed ≡ 1(modφ(N)) 
���&�	��3 ������ 
�&����	3 φ(N),
&	� ��* ���� �� ���	�
�	 	����� 	�� ��� φ(N) = φ(pq) = φ(p)φ(q) = (p−1)(q−
1).

• ������ ���* 
 ���
��*����� &���� y = E(x), 
���&�	��3 
�&���*�	 D(y) =
yd(modN), ��	���� � ��	3 ��0����� &���� � ��:�	
�	��3��� 
� 	������ ;:�����

yd ≡ xed ≡ xφ(N)k+1 ≡ (xφ(N))kx ≡ x(modN).

5	� �� 
���&��� 
 �	��� J +	
��
�	��1 ��	 ���"0������	� (��	3 �������	���
p � q, 	���� ��� �� ����� (��	3 ��	�� ��)�4��
��� ����&�	��3 
� 
���&������ ��2
�"6���1 ����� 
���	���
��
��	 ��0����: 	���	� !��� 
����	�* (�����)��������
��	���: 0�&�	 ������	3 ��0����� ���"6����� +� 
������� ��0���	3 �������	�2
�� p � q, � �	� (���&�� ��� �� �	��&��� 
�)� ����	 "��3)�1 
�&����	��3��1

#$



�������	3� K	��� 
�� )�4��
�� � �	���	�� ��1&�� ���")���� �	
��
�	��* 


���,�
� ����	 "�	3 ������	�� �� �� ���(�� C��� ��	3 ���� ��	���3���	� ���"6�2
��* � ������	�� ����	 
���(�:	� 
���� �	��� ������ 	� �	
��
�	��1 � 
���&�	��1

������ 
��3(�
�	3�* �	�� ��	�����

����&����* ���
	����	��� ����	 ��(
���� #��	��������! � ��#�!�!� #�3*
����

-���,�* f : X → Y ��(�
��	�* �����	������: 4���,��:� ���� f(x) �����

�&���*�	�* 
�� �1"�� x ∈ X, 
 	� 
���* ��� f−1(y) �� 
�����	�* 
�&������1

�&	� ��* 
��0 y ∈ Y. +����	�����** 4���,�* ��(�
��	�* �
����������- "
�#.��
� ��#����� L������ ��� ��(�
��	�* 4���,��: � (����	��� �
��3��M� ���� �"��	��*
4���,�* 	���� ����� 
�&������� �� �(��	3 �� ���(� 
� f ��
�(�����A �� 	�0

��� 
��� 
�� �� ���"6�	� &	� 4���,�* �"��	��* f ��6��	
��	 � �� 
�����	� f

��
�������	�* ��� �����	�����** 4���,�*�

K��1 
��	�����* �����	������: 4���,�� � �����	��� ����6�: �� ����
� ���
2
	����	�� � �	���	�� ��1&�� 
����(��� 
 �'#$ ���� B�	4��� ��44� � ���	��
Q������ 2 �
� ��������2����	���� �( 8	��4�������� ���
����	�	�� � 	���� ���34
�����3� "�
)�: 
 	� 
���* �	����	�� 9���4����:����� ���
����	�	�� ;	� ���1


��
�� 
�
��	��� 
 ��(�3 ��:
��	� `���� � <���3��� 
 �'#.� ��	�� )�4��
��
� ���)�4��
��� � ��	���0 �� ������(�
��� 
�)� 
 �	�: ���,�� � ��	3 �0 ���	�2
������ D��� �	�	 ��	�� )����� �(
��	�� 
�� ��(
����� f]g2��	��� L
� 
��
��
"��
�� ���� �
	���
M�

��
���
��

x


~~2��
�

��

�
�2

��

�
�
�
y


��� �
�
�

2

2

N, e

��
���
�	
x = yd

d

=>?*��"��������� �5���

8��"6�	� 
��� ����16�� N � e L��#�!�!- #�3�M�
Q����	� 
 	�:�� p, q, d L��#�!�!- #�3�M

%���3 N = pq,D+�(e, φ(N)) = 1, ed ≡ 1(modφ(N)) �
p, q @ 
���	�� &�����

`�4��
��A y ≡ xe(modN).
��)�4��
��A x ≡ yd(modN).

#�



(�����) ��
��	��� &	� N = 4294967297 � e = 19. ��
��	��� &	� 
���&���
���"6���� y = 2. D�:	� ��0����� ���"6���� x.

������ &�� 
���	�
�	3 � ��)���1 (���&�� ������ ������3�� ���
 �	���� 
(*	�
&���� N � e � 
�&��� φ(N) � e 
(����� 
���	�� ����� ����	3� &	� (�����)������
�� 
���6��	 ��)� ���,�� � �� &�	��	 ��)� �������

%���	��� &	� 
*	�� &���� -����

N = 225

+ 1 = 4294967297

�� *
�*�	�* 
���	��A
4294967297 = 641 · 6700417.

���	����
φ(225

+ 1) = (641− 1)(6700417− 1) = 4288266240.

I���� &	� φ(N) ����	�* �� "��3)�1 �	�
��3 &���� �� ������ �� 214. D�	�����

��
���	3� &	� φ(N)/214 ��(�����	�* 
 
���(
������ 	��0 
���	�0 &����

φ(N)/214 = 3 · 5 · 17449.

K	���
φ(N) = 4288266240 = 214 · 3 · 5 · 17449

@ ������&����� ��(��������  &��	���	�� &���� φ(N) � e 
(����� 
���	��
��)����� �����	�
�� φ(N)/e 
 
��� ,�
��: ���"�A

4288266240

19
= 225698223 +

1

6 +
1

3

.

���	���
δ0 = 225698223,

δ1 = 225698223 +
1

6
=

1354189339

6
,

�
k = 2, P1 = 1354189339, Q1 = 6.

%��&�	�
19 · 1354189339− 6 · 4288266240 = 1.

������� ���
���� 
 ��&��	
� d� �"��	���� � 19 
� �����1 φ(N) ����� 
(*	3

d = 1354189339.

%���	��� &	� d = d1 · d2, ���

d1 = 8689, d2 = 155851.

K����
2d2 ≡ 2048(modN),

2048d1 ≡ 134217728(modN).

##



8����
�	��3���
x = 2d = 134217728(modN).

+	
�	A x = 134217728.
(�����) 8	����	 
���&�� ���"6���� y = 3 (�)�4��
����� � 
���631 �	���2

	�0 ��1&�: N = 221, e = 5. ���)�4��
�	3 �	� ���"6�����
��)����� K����

N = 221 = 13 · 17.

���	���
φ(221) = (13− 1)(17− 1) = 192.

%���	��� &	�
192 = 26 · 3.

D�
������ ��	�:���1 	������ �" ��	�	��0� +�� �	
������	� &	� ����

M = m1 · · ·mn,

Mi = m1 · · ·mi−1mi+1 · · ·mn,

� xi @ ��)���� ���
����*
xiMi ≡ 1(modmi),

	�

x =

n∑
i=1

xibi

@ ��)���� ���	��� ���
�����

x ≡ bi(modmi), i = 1, . . . , n.

�������� �	� 	������ ��* ��0������* d = e−1 @ �"��	���� � e 
� �����1 φ(N).
%���	��� &	�

5−1 ≡ 2(mod 3),

5−1 ≡ 13(mod 64),


��	��� ���	��� ���
�����
ed ≡ 1(mod 64),
ed ≡ 1(mod 3).

����� 
���
���	3 	��
d ≡ 13(mod 64),
d ≡ 2(mod 3).

!�
��3 
�� ��	�
� � 
��������1 ��	�:���: 	������ �" ��	�	��0A

m1 = 64, m2 = 3, M = 64 · 3 = 192, M1 = 3, M2 = 64,

� �
��
� �� ������ ��)�	3 ���
����*

3x1 ≡ 1(mod 64), 64x2 ≡ 1(mod 3).

#.



+&�
����� &	�
x1 ≡ −21(mod 64).

������3�� 64 ≡ 1(mod 3), 	�
x2 ≡ 1(mod 3).

���	���
x = −21 · 13 · 3 + 1 · 2 · 64 = −691 ≡ 77(mod 192),

K	���
d = 77.

�
��&��* (�
��3 &���� ## ��
�� �//��/�� 
�����3��

77 = 64 + 8 + 4 + 1 = 1 · 26 + 0 · 25 + 0 · 24 + 1 · 23 + 1 · 22 + 1 · 20.

���	��� &���� ## ���	
�	�	
��	 
������
�	��3���	3 SM3SSSM3SM3SSM3.  �2
&������ ��
�1 &��	3 SM3, 
���&�� 
������
�	��3���	3 SSSM3SM3SSM3. K	���

377 = ((((((32)2)2 · 3)2 · 3)2)2) · 3.

 �
����� 
 Z221 �	� �
���,��

32 = 9, 92 = 81, 812 = 152, 152 · 3 = 14, 142 = 196, 196 · 3 = 146,

1462 = 100, 1002 = 55, 55 · 3 = 165.

K	���
377 ≡ 165(mod 221),

� ���)�4��
����� ���"6����
x = 165.

���
����A ��� "��� 
���(��� 
�)� 
 
������ 1655 ≡ 3(mod 221).
+	
�	A x = 165.

������ *��)������! ����	��

JJJJJ

#'



	���� �

�������������� ���������

��� ����	���
�� ���!��

��
��	��� &	� �� ������	
� A (����� "������* �
���,�*� K��&� ��
��*� �1"��
�
�� ������	�� a, b ∈ A ��
��	�
��� ����(��&�� �
���������: ������	 �( A, ��2
	����� "���� �"�(��&�	3 &���( ab � ��(�
�	3 
���(
������� ������	�
 a � b. K	���
(����� 4���,�*A A×A→ A, (a, b) �→ ab.

 �	�: ���,�� ��� ��	������	 
�
���A
8���3���� �
���"��� ����� ����	�
�	3 ���"�� ����� "��
��� a1, a2, . . . , ak

L
����	�
�*	3 "��
� (�
��6���M 	��� &	�"� ����(��&�� ����� "��� 
�&����	3 �0

���(
������ J

+"�(��&�� &���( αn ����&��	
� �
���"�
 ����	���
�� ���"�� �� n "��
�0� ��2
������ 
� �
��������1�

α1 = 1.

(�����) α2 = 1, α3 = 2, α4 = 5. ��:�	
�	��3��� ���1	�* 	��3�� �����16��
����	���
�� ���"��A

n = 2, (a1a2),

n = 3, (a1a2)a3, a1(a2a3),

n = 4, ((a1a2)a3)a4, (a1(a2a3))a4, (a1a2)(a3a4), a1((a2a3)a4), a1(a2(a3a4)).

$�����
�

αn+1 =
1

n + 1

(
2n

n

)
, n ≥ 0.

;	� &���� ��(�
��	�* &����� '��������
����(�	��3�	
�� ��
��	��� &	� αk �(
��	�� ��* 
��0 k = 1, 2, . . . , n − 1. !����

�� ����� ����	�
�*	3 ���"�� �� ������	
� {a1, . . . , ak} L	���0 �
���"�
 @ αkM � ��
������	
� {ak+1, . . . , an} L	���0 �
���"�
 @ αn−k M� ���	��� 
� 
��
��� 
���(
�2
����* ���1	�* αkαn−k 	���0 �
���"�
 ����	���
�� ���"��� ������3�� k 
��"����	

�� (��&���* 1, 2, . . . , n− 1, 
� 
��
��� ����� 
���&���� &	�

αn =
n−1∑
i=1

αiαn−i, n > 1. L���M

./



D�
������ &	� 
� �
��������1�
α1 = 1.

���	3
G(α) =

∑
i≥1

αix
i

@ 
���(
��*6�* 4���,�* ��* 
������
�	��3���	� αn. K( 4������ L���M ������	�
&	�

G(α)G(α) =

(
∑
i≥1

αix
i)(
∑
j≥1

αjx
j) =

∑
i,j≥1

αiαjx
i+j

=
∑
n≥2

(

n−1∑
i=1

αiαn−i)x
n =

∑
n≥2

αnx
n =

∑
n≥1

αnx
n − α1x =

G(α)− x.

K	��� �� 
���&��� �
����	��� ���
�����

G(α)2 −G(α) + x = 0.

;	� ���
����� ����	 �
� ��)���*

G(α) =
1±√

1− 4x

2
. L���M

 �&����� (1− 4x)1/2 � 
���631 4������

(1 + t)m =
∑
i≥1

(
m

i

)
ti.

D�
������ &	� (���3 m ���"*(�	��3�� ,���� � "�������3��: ���44�,���	
(

m
i

)
,

��� i ∈ Z+, 
������	�* 	��(
m

i

)
=
m(m− 1) · · · (m− i+ 1)

i!
.

8��&��� ��("�����* ����: (��� ������	 "��	3 
 4������ L���M� !�� ��� 4���,�*
G(x) �� ����	 �
�"����0 &����
� � �
�"����: &��� �*�� (1− 4x)1/2 ��
�� 1, &	�"�
�
�"����� &���� �����	����3� �&�
����� (���3 ������	 "��	3 (��� ������ K	���

G(α) =
1−√

1− 4x

2
=
∑
i≥1

−1

2

(
1/2

i

)
(−4x)i.

 
���� 
 ������	����� �
�:��� 4��	������A

(2i− 1)!! = 1 · 3 · 5 · · · (2i− 1)

(2i)!! = 2 · 4 · · · (2i)

.�



@ ���	
�	�	
����� 
���(
�����* 
��0 ��&�	��0 &���� �	 � �� 2i− 1 � &�	��0 &����
�	 2 �� 2i.

K�����

(−1)i+1

(
1/2

i

)
4i

2
= (−1)i+11/2(1/2− 1) · · · (1/2− i+ 1))

i!

4i

2
=

(−1)i+11 · (1− 2)(1− 4) · · · (1− 2(i− 1))

2i

4i

2 · i! =

1 · 3 · · · (2i− 3)2i−1

i!
=

1 · 3 · · · (2i− 3)2i−1(i− 1)!

(i− 1)!i!
=

(2i− 1)!!(2(i− 1))!!

(i− 1)!i!
=

1

i

(
2(i− 1)

i− 1

)
.

!���� �"��(���

G(α) =
∑
n≥1

1

n

(
2(n− 1)

n− 1

)
xn.

 &��	���	��

αn =
1

n

(
2(n− 1)

n− 1

)
, n ≥ 1,

&	� � 	��"�
����3 ����(�	3�


���� ��������	(��� ��������()	 �)�+�)

JJJ


���� ,���%	��	(��� ��������()	 �)�+�)
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���� �����	

��� :��

�

5	�"� �
������	3 ���

� ����� (���	3 &�	��� 
�6�A

• ������	
� G
• ��������� ◦ L"������� �
���,�*M
• �����,� e L/2����* �
���,�*M

.�



• f : G→ G, a �→ f(a) L������* �
���,�*M

B�������� @ "������* �
���,�* �� G� C����,� @ ����	���: 
��������: ���2
���	 ������	
� G� C����,� ������ ��(�
�1	 ��:	���3��� ������	��� 5�	
����
(G, ◦, e, f) L��� ���	�� GM ��(�
��	�* ���

�:� ���� 
�
������ �����16�� ����
�*

a ◦ (b ◦ c) = (a ◦ b) ◦ c, ∀a, b, c ∈ G L����,��	�
���	3M

a ◦ e = e ◦ a = a, ∀a ∈ G L�����,�M

a ◦ f(a) = e, ∀a ∈ A.
��������� ����
�� �"�&�� 
���
���
��	�* 	��A

∀a ∈ G ∃b ∈ G, 	���:� &	� a ◦ b = e.

;�����	 f(a) ��(�
��	�* �"��	��� ������	�� � �"�&�� �"�(��&��	�* 	��A a−1 ���
−a.

:������ ���

� @ ���

� � 	�����	
�� a ◦ b = b ◦ a ��* 
��0 a, b ∈ G.
(�����) ���	3 G = Z, a ◦ b = a + b, e = 0. !��:�� (Z,+, 0) L��� ���	�� ZM

�"��(��	 �"���
� ���

��
(�����) Z �	����	��3�� ��������* a · b �� �"��(��	 ���

� (Z, ·, 1)
(�����) ������	
� ��
���������0 ��	��, GLn = {X ∈Matn|detX �= 0} �	2

����	��3�� ��������* ��	��, � �����,� E = (δi,j) L�����&��* ��	��,�M �"��(��	
���"���
� ���

��

(�����) ���	3 X @ ����&��� ������	
� � F(X,X) @ ������	
� 
(�����2
����(��&��0 4���,�� �� ������	
� X. ���	3 id ∈ F(X,X) 	�����	
����* 4���2
,�*A

id(x) = x, ∀x ∈ X.
D�
������ &	� ���
�(�,�* 4���,�� f · g �
�����*�	�* 
� 
��
���

f · g(x) = f(g(x)), f, g ∈ F(X,X).

!���� ������	
� A = F(X,X) �"��(��	 ���

� �	����	��3�� �����16�0 �
���,��A

• �
���,�� ���
�(�,��
• �����,� e = id

• � �	����	��3�� �
���,�� 
(*	�* �"��	��: 4���,���
����������#� @ 
(�����2����(��&��* 4���,�* �� ������	
� �( ������	�
� 9��


��
���� 
 ��&��	
� �	��� ������	
� "���	 ������	
� &���� �	 1 �� n.
������	
� 
����	���
�� G = Sn �	����	��3�� �
���,�� ��������* 
����	���2


�� a ◦ b � �	����	��3�� ������	�

e =

(
1 2 · · · n
1 2 · · · n

)

�"��(��	 ���

��

.�



�	��
������� ���������	
� H ⊆ G ��(�
��	�* 
�����

�: ���

� G, ����
a ◦ b ∈ H ��* �1"�0 a, b ∈ H. +"�(��&����A H ≤ G.

������

� H ≤ G ��(�
��	�* ������3��� ����	����� ���� a ◦ h ◦ a−1inH ��*
�1"�0 a ∈ G � h ∈ H. +"�(��&����A H � G.

���	3 G � F@ ���

� �	����	��3�� ��������� ◦ � �� -���,�* α : G → F
��(�
��	�* �������4�(���� ����

α(a ◦ b) = α(a) � α(b), ∀a, b ∈ G.

I��� �������4�(�� �
�����*�	�* ���A

Ker α = {a ∈ G|α(a) = e}.

��� e �����,� 
 ���

� F.
���
�������� ���	3 G � H ���

� � α : G → F @ �������4�(� ���

� !����

Ker α @ ������3��: ����	��3 ���

� G.
����(�	��3�	
�� 8
��
����
� ��
����,��

a, b ∈ Ker α⇒ α(a) = e, α(b) = e⇒

α(a ◦ b) = α(a) � α(b) = e � e = e⇒ a ◦ b ∈ Ker G.
������� ���
���� Ker α @ 
�����

� ���

� G. ������

a ∈ Ker α, b ∈ G⇒ α(a) = e⇒ α(b ◦ a ◦ b−1) = α(b) � α(a) � α(b)−1 =

α(b) � e � α(b)−1 = α(b) � α(b)−1 = e⇒ b ◦ a ◦ b−1 ∈ KerG.

K	��� Ker α @ ������3��: ����	��3 ���

� G.
�	��
������� K�H��	�
��: �������4�(� ��(�
��	�* 
�������� L��� �������2

4�(���M� 81�H��	�
��: �������4�(� ��(�
��	�* ���������� L��� �
����4�(2
���M�

$�����
L9���M� ��* �1"�: ���

� G 
��*��� n ��6��	
��	 
������� G→ Sn.
����(�	��3�	
�� ��* �1"��� a ∈ G �
������� 4���,�1 La : G→ G 
� 
��
���

La(b) = a ◦ b.

!����
La◦b(c) = (a ◦ b) ◦ c = a ◦ (b ◦ c) = a ◦ Lb(c) = La(Lb(c)).

K���� ���
����
La◦b = La · Lb,

��� · �"�(��&��	 ���
�(�,�1 4���,�:� %���	��� &	�

La = id⇒ La(b) = b, ∀b ∈ G⇒ a ◦ b = b⇒ a = e.

K	��� �	�"�������
G→ F(G,G), a �→ La

(����	 ��H��	�
��: �������4�(� ���

� G 
 ���

� 4���,�� F(G,G).

.�



������� ���
���� �1"�* ����&��* ���

� �(����4�� 
�����

� ���

� 
���2
�	���
��� %���	��� &	� 	�	 ����
�� ����&���	� ���

� ����6��	
�����

����
�# ������	� a ∈ G �	� 	���� &���� m� &	� am = e, �� am−1 �= e.
����
�# ��
		! @ ����&��	
� �� ������	�
 �
@�#�����#�� ��
		� @ ���

� 
���������* ����� ������	���
(��%�������) (a ◦ b)−1 = b−1 ◦ a−1.
����(�	��3�	
��

(a ◦ b) ◦ (b−1 ◦ a−1) = (a ◦ (b ◦ b−1)) ◦ a−1 = (a ◦ e) ◦ a−1 = a ◦ a−1 = e.

'���� ��������� L��
�: ����� �������	�M �	����	��3�� 
�����

� H ≤ G @

��������	
� ���

� G 
��� a ◦H = {a ◦ h|h ∈ H}�

���
�: ����� �������	� �	����	��3�� 
�����

� H ≤ G @ 
��������	
� ���
2

� G 
��� H ◦ a = {h ◦ a | h ∈ h}.

>���� 
���	3� &	� ���� H � G @ ������3��: ����	��3� 	� 
��
�� � ��
��
������� ������ ��

���1	�

(�����) ���	3

S3 =

{
e =

(
1 2 3
1 2 3

)
, a1 =

(
1 2 3
1 3 2

)
, a2 =

(
1 2 3
3 2 1

)
,

a3 =

(
1 2 3
2 1 3

)
, a4 =

(
1 2 3
2 3 1

)
, a5 =

(
1 2 3
3 1 2

)}
@ ���

� 
����	���
�� �� 	��0 ������	�0� =��

� S3 ����	 
�����

� 
��*��� �

H = {e, a1}.
+	����	��3�� �	�: 
�����

� ������� ������ 	���
�A

>�
�� ������� ������ ���
�� ������� ������
e ◦H = {e, a1} H ◦ e = {e, a1}
a2 ◦H = {a2, a5} H ◦ a2 = {a2, a4}
a3 ◦H = {a3, a4} H ◦ a3 = {a3, a5}

�� 
����� &	� ��
�� � 
��
�� ������� ������ ��(���� 
��	��� H �� *
�*�	�*
������3��� ����	���� 
 S3.

(�����) =��

� S4 ����	 
�����

�

H =

{
e =

(
1 2 3 4
1 2 3 4

)
, b1 =

(
1 2 3 4
2 1 4 3

)
, b2 =

(
1 2 3 4
3 4 1 2

)
, b3 =

(
1 2 3 4
4 3 2 1

)}
.

>�
�� � 
��
�� ������� ������ �	����	��3�� H �������
�A
JJJJJJ
���	��� H @ ������3��: ����	��3 
 S4.
$�����
 L>������M� ���	3 G ����&��* ���

� � H ≤ G @ �� 
�����

�� !����


��*��� 
�����

� |H| *
�*�	�* ����	���� 
��*��� ���

� |G|.
����(�	��3�	
�� +
������� �	��)���� R 
 ���

� G 
� 
��
��� aRb, ���� a ◦

b−1 ∈ H. !���� R �	��)���� ��
�
����	���	�� ��:�	
�	��3���

aRa, 
�����3�� a ◦ a−1 = e ∈ H

.$



L��4�����
���	3M�

aRb⇒ a ◦ b−1 ∈ H ⇒ (a ◦ b−1)−1 ∈ H ⇒ b ◦ a−1 ∈ H ⇒ bRa

L�����	��&���	3M�

aRb, bRc⇒ a ◦ b−1 ∈ H, b ◦ c−1 ∈ H ⇒ a ◦ c−1 = (a ◦ b−1) ◦ (b ◦ c−1) ∈ H ⇒ aRc

L	���(�	�
���	3M�
9���� ��
�
����	���	� �	����	��3�� �	��� �	��)���* ��
�
����	���	�� ��� ��

�
�����*�� 
�)�� ��(�
��	�* 
��
�� ������� �������	�� ���	3 H ◦ g1, . . . , H ◦
gk @ ��
�������16���* ������ �������	�� =��

� G ����� 
����	�
�	3 
 
���
�"H�������* ��
�������16�0�* ������
 �������	�A

G = ∪k
i=1H ◦ gi.

%���	��� &	�
|H ◦ g| = |H|,

��* �1"��� g ∈ G. ��:�	
�	��3���
h ◦ g = h1 ◦ g, h, h1 ∈ H ⇒ h = (h1 ◦ g) ◦ g−1 = h1.

!���� �"��(���

|G| =
k∑

i=1

|H ◦ gi| = |H|k,

�
|G|/|H| ∈ Z.

/��%��	��) >1"�* ���

� 
��*��� p, ��� p @ 
���	�� &����� *
�*�	�* ,����2
&����:�

����(�	��3�	
�� ���	3 a ∈ G 
���(
��3��: ������	 �	��&��: �	 e. ������	���

�����

�� 
���������1 ������	�� a� �� 	������ >������� �� 
��*��� *
�*�	�*
����	���� p� ������3�� a �= e, �	�	 
��*��� "��3)� �� %��&�	� 
��*��� ������	� a
��
�� p� ������� ���
���� ���

� G 
�������	�* ����� ������	��� ;	� �(��&��	�
&	� G @ ,����&����*�

2
���
���) B	
��������� �"��	��� � 	������ >������� �� 
����� C��� d @
����	��3 
��*��� G, 	� �	� �� (��&�	� &	� G ����	 
�����

� 
��*��� d. D�
������
(����
��������* ���

� A4 
��*��� �� �� ����	 
�����

� 
��*��� ��

(�����) =��

� �����	��� 
��
��3���� 	������3�����
%��������� 
��)��� 
��
��3���� 	������3���� ,�4���� 1, 2, 3.���	3 h1, h2, h3

@ 
���	� �
�6����� �( 
��)�� 1, 2, 3.

�
�
�
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�
�
�
��

A1 A3

A2

h1h3

h2

.�



8����	��* ���������3���� @ 
(�����2����(��&��� �	�"������� 
��)�� ���2
������3���� 
 ��"* ��0���*16�� ���������3����

���
��3��: 	������3��� ����	 )��	3 �����	���A

φ1 = 	�����	
����� 
���"��(�
����,

φ2 = 
�
���	 
����� ,��	�� 
��	�
 &���
�: �	����� �� ���� 2π/3

φ3 = 
�
���	 
����� ,��	�� 
��	�
 &���
�: �	����� �� ���� 4/pi/3,

θ1 = �	������� �	����	��3�� 
���	� h1,

θ2 = �	������� �	����	��3�� 
���	� h2,

θ3 = �	������� �	����	��3�� 
���	� h3.

���	3 G @ ������	
� �����	��� 
��
��3���� 	������3����� %������ �� ������	
�
G "������1 �
���,�1 @ ���
�(�,�1 4���,���

���
���� ��
������ &	�
φ2 ◦ θ1 = θ2.

K�����
φ2 ◦ θ1(A1) = φ2(θ1(A1)) = φ2(A1) = A3,

φ2 ◦ θ1(A2) = φ2(θ1(A2)) = φ2(A3) = A2,

φ2 ◦ θ1(A3) = φ2(θ1(A3)) = φ2(A2) = A1,

������3��
θ2(A1) = A3,

θ2(A2) = A2,

θ2(A3) = A1,

�	� �(��&��	� &	� φ2◦θ1 = θ2. <������&��� �"��(�� ����� 
�&����	3 
�� 
�
�����

���(
�����* ������	�
 ������	
� G. ����&����* 	�"��,� ��������� ��(�
��	�*
	�"��,�: 9����

�� (����� &	� ���
�(�,�* 4���,�� @ ����,��	�
��* �
���,�*� !�����	
�����

���"��(�
���� ���	
�	�	
��	 �����,��  (�����2����(��&��� 4���,�� ���1	 �"2
��	��� 4���,�� �	����	��3�� ���
�(�,��� !���� �"��(��� ������	
� �����	���
G �	����	��3�� �
���,�� ���
�(�,�� � �����,� e = φ1 �"��(��	 ���

��

!�"��,� 9��� ��* ���

� �����	��� 
��
��3���� 	������3����

◦ φ1 φ2 φ3 θ1 θ2 θ3
φ1 φ1 φ2 φ3 θ1 θ2 θ3
φ2 φ2 φ3 φ1 θ2 θ3 θ1
φ3 φ3 φ1 φ2 θ3 θ1 θ2
θ1 θ1 θ3 θ2 φ1 φ3 φ2

θ2 θ2 θ1 θ3 φ2 φ1 φ3

θ3 θ3 θ2 θ1 φ3 φ2 φ1

(�����) =��

� �����	��� �
����	��

.#



=��

� �����	��� 
��
��3���� n2����3���� ��(�
��	�* ���

�: ������ � �"�2
(��&��	�* &���( Dn. ����� 
���(�	3� &	� Dn ����	 2n ������	�
 � ���

� 
����2
���	�* �
��* ������	��� a, b � �"��(�16��� ���	��)���*��

an = e, b2 = e, bab = an−1.

���������	����� �	� ��"�1����� �� 
������ �
����	� n = 4.
9
����	 A1A2A3A4 ����	 &�	��� 
��6���� 
��	�
 &���
�: �	�����A
a1 @ 
�
���	 
����� ,��	�� �� 0d
a2 @ 
�
���	 
����� ,��	�� �� π/2d
a3 @ 
�
���	 
����� ,��	�� �� πd
a4 @ 
�
���	 
����� ,��	�� �� 3π/2d

� &�	��� �	������*A
b1 @ �	������� �	����	��3�� ������� �	���� B1B3d
b2 @ �	������� �	����	��3�� ��������� A2A4d
b3 @ �	������� �	����	��3�� ������� �	���� B2B4d
b4 @ �	������� �	����	��3�� ��������� A3A1d

�
�
�
�
�
��

�
�
�
�
�

A1

A2 A3

A4

B1

B2

B3

B4

����� ��
���	3 	�"��,� ��������� 
 	������0 �	�0 
�
���	�
 � �	��������
�� 
��	�
�� ������3�� ���&�� ���	���� ���

� � 
���631 �"��(�16�0 � �
��2
���*16�0 ���	��)�����

 �(3��� 
 ��&��	
� �"��(�16�0 �
� ������	� a = a1, b = b1. !���� 
�� ���2
��	��� �
����	� ����� 
���&�	3 �( �	�0 �
�0 ������	�
 � 
���631 �
���,��
��������*� D�
������ a3 = a3.

K��1	 ���	� �����16�� ���	��)���*

a4 = e, b2 = e, b ◦ a ◦ b = a3.

���
����� ��
������ 
�������� ���	��)����� 8 ����: �	����� �����

(b ◦ a ◦ b)(A1) = (b ◦ a)(b(A1)) = (b ◦ a)(A2)) = b(a(A2)) = b(A1) = A2,

(b ◦ a ◦ b)(A2) = (b ◦ a)(b(A2)) = (b ◦ a)(A1)) = b(a(A1)) = b(A4) = A3,

(b ◦ a ◦ b)(A3) = (b ◦ a)(b(A3)) = (b ◦ a)(A4)) = b(a(A4)) = b(A3) = A4,

(b ◦ a ◦ b)(A4) = (b ◦ a)(b(A4)) = (b ◦ a)(A3)) = b(a(A3)) = b(A2) = A1.

8 �����: �	����� a3 @ 
�
���	 �� ���� −π/2� 	����

a3(A1) = A2, a3(A2) = A3, a3(A3) = A4, a3(A4) = A1.

K	��� �� 
��
������ &	� b ◦ a ◦ b = a3.

..



�� 
���&���� &	� G = {e, a, a2, a3, b, a ◦ b, a2 ◦ b, a3 ◦ b}. D�
�)�� 	�"��,� ����2
����*� ��* �
��6���* �"�(��&���� �
��	�� (���� ��������* � 
���	� ai◦b "����

���	3 aib.

e a a2 a3 b ab a2b a3b
e e a a2 a3 b ab a2b a3b
a a a2 a3 e ab a2b a3b b
a2 a2 a3 e a a2b a3b b ab
a3 a3 e a a2 a3b b ab a2b
b b a3b a2b ab e a3 a2 a
ab ab b a3b a2b a e a3 a2

a2b a2b ab b a3b a2 a e a3

a3b a3b a2b ab b a3 a2 a e

������ 	������
���� �
�0 ���

 { ���

� (������* �� ������	
� G1 × G2

L�����	�
� 
���(
������M �	����	��3�� �
���,�� ��������*

(a1, a2) ◦ (b1, b2) = (a1 ◦1 b1, a2 ◦2 b2),

��� ◦1 � ◦2 @ ��������* 
 ���

�0 G1 � G2.
(�����) =��

� 9��:�� G = {a, b | a2 = e, b2 = e, ab = ba} ����	 ��
�� &�	���

������	� e, a, b, ab. >1"�� ���
� 
��	������� �( �
�0 "��
 R 
���631 ��)�0 �
��2
���*16�0 ���	��)���� �
���	�* � ������ �( �	�0 &�	���0 ������	�
� D�
������
&��� ��
�� ���
� abba � bababbaa J +	
�	 
���	A

abba = aea = a2 = e,

bababbaa = babaee = baba = baab = beb = bb = e.

!�"��,� ��������* 
 ���

� 9��:��

e a b ab
e e a b ab
a a e ab b
b b ab e a
ab ab b a e

;	� ���

� �(����4�� 
�*���� 
���(
�����1 �
�0 ,����&����0 ���



G ∼= Z2 × Z2.

K(����4�(� f : G→ Z2 × Z2 ����� (���	3 	��A

f(e) = (0, 0), f(a) = (0, 1), f(b) = (1, 0), f(ab) = (1, 1).

%���3 Z2 = {0, 1} 
������	�* ��� ���

� 
�&�	�
 
� �����1 � �	����	��3�� ���2
����*�

.'




���� �����	

�� ���
��3	� �"��(�1	 �� �����16�� ������	
� ���

� �	����	��3�� ���	
�	2
�	
�16�0 �
���,��

• Z �	����	��3�� ��������*

• Z �	����	��3�� 
�&�	���*

• Q �	����	��3�� �������*

• Q �	����	��3�� ��������*

• Q \ {0} �	����	��3�� ��������*
• R �	����	��3�� �
���,�� ◦ 	���:� &	� a ◦ b = a+ b+ 2.

• R \ {−1} �	����	��3�� �
���,�� ◦ �
���������: 
� 
��
��� a ◦ b = a+ b+ ab.

• ������	
� ��&�	��0 &���� �	����	��3�� ��������*

�� ����(�	3� &	� ���

� �����	��� 
��
��3���� 	������3���� �(����4�� ���
2

� 
����	���
�� S3.

�� ���	3 G = R\{0,−1}.+
������� )��	3 4���,�� fi : G→ G, i = 1, 2, 3, 4, 5, 6,
�
���������� 
� 
��
����

f1(x) = x, f2(x) = 1− x, f3(x) =
1

x
,

f4(x) =
1

1− x
, f5(x) = 1− 1

x
, f6(x) =

x

x− 1
.

����(�	3� &	� G �	����	��3�� �
���,�� ���
�(�,�� �"��(��	 ���

�� ���	��:	�
	�"��,� ��������*� ������	�� &	� 
���&����* ���

� �(����4�� ���

� 
����	�2
��
�� S3.

�� ����(�	3� &	� ���

� � 	�����	
�� a2 = e �"���
��

!� ����(�	3� &	� ������	
� Z∗
n = {i ∈ Z|0 < i < n,D+�(i, n) = 1} �"��(�1	

���

�� D�:	� �� 
��*����

#� ���	���	3 	�"��,� ��������* ���

� Z∗
30.

*� 9�����4�,���
�	3 
�� ���

� 
��*��� �� "���� &�� #�

�� ���	���	3 	�"��,� ��������* ���

� �����	��� 
��
��3���� 	������3��2
���

+� ���	���	3 	�"��,� ��������* ���

� �����	��� �
����	��

'/



� � ���	���	3 	�"��,� ��������* ���

� �����	��� 
�*������3���� � ��(2
���� �	��������

��� D�:	� (��� 
����	���
��

NM

(
1 2 3 4 5
2 4 1 5 3

)
OM

(
1 2 3 4 5 6 7
7 6 2 4 1 5 3

)

��� B�����	3 
����	���
��

(
1 2 3 4 5
2 4 1 5 3

) (
1 2 3 4 5
5 3 4 2 1

)
��� ���	3 Z[i] = {a + bi|a, b ∈ Z} @ ������	
� =�����
�0 &����� I
�*�	�* ��

���

� Z[i] ,����&����: J

��� D�����
�	3 	�"��,� ��������* � ��:	� 
��*��� 
��0 ������	�
 
 ���

�
{±1,±i,±j,±k}, ��� i2 = j2 = k2 = −1, ij = k = −ji, jk = i = −kj, ki = j = −ik.
;	� ���

� ��(�
��	�* ���

�: �
�	�������
�

�!� ���	���	3 	�"��,� ��������* 
���������: �
��* ������	��� a, b � � 
�2
�����16��� ���	��)���*�� a4 = e, b2 = a2, bab−1 = a−1. ����(�	3� &	� �	�
���

� �(����4�� ���

� �
�	�������
�

�#� ���	3 G @ ���

� 
���������* ��	��,���

(
0 1
−1 0

)
�

(
0 1
1 0

)
�	����2

	��3�� ��������* ��	��,� ����(�	3� &	� ���"���
� ���

� 
��*��� . � I
�*�	�*
�� �	� ���

� �(����4��: ���

� �����	��� �
����	� ��� ���

� �
�	�������

QJ

�*� ����(�	3� &	� ���

� ������Dn L���

� �����	��� 
��
��3���� n2����3����M

�(����4�� ���

� 
���������: ��	��,���

(
0 1
1 0

)
�

(
η 0
0 η−1

)
�	����	��3��

��������* ��	��,� ��� ���
������� η = e
2πi
n @ ����� �	�
��� n �( ��

��� D�:	� ���

� �����	��� �����&����


• (x1 + x2)(x3 + x4)

• (x1 − x2)(x3 − x4)

• (x1 − x2)
2 + (x2 − x3)

2 + (x3 − x4)
2 + (x4 − x5)

2.

�+� ���	���	3 	�"��,� ��������* 
���������: �
��* ������	��� a, b � � 
�2
�����16��� ���	��)���*�� a3 = b2 = e, ab = ba2.

� � ���	3 G @ ���

� � Z(G) = {a ∈ G|ab = ba, ∀b ∈ G} @ �� ,��	�� ����(�	3�
&	� Z(G) *
�*�	�* �"���
�: 
�����

�: ���

� G.

��� ����(�	3� &	� �1"�* 
�����

� ������� � *
�*�	�* ������3��� ����	�����

��� ����(�	3� &	� ���

� 
����	���
�� S4 ����	 �
� ������3��0 ����	��*A

'�



• (����
��������* 
�����

� A4 �

• 
�����

�� �(����4��* ���

� 9��:��
{
(

1 2 3 4
1 2 3 4

)
,

(
1 2 3 4
2 1 4 3

)
,

(
1 2 3 4
3 4 1 2

)
,

(
1 2 3 4
4 3 2 1

)
}

��� ����(�	3� &	� &�	��� 
����	���
�� �"��(�1	 ���

��

��� D�:	� 
��*��� (����
��������: ���

��

��� 9��/)� � 
��'

5	�"� �
������	3 ���3,� ����� (���	3 
*	3 
�6�:A

• ������	
� K
• �������� + L"������* �
���,�*M

• ���3 0 L/2����* �
���,�*M

• f : K → K L������* �
���,�*M

• ��������� ◦ L"������* �
���,�*M
�*	���� (K,+, ◦, 0, f) L��� ���	�� KM ��(�
��	�* ���3,��� ���� 
�
������ �����2
16�� ����
�*A

• (K,+, 0, f) @ �"���
� ���

�

• a ◦ (b+ c) = a ◦ b+ a ◦ c L���	��"�	�
���	3 �
��
�M
• (a + b) ◦ c = a ◦ c+ b ◦ c L���	��"�	�
���	3 ���
�M

+"�&�� f(a) ��(�
��	�* �"��	��� ������	�� L�	����	��3�� ����	�
��: �
���,��
+M � �"�(��&��	�* 	��A −a. C��� 
�
������ ����
�� ����,��	�
���	� ��������*

a ◦ (b ◦ c) = (a ◦ b) ◦ c, ∀a, b, c ∈ K,

	� ���3,� ��(�
��	�* ����,��	�
���� C��� 
�
������ ����
�� ��6��	
�
���� ���2
��,� �	����	��3�� ��������*

a ◦ e = e ◦ a = a, ∀a ∈ K,

	� ���3,� ��(�
��	�* ���3,�� � �����,�:� C��� 
�
������ ����
�� �����	�	�
��2
�	� ��������*

a ◦ b = b ◦ a, ∀a, b ∈ K,
	� ���3,� ��(�
��	�* �����	�	�
����  � �����0 �&�"����0 ����
�* ����,��	�
2
���	�� �����	�	�
���	� � ��6��	
�
���� �����,� �
	���	�&���� 
���
�����1	�*�

(�����) (Z,+, ·, 0, 1) ����,��	�
��� �����	�	�
��� ���3,� � �����,�:�

'�



(�����) (Matn,+, ◦, 0, 1) �"��(��	 ����,��	�
���� �� �������	�	�
��� ���3,�
� �����,�:� %���3 X ◦ Y @ �"�&��� ��������� ��	��,� 0 @ ����
�* ��	��,� � 1 @
�����&��* ��	��,��

����� <���,��	�
��� �����	�	�
��� ���3,� � �����,�: (K,+, ·, 0, 1) L��� ���	��
K� ����� *��� � ����� ��������� ��������� � � ����0 ��:	���3��0 ������	�0 0�
1 ���	 ��&3M ��(�
��	�* 
����� ���� 
�
������ ����
�� ��6��	
�
���� �"��	����
������	�

∀a ∈ G ∃b ∈ G, 	���:� &	� a · b = 1.

(�����) +	����	��3�� �"�&��0 �
���,�� �������*� ��������* � &���� /� �
�����16�� &����
�� ������	
� �"��(�1	 
���A (Q,+, ·, 0, 1), (R,+, ·, 0, 1), (C,+, ·, 0, 1).
+	����	��3�� �������* � ��������* 
� �����1 � ������	
� Z2 = {0, 1} �"��(��	

���� ;	� 
����� ����&���� 
��*�


���� �����	

�� ����(�	3� &	� Q[
√

2] = {a + b
√

2|a, b ∈ Q} �"��(��	 �����	�	�
��� ���3,��
"���� 	��� 
���� �	����	��3�� �
���,�� ��������* � �������* &�����

�� ���	3 P (X) @ "����� ������	
� X. ����(�	3� &	� (P (X),⊕,∩) @ ���3,� �	2
����	��3�� �
���,�� �����	��&����: ��(���	� ⊕ � 
�����&���* ∩� ���	���	3 	�"2
��,� ��* ⊕ � ∩ ��� X = {a, b, c}.

�� ����(�	3� &	� �	�"������� f : P (X) → Z2, f(∅) = 0̄, f(X) = 1̄, (����	
�(����4�(� ����,� ���� |X| = 1.

�� ����(�	3� &	� �	�"������� f : Z24 → Z4, f(x(mod 24)) = x(mod 4), *
�*�	�*
�������4�(��� ����,�

!� ���	���	3 �(����4�(� ����, Z2 × Z3
∼= Z6

#� ���	3 (R,+, ·) @ ���3,�� +
������� ��
�� �
���,�� ⊕ � ◦ �� R 
� 
��
����

r ⊕ s = r + s+ 1, r ◦ s = r · s+ r + s.

• ����(�	3� &	� (R,⊕, ◦) @ ���3,��
• D�:	� ���3	�
����	�
��� � ����	�
��� �����,� (R,⊕, ◦).
• ����(�	3� &	� ���3,� (R,⊕, ◦) � (R,+, ·) �(����4���

*� ��(����	3 �����&��� x3 + 2x2 + x+ 2 �� �����&��� x2 + 2 
 ���3,� Z3[x].

�� D�:	� ���"��3)�: �"6�: ����	��3 �����&����
 x4 + x3 + 3x− 9 � 2x3 −x2 +
6x− 3 
 Q[x].

+	
�	A −9
4
x2 − 27

4
.

'�



+� ����(�	3� &	� Zn @ 
��� 	���� � 	��3�� 	����� ����� n @ 
���	���

� � ���
���	3� &	� ���3,� =�����
�0 &���� Q[
√−3] �� �"�����	 �
�:�	
�� ��2

��(��&���	� ��(������* �� 
���	�� �������	���� D�
������

4 = 2 · 2 = (1 +
√−3)(1−√−3).

��� ;����� 
����%�
����

�!�#��!����� @ 
����������� �	����	��3�� ��	����� ����	 ����� ��
���	3�
��	���� ��� ��� ������

(�����) ?sin2 x+ cos2x = 1? @ 
����(�
����� 
��&�� ��	����� 
����(�
�����
(�����) ?C�	3 �� ��(�3 �� ����� J? @ �� 
����(�
�����
(�����) ?<���	� 2 �	���,� 9�(�0�	���? @ 
����(�
����� ������ ������ 
�2

���(�
�����
(�����) ?8����: ����)��� (������? @ �� 
����(�
�����
�	���.�� ��
 �!�#��!��������
 ��(� 
 	�"��,�0 ��	�����	� 
���	� ���
 ?K�	���? � ?>��3? "���� 
���	3

���	�� ?K? � ?>? ��� ?�? � ?/�?
����.���� 
����(�
���* p̄d ��� ��	����� ���� p ����� � ���"���	� p̄ ������

���� p ��	����� !�"��,� ��	�����	�A

p p̄
0 1
1 0

+	��,���� 4������(��	 &��	�,� ?��?�
'��13�#.�� �!�#��!����� p&q @ ��	���� 	���� � 	��3�� 	����� ����� p � q

��	����� !�"��,� ��	�����	�A
p q p&q
1 1 1
1 0 0
0 1 0
0 0 0

9��H1��,�* 4������(��	 ��1( ?�?�
���13�#.�� �!�#��!����� p ∨ q @ ��	���� 	���� � 	��3�� 	����� ����� 0�	* "�

���� �( 
����(�
���� p, q ��	����� !�"��,� ��	�����	� A

p q p ∨ q
1 1 1
0 1 1
1 0 1
0 0 0

��(H1��,�* 4������(��	 ��1( ?���?�

'�



0�	��#�.�� �!�#��!����� p → q @ ������ 	���� � 	��3�� 	����� ����� 
����2
(�
���� q ������ �� p ��	����� !�"��,� ��	�����	� A

p q p→ q
1 1 1
0 1 1
1 0 0
0 0 1

K�
����,�* 4������(��	 ��1( ?����� 	� ?� ���	��� ��
����,�1 ������ ��(�
�1	
����
��� 
����(�
������

8 ����
��� 
����(�
����� p→ q �
*(��� �6� 	�� 	�
� 
����(�
����A

• q → p ���
����* 
����(�
���* p→ q

• p̄→ q̄ ��
����* 
����(�
���* p→ q

• q̄ → r̄ ���	��
�(�,�* 
����(�
���* p→ q

(�����) ���	3 p � q �����16�� 
����(�
���*A
p E ?�����	 
 4�	"��?
q E ?�� 
�
��*���?�

!����
p→ qE?C��� �� �����	 
 4�	"��� 	� �� 
�
��*���?�

��* �	�: ��
����,�� �����A
���
����*A C��� �� 
�
��*���� 	� �� �����	 
 4�	"��
��
����*A C��� �� �� �����	 
 4�	"��� 	� �� �� 
�
��*���
���	��
�(�,�*A C��� �� �� 
�
��*���� 	� �� �� �����	 
 4�	"���

��" ����
� 0���)���

�
���! "
�#.��L��� 4���,�� ����"�� ������M @ 4���,�� �������	� � (��&�2
��* ��	���0 
������1	 (��&���* 0 � 1.

>���&����� 
����(�
���* ����� 
����	�
�	3 ��"� ��� "���
� 4���,�1� ����

�� � 
�����	3 ��	��� � 
�� / @ ���3�

 ����.� ����������� ����
� 4���,�1 f(p1, . . . , pk) �	 k �������	�
 �����
(���	3 � 
���631 	�"��,�

p1 p2 . . . pk−1 pk f(p1, . . . , pk)
0 0 · · · 0 0 f(0, 0, . . . , 0, 0)
0 0 · · · 0 1 f(0, 0, . . . , 0, 1)
0 0 · · · 1 0 f(0, 0, . . . , 1, 0)
· · · · · · · · · · · · · · · · · ·
1 1 · · · 1 1 f(1, 1, . . . , 1, 1)

L�	���� 
��"���1	 
��
�(������ 
�����	� 0 � 1d ����&��	
� �	��� @ 2kM� ;	� 	�"2
��,� ��(�
��	�* 	�"��,�: ��	�����	� 4���,�� f(p1, . . . , pk)

$�����
 � 8�6��	
�1	 22n
��(��&��0 "���
�0 4���,�� � n �������	����

'$



����(�	��3�	
�� ��� 
��	������ 	�"��, ��	�����	� �� �"������3� &	� �12
"�1 "���
� 4���,�1 �	 n �������	�
 ����� 
����	�
�	3 ��"� ��� 4���,�1 ��
������	
� �( 2n ������	�
 L2n �	��� ����� nM �� (��&���*�� 
 ������	
� �(
�
�0 ������	�
 {0, 1}. �� (����� &	� |F(A,B)| = mn, ��� |A| = n, |B| = m, �
F(A,B) = {f : A → B} @ ������	
� 4���,�� �( A 
 B. ���	��� ������	
�
"���
�0 4���,�� �	 n �������	�
 ����	 
��*��� 22n

.
 ���������� ����
� 4���,�* ��(�
��	�* 	�
	������:� ���� ��� 
�������	 (��2

&���� � 
�� �1"�0 (��&���*0 �������	�
�
(�����) p ∨ p̄ @ 	�
	�����*�
(�����) ?��	3 ��� �� "�	3? @ 	�
	�����*�
(�����) ?C��� �� ���� � "���	� 	� �� "���	 ? @ 	�
	�����*
������������� ����
� 4���,�* ��(�
��	�* 
��	�
���&���� ���� ��� 
�������	

(��&���� / 
�� �1"�0 (��&���*0 �������	�
�
(�����) p ∧ p̄ @ 
��	�
���&���
(�����) ?+� �
����	�* 
 ��
��
����� <���	� � �
����	�* 
 
��	�
�
�������

��
��
����� ? @ 
��	�
���&���
,������#�� �	���.��
K���	�* �
� /2����0 "���
�0 4���,��

• 	�����	
����: ���3 0�

• 	�����	
����* �����,� 1�

8�6��	
�1	 � ������0 "���
�0 4���,��� K( ��0 �
� ���1	 ����6��	
�����

���������� 8�6��	
����� �2����� "���
� 4���,��A

• 	�����	
����* 4���,�* p
• �	��,���� p̄
8�6��	
�1	 �� "������0 "���
�0 4���,��� K( ��0 ' ���1	 ����6��	
�����


���������� 8�6��	
����� "������� "���
� 4���,�� (���1	�* 	��A

p q & ∨ ⊕ ≡ → ↑ ↓
0 0 0 0 0 1 1 1 1
0 1 0 1 1 0 1 1 0
1 0 0 1 1 0 0 1 0
1 1 1 1 0 1 1 0 0

9�� �	��&��� 
�)� ����	���� 4���,�� ���1	 �
�,���3��� ��(
���*

• p&q @ ���H1��,�* L��� ����&����� ���������Md &�	��	�* ? p � q ?

• p ∨ q @ ��(H1��,�* L��� ����&����* �����Md &�	��	�* ? p ��� q?
• p⊕ q @ ����� 
� �����1 � L��� ���4��	�&����* �����Md &�	��	�* ?p 
�1� q?

• p ≡ q @ ��
�
����	���	3d &�	��	�* ?p ��
�
����	�� q?

• p→ q @ ��
����,�*d &�	��	�* ?�( p ������	 q? ��� ?p 
��&�	 q?

'�



• p ↑ q @ )	��0 `�44��� Lp ∧ qMd &�	��	�* ? �� p � q?
• p ↓ q @ �	����� ����� Lp ∨ qMd &�	��	�* ?�� p ��� q?
&#������������� "���
��-������ f(p1, p2, . . . , pk), g(p1, p2, . . . , pk) ��
�
����	2

�� � ���� ��

���1	 �0 	�"��,� ��	�����	��
 ��
����� ���������� �!�#��!������

• p ∨ p ≡ p, p ∧ p ≡ p L����
�	��	���	3M

• p ∨ q ≡ q ∨ p, p ∧ q ≡ q ∧ p L�����	�	�
���	3M
• (p ∨ q) ∨ r ≡ p ∨ (q ∨ r), (p ∧ q) ∧ r ≡ p ∧ (q ∧ r) L����,��	�
���	3M
• (p∨ q)∧ r ≡ (p∧ r)∨ (q ∧ r), (p∧ q)∨ r ≡ (p∨ r)∧ (q ∨ r) L���	��"�	�
���	3M
• p ∨ F ≡ p, p ∧ F ≡ F,
p ∨ T ≡ T, p ∧ T ≡ p L��:	���3���	3M

• ¯̄p ≡ pL��
��1	�
���	3M

• p ∨ p̄ ≡ T, p ∧ p̄ ≡ F
T̄ ≡ F, F̄ ≡ T L��
�������M

• (p ∨ q) ≡ p̄ ∧ q̄, (p ∧ q) ≡ p̄ ∨ q̄ L�� ������M
�����#�3����� ���	��	 �( 
���
������� L��
�	�(M � (���1&���* L
�
���M� B��2

(���1&���� 
��
��3��� ���� (���1&���� ��	���� � 
�*��: ��( ����� ��	���� ���
��
�	�(�� +"�(��&����A

P1, P2, · · · , Pk  Q
���

P1

P2
���
Pk

{@
Q

��� P1, P2, . . . , Pk @ 
���
������ � Q @ (���1&�����
(�����) C��� p 
��&�	 q � q 
��&�	 r� 	� p 
��&�	 r� ������� ���
���� �����2

16�� ���(���1&���� 
����

p→ q, q → r  p→ r %���� �������(��.

��* �	��� �� ������ 
��
���	3� &	� �����16�� 
����(�
���� *
�*�	�* 	�
	���2
���:A

(p→ q) ∧ (q → r) →)p→ r)

���
���� �	�	 4��	 
��	���
 	�"��,� ��	�����	�
&����������� 
��13�#.�� xδ = xδ1 ∨ xδ2 ∨ · · · ∨ xδk

k , ��� δ1, . . . δk = 0, 1 � x1
i =

xi, x
0
i = x̄.

'#



&����������� #��13�#.�� xδ = xδ1 ∧ xδ2 ∧ · · · ∧ xδk
k , ��� δ1, . . . δk = 0, 1 � x1

i =
xi, x

0
i = x̄.
���13�#������ ���������� "���� L�D-M @ ��(H1��,�* ������	����0 ���H2

1��,���
������ �D-� (p ∧ q̄) ∨ (p ∧ q̄ ∧ r)
'��13�#������ ���������� "���� L9D-M @ ���H1��,�* ������	����0 ��(H2

1��,���
������ 9D-� (p̄ ∨ q) ∧ (p̄ ∨ q̄) ∧ (p̄ ∨ r̄)
2���������� 
��13�#������ ���������� "���� L8�D-M @ ��(H1��	�
��* ���2

���3��* 4����� 
 ��	���: ��	 �
�0 �������
�0 ������	����0 ���H1��,�� � ���2
��* ������	����* ���H1��,�*� 
0��*6�* 
 ���� ��������3��� ;�����	����: ���H2
1��,�* �	 
��������0 (p1, p2, . . . , pn) ��(�
��	�* ��������3��:� ���� �����* 
�2
�������* pi �( ��"��� (p1, p2, . . . , pn) 
0���	 ��
�� ���� ��( 
 
��� pi ��� 
 
���
p̄i.

(�����) (p1 ∧ p̄2 ∧ p3) ∨ (p̄1 ∧ p2 ∧ p3) @ 8�D-�
(�����) (p1 ∧ p̄2 ∧ p3) ∨ (p̄1 ∧ p2 ∧ p3) ∨ (p1p̄2 ∧ p3) �� *
�*�	�* 8�D-�
2���������� #��13�#������ ���������� "���� L89D-M @ ���H1��	�
��* ���2

���3��* 4����� 
 ��	���: ��	 �
�0 �������
�0 ��(H1��,�� � �����* 
0��*6�*

 ��: ������	����* ��(H1��,�* ��������3��� ;�����	����* ��(H1��,�* �	 
�2
�������0 (p1, p2, . . . , pn) ��(�
��	�* ��������3��:� ���� �����* 
��������* pi �(
��"��� (p1, p2, . . . , pn) 
0���	 ��
�� ���� ��( 
 
��� pi ��� 
 
��� p̄i.

(�����) (p1 ∨ p2 ∨ p̄3) ∧ (p̄1 ∨ p2 ∨ p3) ∧ (p1 ∨ p2 ∨ p̄3) @ 89D-�
(�����) (p1 ∨ p2 ∨ p̄3) ∧ (p̄1 ∨ p2 ∨ p3) ∧ (p1 ∨ p2) @ �� *
�*�	�* 89D-�
 ������ A������ L��(H1��	�
��* 4��������
���M >1"�* "���
� 4���,�*

f(p1, . . . , pn) 
����	�
��� 
 
���

f(p1, . . . , pk, pk+1, . . . , pn) = ∨δ &k
i=1p

δi
i &f(δ1, . . . , δk, pk+1, . . . , pn),

��� δi = 0, 1; i = 1, 2, . . . , k,

pδi
i = { pi 
�� δi = 1,

p̄i 
�� δi = 0
.

%���3 ��(H1��,�* 
��
���	�* 
� 
��� ��"���� δ = (δ1, . . . , δk).
 
�����3��� ���&�� n = k �� 
���&���� &	� �1"�* ������
�* "���
� 4���,�*


����	�
��� 
 
��� 8�D-A
>1"�* ������
�* "���
� 4���,�* f(p1, p2, . . . , pn) 
����	�
��� 
 
���

f(p1, p2, . . . , pn) = ∨δ &k
i=1p

δi
i .

%���3 ��(H1��,�* 
��
���	�* 
� 
��� ��"���� δ = (δ1, δ2, . . . , δn), �� ��	���0
f(δ1, δ2, . . . , δn) = 1.

 ������ A������L���H1��	�
��* 4��������
���M >1"�* "���
� 4���,�*
f(p1, . . . , pn) 
����	�
��� 
 
���

f(p1, . . . , pk, pk+1, . . . , pn) = ∧δ (∨k
i=1p

δ̄i
i ∨ f(δ1, . . . , δk, pk+1, . . . , pn)),

'.



��� δi = 0, 1; i = 1, 2, . . . , k,

pδi
i = { pi 
�� δi = 1,

p̄i 
�� δi = 0
.

%���3 ���H1��,�* 
��
���	�* 
� 
��� ��"���� δ = (δ1, . . . , δk).
 
�����3��� ���&�� n = k �� 
���&���� &	� �1"�* ������
�* "���
� 4���,�*


����	�
��� 
 
��� 89D-A
>1"�* ������
�* "���
� 4���,�* f(p1, p2, . . . , pn) 
����	�
��� 
 
���

f(p1, p2, . . . , pk) = ∧δ (∨k
i=1p

δ̄i
i ).

%���3 ���H1��,�* 
��
���	�* 
� 
��� ��"���� δ = (δ1, δ2, . . . , δn), �� ��	���0
f(δ1, δ2, . . . , δn) = 0.

)
�#.��������� 	�������
JJJ
����
 '����
(�����)


���� �����	

�� 8��	�
�	3 	�"��,� ��* ����&����0 �
���,��� 4������(�16�0 ��1(A

• ?��?
• ?0�	* "�?

�� 9�� � 
���631 ����&����0 �
���,�� (�
���	3 
����(�
���*A

• p ���	�	�&��� ����
�� ��* q,

• p ���"0������ ����
�� ��* q,

• p, 	��3�� ���� q,

• p ���"0������ � ���	�	�&��� ����
�� ��* q.

�� ���	3 p �(��&��	 ?8�����* 0������? � q �(��&��	 ?���	 ����3?� 5	� �(��&�1	
�����16�� 
����(�
���* J

• p̄

• p ∧ q
• p ∨ q
• q ∨ p̄

''



�� ���	3 p �(��&��	 ?8	����	 &�	��	 ?c�� <��)?� q �(��&��	 ?8	����	 &�	�2
�	 ?;��
����29? ? � r �(��&��	 ?8	����	 &�	��	 ?C����� ��(���	��??� D�
�)�	�
�����16�� 
���������* 
 ���
���&����: 4����A

• 8	����	 &�	��	 ?c�� <��)?� ?;��
����29?� �� �� &�	��	 ?C����� ��(�2
��	��??�

• B	
�������� ?8	����	 &�	��	 ?c�� <��)? � ?;��
����29? ? �� 
�����

• B	
�������� ?8	����	 &�	��	 ?C����� 9�(�0�	��? ��� ?;��
����29?� �� ��
&�	��	 ?c�� <��)? ? �� 
�����

!� ���	���	3 	�"��,� ��	�����	� ��* p̄ ∧ q

#� ����(�	3� &	� 
����(�
���� p ∨ p ∧ q *
�*�	�* 	�
	������:�

*� ����(�	3� &	� 
����(�
���* p ∧ q � p̄ ∨ q̄ ����&���� ��
�
����	���

�� ����
�)�	� �����16�� ����
��� 
���������* "�( ��
��3(�
���* ����
��A

• C��� 0������� 	� �� ����
��	 )�
��
• C��� ���	�	 
�����	�
���	3� 	� �(������ 
���1	

+� D�
�)�	� �	��,���� �����16�0 
����������A

• C��� ��� ��"�	��	� 	� ��� 
���&��	 (��
��	�
• +� 
��
��	 ���� � 	��3�� ���� 
��� 	�
��*
• C��� ���	 ����� 	� �� �� 
���	 �
	���"��3

� �  ���� �� �����16�� ����������*A

• p→ q, p̄  q̄
• p→ q, q̄  p̄
• p→ q̄, r → q, r → p̄

��� ���
��3�� �� �����16�� ����������* J

• C��� �
� �	����� 	������3���� ��
��� 	� 
��	�
�
������� ���� 	���� ��
2
��� �
� �	����� 	������3���� �� ��
��� 8����
�	��3��� 
��	�
�
�������
���� �� ��
���

• C��� # ���3)� &�� � 	� # �� 
���	��� # "��3)� &�� �� 8����
�	��3��� # 
��2
�	���

�//



��� ���
���	3 �"6�(��&����	3 4������ � 
���631 ������	�� 9
�:��

(((p ∧ q) → r) ∧ (p→ q)) → (p→ r)

��� ���
���	3 �"6�(��&����	3 4������ � 
���631 ������	�� �����,��

((p ∧ q) → r) → (p→ (q → r))

��� ����(�	3 
�
������	3 4����� 
 ��&������� 
����(�
����

• p→ q, q → r  p→ r

• p→ (q → r)  q → (p→ r)

• p→ (q → r)  (p ∧ q) → r

• p→ q  (p ∧ r) → (q ∧ r)
• p→ q  (p ∨ r) → (q ∨ r)
• p̄  p→ r

�!�  �
����� �� �����16�� 4������ 
 ��&������� 
����(�
���� J

• (p ∨ q) → (p ∧ q)
• ((p→ q) → q) → p

• ((p→ q) → q) → q

• p ∨ p̄→ (p ∨ p̄)
• p→ p→ p̄

• (p→ q) → (q → p)

�#� 8���3�� ��6��	
�1	 ��(��&��0 �
����	��0 ����&����0 �
���,�� J

�*� 8���3�� ��6��	
�1	 ��(��&��0 �����	�	�
��0 �
����	��0 ����&����0
�
���,�� J

��� ���	3 Mn(r) @ &���� "���
�0 4���,�� � r ����6��	
������ 
�����������
����(�	3� &	�

Mn(r) =

(
n

r

) n−r∑
k=0

(−1)k

(
n− r

k

)
22n−r−k

, r = 0, 1, . . . , n− 1.

B��(����� ���	3 Ai @ ������	
� "���
�0 4���,�� f(x1, . . . , xn) � ����6��	
��2
��: 
��������: xi. !���� ������	
� Ai1∩· · ·Aik ����� 
����	�
�	3 ��� ������	
�
"���
�0 4���,�� � 2n−k �������	���� ���	��� �������� 	������ � ����&��	
� "�2
��
�0 4���,��

|Ai1 ∩ · · · ∩Aik | = 22n−k

.

%���	3�� &	� r ����6��	
����0 
��������0 ����� 
�"��	3 �
(

n
r

)
�
���"��� � 
��2

����	� 	������ 
��1&���* � ����1&���*�

�/�



��+ ����
� ����!��

����
� ����"�� �
�����*�	�* ������	
�� � 
*	31 �
���,�*��� ���	3 A @ �����2
�	
� � (����� �
� "������ �
���,�� (a, b) �→ a + b, (a, b) �→ a · b, ���� ������*
�
���,�* a �→ ā � �
� ���32����� �
���,�� 0, 1. +�� ���
��	
��*1	 �����16��
(������

x+ y = y + x, x · y = y · x L�����	�	�
���	3M
x+ (y + z) = (x+ y) + z, x · (y · z) = (x · y) · z L����,��	�
���	3M

x · (x+ y) = x, x+ (x · y) = x L
����)����M

x+ (y · z) = (x+ y) · (x+ z), x · (y + z) = x · y + x · z L���	��"�	�
���	3M
x · 0 = 0, x+ 0 = x, x · 1 = x, x+ 1 = 1 L���
�����3��� �����,�M

x · x̄ = 0, x+ x̄ = 1 L��
�������M

!���� A ��(�
��	�* ����
�: ����"��:�
/��%��	�� ��

x+ x = x, x · x = x L(����� �� �������M

����(�	��3�	
�� ����	�
�� 
 ������� 
����6���* y = x · x� K�����
x(x+ x · x) = x,

x+ x · x = x.

���	���
x · x = x.

������ �	
�������� x + x = x � 	���� �����16�� �����	
�* ����(�
�1	�*
�������&��� �"��(���

/��%��	�� ��

x · y = x̄+ ȳ, x+ y = x̄ · ȳ L����
�	��	���	3M
/��%��	�� ��

x̄ = x L��
��1	�
���	3M

$�����
 L����,�
 �
�:�	
�����	�M >1"�* �"6�(��&���* 	������ � "���
�0
����"��0� 
 4��������
�� ��	���: �&��	
�1	 	��3�� �
���,�� ?U?� ?·? � ?ā? ��	�2
�	�* �"6�(��&���:� ���� 
 �� 4��������
�� 
�1�� (�����	3 ?U? �� ?·? � ���"���	�

����(�	��3�	
��  �� ������� "���
�: ����"�� 
�� 	���: (����� ��	�1	�* 
 ��2
��� ������3�� 
�� �	
�������* "���
�0 ����"� 
�	���1	 	��3�� �( 	���0 �������
	� �1"�� 	���� ����(�	��3�	
� 
�� 
�)����(����: (����� 
��
��6�1	�* 
 ����2
(�	��3�	
� �
�:�	
������ �	
�������*�

(�����) ���	3 P (A) "����� ������	
� A� D������ ������	
� P (A) �
��* "�2
������� �
���,�*�� ∨,∧� ������: �
���,��: @ ��
������� � 
 ��&��	
� 0 
�(3���

��	�� ������	
� ∅ � 
 ��&��	
� 1 
�(3��� A� !���� (P (A),∨,∧,̄ , 0, 1) "���	 "���
�:
����"��:�

(�����) ���	3 D(n) ������	
� ����	���: &���� n. +
������� ��������� �
�������� JJ 
� 
��
���� JJJ � ���	3 JJJJ � !���� *
�*�	�* "���
�: ����"��:�

�/�



��1 ��&�	��

 �	�� 
���	� ������	
� ��	����3��0 &���� N �
��*��&�
��	�* �	����	��3��

��*��� ?�������	3?A a ≺ b⇔ a|b.

�� ���	3 Dm @ ������	
� ����	���: &���� m� ����(�	3� &	� Dm �	����	��3��
�
���,�� a + b = a ∨ b = D+9(a, b), a � b = a ∧ b = D+�(a, b) 
��
��6��	�* 

������&����1 ���	��"�	�
��1 ��)�	���

�� D�
���	3 ���
�� ≺,! ��� ‖ L�� ���
����M ����� �����16��� 
����� &����
2 8; 18 24; 9 3; 5 15.

�� I
�*1	�* �� �����16�� 
��������	
�N ����:�� �
��*��&������ {24, 2, 6};
{3, 15, 5}; N; {2, 8, 32, 4}; {7}; {15, 5, 30} J

�� ���	3 A = {1, 2, 3, 4, 5}@ ������	
� � ���������: Q����

�
�
�
�

�
��

�
�

�

4

2

5

1

3

• ����	�
�	3 (���� ≺,! ��� ‖ ����� 
����� ������	�
 1 5; 2 3;
4 1; 3 4

• D�:	� ��������3��� � �������3��� ������	� ������	
� A. K���	 �� A

��
�: � 
�������: ������	 J

• ���	3 L(A)@ ������	
� 
��0 ����:�� �
��*��&����0 
��������	
 �����2
�	
� A � � ��� "���� ������	���� �
��*��&����� 
� 
��1&���1� D�����
�	3
��������� Q���� ��* L(A).

!� ���	3Dm @ ������	
� ����	���: &����m� ����(�	3� &	� ��)�	�� Dm �	����2
	��3�� �
���,�� a+ b = D+9(a, b), a � b = D+�(a, b), *
�*�	�* ����
�: ����"��:�
���� m �� ����	�* �� �
����	 
���	��� &����� D�:	� �	��� Dm.

��3 ������-$�	��/��� �,���

 �'�. ���� 9��� `����� (���	�� �
*(3 ����� ����	��&������ ,�
*�� � "���
�2
�� 4���,�*���

9��31��,�1 p∧q ����� 
����	�
�	3 ��"� 
 
��� 
������
�	��3���� ���������*

�����1&�	���: p � q.

�/�



=|⊃ � �
xy

�
�

5	�"� (��������3 ���
�&�� ���"0����� (�����	3 �"� 
�����1&�	��*A

=|⊃ x y
�
�
��

!���� ���
�������� 
�����1&�	���: ��(�
��	�* ����&����� ������	�� p � q ���
�5���- �������#��� 
��������� ;	�	 ����&����: ������	 �"�(��&��	�* 	��A

�
�

�

��(H1��,�1 p∧q ����� 
����	�
�	3 ��"� 
 
��� 
������
�	��3���� ���������*

�����1&�	���: p � q.

=|⊃
�

�
�
�x

y

5	�"� (��������3 ���
�&�� ���	�	�&�� (�����	3 0�	* "� ���� �( 
�����1&�	���:A

=|⊃
�

�
�
��

x

y

!���� ���
�������� 
�����1&�	���: ��(�
��	�* ����&����� ������	�� p ��� q
��� �5���- �������#��� ��������� ;	�	 ����&����: ������	 �"�(��&��	�* 	��A

�
�

�

������	��� 
�����1&�	��3��1 �0��� � ����� 
�����1&�	���� p �"����16�*
	���� �
�:�	
��� &	� ���
�&�� (������	�* 	���� � 	��3�� 	����� ����� �� ��(�2
����	� ;	� �0��� ���	
�	�	
��	 �	��,���1 p̄ � ��(�
��	�* ����&����� ������	��
�� ��� #����������� +"�(��&����A

��
�� ���

�/�



(�����) ������1&�	��3��* �0��� ��* 
�������* p ∧ q ∧ r̄

��
�� � ��

�

�

�
�

p
q

r
p ∧ q ∧ r̄

(�����) JJJ

x
y

�
�

� x ∧ y

x
y

� x ∨ y�

�

x
��
�� �� x̄�


�
�� �����	

�� ���������	��

�� ���	���	3 �0��� 	��0���
�)���� 
�����1&�	��*� 8
�	 ������ "�	3 
��12
&��� ���� (�����	� 
� ���:��: ���� �
� 
�����1&�	��*�

+	
�	A pqr + pq̄r̄ + p̄qr̄ + p̄q̄r

�/$



	����  

	����

"�� (���
��� �
��������'

5	�"� (���	3 ���4 G ����� (���	3 ������	
� ������ V = V (G) � ������	
�
����� E = E(G)� 	���:� &	� E ⊆ V × V. C��� e = (u, v) @ ��"��� 	� 
��)��� u � v
��(�
��	�* ����&���� 	�&���� ��� 
��)����� ��"�� e.  	���0 ���&�*0 ��
��*	�
&	� u � v ������! �� &	� 
��)��� u � v ��.�
����! � ��"��� e � ���"���	� ��"��
e ��.�
����� � 
��)����� u � v � ������ �"�(��&�1	 e = uv.

JJJ ��	�*� ���3	����4� ����	�: ���4 JJJJ
5	�"� (���	3 �����	���
�����: ���4� ����� ������	
� 
��)�� � ��"�� �����

(���	3 �����	�,�1 ��"��� C��� e = −→uv @ �����	���
����� ��"��A

�����
�

	� ��
��*	� &	� u @ ������ � v @ #���. ��"�� e.
�����
� @ 
������
�	��3���	3 
��)�� � ��"�� v0e0v1e1 . . . vs−1es−1vs 	���:�

&	� ei = (vi−1, vi) @ ��"�� � 
��)����� vi−1 � vi. +"�&�� 
���	� �"�(��&���*
v0e0v1e1 . . . vs−1es−1vs 
�)�	 ���	�� v0v1 . . . vs−1vs.

@�#� @ ���)��	� � ��	���0 ��&��3��* � ����&��* 
��)��� ��

���1	�
@�	� @ ���)��	� 
 ��	���� 
�� ��"�� ��(����
������� .�	� @ ,�
3 �� �������6�* 
�
	��*16�0�* 
��)��� 	��� ,�
3 �� 
���2

����16�* ��"*�
�����.� ��.�
�������� (ai,j) @ ��	��,� 
��*��� n×m, ��� n = |V | � m = |E|.

8	���� ���������1	�* ������	��� ������	
� 
��)�� V � �	��",� @ ������	���
������	
� ��"�� E.

ai,j =

{
1 ���� 
��)��� vi ��,����	�� ��"�� ej

0 
 
��	�
��� ���&���

�����.� ��������� (bi,j) @ ��	��,� 
��*��� n × n, ��� n = |V |. 8	���� �
�	��",� ���������1	�* ������	��� ������	
� 
��)�� V.

bi,j =

{
s ���� 
��)��� vi �
*(��� � 
��)���: vj � 
���631 s ��"��
0 
 
��	�
��� ���&���

�/�



C��� G @ �����	���
����: ���4� 	� ��	��,� �������	� �
�����*�	�* 	��A JJ

bi,j =

{
1??? ���� vi ��&��3��* � vj ����&��* 
��)��� ����	����� ��"��
0 
 
��	�
��� ���&���

JJ
:������� ��������� !���(�	�
��� (�������� �	��)���*� JJ
���	3 G = (V,E) @ �����	���
����: ���4� ���	3 W = (wi,j) @ ��	��,� ����2

���	�A

wi,j =

{
1, ���� �( 
��)��� vi 
 vj ��
��
���� ��"��

0, 
 
��	�
��� ���&��

 ��(� 
�� �������* 
�����1	�* 
 ����&����� ������� +"��	�� 
������� ��
��(��&��A 1+1 = 1 
 ����&����� �������� � 1+1 = 0 
 ���4��	�&����� ���������

<�����	�  ��)���� 
��	�����* ��	��,� ���	������	� W ∗�
 �(3��� 
��
�1 �	��"�, ��	��,� W1 = W � ������ 
��
�1 �	���� 
� 
��

�	���� ��	��,� W1� � ��	���0 �� 
��
�� ���	� �	�*	 �� ����&����1 ��	��,�
�"�(��&�� &���( W2.

 �(3��� 
	���: �	��"�, ��	��,� W2 � ������ 
	���1 �	���� ��	��,� W2 
�

�� �	����� � ��	���0 �� 
	���� ���	� �	�*	 �� +"�(��&�� 
���&����1 ��	��,�
W3� K 	��� D� n2�� )��� 
���&�� ��	��,� Wn. ;	� � ��	3 ��	��,� ���	������	�
W ∗ 
 ���4� G.

K����� W ∗ ����� 
���&�	3 � ���3)� �� ������*�3 n2��� )���� D�&���* �
����	����� )��� ��	��,� ��&���1	 
�
	��*	3�*AWi = Wi+1 = · · · . !����W ∗ = Wi.

8���� ��	��,� W ∗ 	���
� C��� W ∗ = (w∗
i,j) � w

∗
i,j = 1, 	� ��6��	
��	 
�	3 �(


��)��� vi 
 
��)��� vj . C��� w∗
i,j = 0, 	� 	����� 
�	� ��	�

(�����) D�:	� ��	��,� ���	������	� ���4�

�

� ��
�
�
�


�
�
�
�
��

�

�

� �

�
$

��)����� K����

W =




0 1 0 1 0
0 0 1 0 0
1 0 0 0 1
0 0 1 0 0
0 0 0 0 0




���	���

W0 = W =




0 1 0 1 0
0 0 1 0 0
1 0 0 0 1
0 0 1 0 0
0 0 0 0 0




�/#



 
��
�� �	��",� 	��3�� 	��	3* �	���� ����	 �� ��"�
�� �	�: �	���� 
��
�1 �	��2
��� K�����

W1 =




0 1 0 1 0
0 0 1 0 0
1 1 0 1 1
0 0 1 0 0
0 0 0 0 0




D� 
	���� �	��",� ��	��,� 	��3�� 
��
�* � 	��	3* �	���� ����	 �� ��"�
�� �	��
�	����� 
	���1 �	����� K����

W2 =




0 1 1 1 0
0 0 1 0 0
1 1 1 1 1
0 0 1 0 0
0 0 0 0 0




D� 	��	3�� �	��",� 
�� �	���� ����� 
*	�: ���1	 �� ��"�
�� �	�� �	����� 	��	31
�	����� ����&���� &	�

W3 =




1 1 1 1 1
1 1 1 1 1
1 1 1 1 1
1 1 1 1 1
0 0 0 0 0




�
Wi = W3,

��* 
��0 i > 3. K	���

W ∗ = W3 =




1 1 1 1 1
1 1 1 1 1
1 1 1 1 1
1 1 1 1 1
0 0 0 0 0




������� ���
���� �( �1"�: 
��)���� ����� 
��)��� $ ����� 
�
��	3 
 �1"�1
�����1 
��)����

����� -���(�!

������ @ �
*(��: ���4 "�( ,�����
,�� @ ���4 
�� ���
����	� �
*(���	� ��	����� *
�*1	�* ����
3*���
 ������� 8����16�� ����
�* ��
�
����	��A

• =��4 @ ����
�

• =��4 *
�*�	�* �
*(��� � �� ����	 
���	�0 ,����
�

• =��4 *
�*�	�* �
*(��� � &���� ��� ��"�� ��
�� �� �����,� ���3)� &�� &����

��)���

�/.



• >1"�� �
� ��(��&��� 
��)��� ���4� ����� �������	3 �����	
����: L� 
��2
	�� 
���	�:M ,�
31�

• =��4 �� �������	 ,����
� ��� ��"�
�** � ���� �1"�� ��
�� ��"��� 
���&���
��
�� ���� L� 	�&���	31 �� ��
��
����* �"0��� � ��&��3��: 
��)��� �"0���M
� 
��	�� 
���	�: ,��� 
��0��*6�: &���( ��"�
�*���� ��"���

�������� 
����� ���4� @ �1"�: ��� 
�����4� �������6�: 
�� 
��)��� ���4�
� *
�*16�:�* ����
���

@�#���������#�� &���� ���4� G = (V,E) ��	3 &���� ν(G) = |E| − |V |+ 1
������3�� ����&��	
� ��"�� �� �����,� ���3)� &�� ����&��	
� 
��)��� �1"��

��	�
��� ����
� ���4� G = (V,E) ����	 |V | − 1 ��"��� ���	��� ��	�
��� ����
�

���&��	�* 
 ��(��3	�	� �������* �( ���4� ��
�� ν(G) ��"���

"�� <���	��$����� )�
� � ���0�

 	����� ����	��&����0 ,�
�: �"�&�� 
�����*1	�* �����16�* 	����������*�
B(�� @ 
��)��� �	�
��� �� ���3)� ��  ���	� 	������
 ?��"��? � ?,���? &��	�

��
��3(�1	�* ���
� ?
�	
3? � ?���	��?�
+���
��� 
������� ���4�� �� ��	���� ���1�	����1	�* �	
�������* �	���


������4� *
�*�	�*

(�����)

�
�
�
�
�
�

� �
�1 2 � � #

$

�A

B

C

D

9���&��	
� ��"�� e = 7� 9���&��	
� 
��)�� v = 4
2������ @ ���	��� ��"��� �������� ��	���0 ��("�
�1	 ���4 �� �
� ���
*(���

&��	�� �����* �( ��	���0 *
�*�	�* �
*(��� 
�����4��� ��� �	�� 
������������
�1"�: �( ��������0 
�	
�: ������ 
��
���	 � �
*(���� ���4��

(�����) ��"��� ��,����	��� �1"�: 
��)��� �"��(�1	 ��&�����
(�����) 8����16�� ��"�� �"��(�1	 ��&���*A 1, 2, 3; 3, 6, 7; 1, 2, 4, 6, 7.

�
�
�
�
�
�

� �
�1 2 � � #

$

�A

B

C

D

� � � � � � � � ������ ������� � � � � � � �
� � � � � � � � � � � � � � � � � � � � � � � �

%���	��� &	� &���� ��&���� ����	 
��
���	3 &���� 
��)���
'���
� ���4� @ ,���
%����� 9�����4�A

• <���"���&����* ����� 	���
 ��"�� ��&���* ��
�� ���1A∑
±ik = 0.

�/'



• <���"���&����* ����� ��
�*����� ��"�� ���	��� ��
�� ���1A∑
±uk = 0.

��* ���4� "�( 
�	��3 G � 
��)����� v1, . . . , vn �
������� ��	��,� �������	�
A = (ai,j) � ��	��,� L��	��,� 9��0��4�M D = (di,j) 
� 
��
����

ai,j = ����&��	
� ��"�� ������*16�0 
��)��� vi � vj � ���� i �= j,

di,i = deg vi,
di,j = −ai,j , ���� i �= j

.

$�����
) <���"���&����� ��
������* 
��0 ������	�
 ��	��,� 9��0��4� ��
2
�� ����� ��"�:�

����(�	��3�	
�� ���	3 D @ ��	��,� 9��0��4� � Di,j @ ��� (i, j)2����"���&�����
��
�������� ���	3 D = (αi,j). !����

n∑
j=1

αi,j = 0, i = 1, 2, . . . , n,

n∑
i=1

αi,j = 0, i = 1, 2, . . . , n.

������� ���
����
B · 1 = 0,

1t ·B = 0,

��� 1 @ �	��"�, ����� n� ���	�*6�: �( ��
���	���� detD = 0, � rank D ≤ n− 1. C��� rank D < n− 1, 	� Di,j = 0, ��* 
��0

1 ≤ i, j ≤ n.
������	��� 	�
��3 ���&�: rankD = n − 1. ���	3 Dadj @ 
������������* ��	2

��,�A

Dadj =




D11 D21 · · · Dn1

D12 D22 · · · Dn2
���

���
� � �

���
D1n D2n · · · Dnn




8����16�� �
�:�	
� ��	��, 0���)� �(
��	��A

DDadj = Dadj D = (detD)E.

���	���
DDadj = (detD)E = 0.

������3�� DDadj = 0, �1"�: �	��"�, X ��	��,� Dadj ���
��	
��*�	 ���	���
DX = 0. ���� �	�: ���	��� ����:��0 ���
����� ��
�� n− 1. ���	��� 4�������2
	��3��* ���	��� ��)���� ���
����* ��������� � 
�������	�* 
��	���� 1. %��&�	

��/



�	��"�, ���	
�	�	
�16�: �1"��� ������� ��)���1 ���	��� DX = 0 
��
��,��2
����� 1� K	���

Di1 = Di2 = · · · = Din, i = 1, 2, . . . , n.

<������&���
D1i = D2i = · · · = Dni, i = 1, 2, . . . , n.

���	��� 
�� ������	� 
������������: ��	��,� Dadj �������
�� &	� � 	��"�
����3
����(�	3�

$�����
) ���	3 D @ ��	��,� 9��0��4� � Di,j @ ��� (i, j)2����"���&����� ��2

�������� !���� ����&��	
� ��	�
��0 ����
3�
 ���4� G ��
�� Di,j ��* �1"�0 i, j.

(�����) ��	��,� 9��0��4� ��* ���4�

�
�
�
�
��

�
�
�

� �
�

1

2

4

3

���*��	 	��

D =




3 −2 −1 0
−2 4 −1 −1
−1 −1 4 −2
0 −1 −2 3




!����

|D1,1| =

∣∣∣∣∣∣
4 −1 −1
−1 4 −2
−1 −2 3

∣∣∣∣∣∣ = 21

K	��� ���4 ����	 �� ��	�
��0 ����
3�
� ����&����	� �0�
(�����)

�↓ ↓
←

←
�

�
�
�
�

�
�
�
�

� �
�1 2 � � #

$

�A

B

C

D

� � � � � � � � ������ ������� � � � � � � �������������������������
(�����) 9���&��	
� ��	�
��0 ����
3�
 ��
��

�%r3��%r4
�����r5�

%r1 ��%
�
r2

� �− +

�
��
�

�
��
�

���



"�� <=����
� ���0�

7��� ��(�
��	�* ;:����
��� ���� �� 
��0���	 
�� ��"�� ��
�� 
� ������ ��(��
<������&��� 
�	3� ��&��� � ����, ��	���0 �� ��

���1	� ��(�
��	�* ;:����
���
���� �� 
��0���	 
�� ��"�� ��
�� 
� ������ ��(�� =��4 ;:����
� ���� ��6��	
��	
;:����
 
�	3 ��� ,���� ������� ���
���� ���4 ;:����
� ���� ��� ����� ������2

�	3 ����� ���&����� 
��� �� 	���� �	��
�* 
��� �	 "������

D�
������ &	� 
��)��� ���4� ��(�
��	�* &�	��:� ���� ��� ����	 &�	��1 �	�2

��3� <������&��� 
��)��� ��&�	��� ���� �� �	�
��3 ��&�	��� D�
����� 	����� &	�

� 	������ � ����
���	�*0 ������	
� ��&�	��0 
��)�� ����	 &�	��� ����&��	
�
������	�
�

$�����
) 9���&��: �
*(��: ���4 G ����	 ;:����
 ,���� ���� � 	��3�� ����
&���� ��&�	��0 
��)�� ��
�� ���1�

��#������������ ��
��	��� &	� ��6��	
��	 ;:����
 ,���� ;	� �(��&��	� &	�
����3�� ��"�� 
0��*	 
 
��)���� �	��3�� � 
�0��*	� ������� ���
���� �	�
��3
�1"�: 
��)��� &�	���

+"��	��� ��
��	��� &	� �	�
��3 �1"�: 
��)��� &�	���
������� ���&���� &	� 
 ���4� ��6��	
��	 ,���� 
 ��	���� 
�� ��"�� ��(��&���

���	3 v1e1v2e2 · · · vk−1ek−1vk @ ����	���: 
�	3� ��� ��"�� ei ��&����	�* � 
��)���
vi � ���&��	�* �� 
��)��� vi+1 � 
�� ��"�� e1, . . . , ek ��(��&��� ��
��	��� &	�
����� 
�	� k ��������3�� � &	� vk �= v1. !���� � 
��)���: vk ��,����	�� ��&�	���
����&��	
� ��"�� �( ������	
� {e1, . . . , ek−1}. ������3�� �	�
��3 
��)��� vk &�	���
��6��	
��	 ��"�� ek� �	��&��� �	 e1, . . . , ek−1� ��	���� �( ��� 
�0���	� C��� �����*

��)��� ��"�� ek� �"�(��&�� �� &���( vk+1, �� ��

����	 ��

����	 � 
��)���: v1,
	� 
���&��� 
�	3 ����� "��3)�: &�� k. ���	��� vk = v1 � �� 
���&��� ,���
v1e1v2e2 · · · vk−1ek−1vkekv1.

��
��	��� &	� ,��� L = v1e1v2e2 · · · vk−1ek−1vkekv1 ����	 ��������3��1 ����� �

�� ��"�� e1, e2, . . . , ek ��(��&��� �������� &	� 
�� ��"�� ���4� 
�*
�*�	�* 
 �	��
�
�����

����
������� &	� �	� �� 	��A E �= {e1, . . . , ek}, ��� E @ ������	
� ��"�� ���4�
G. ���	3 F @ ���4� 
���&����: �(G 
�	�� �������* ��"�� e1, . . . , ek. =��4H ����	
"�	3 �� �
*(���� �� �����* 
��)��� ���4� ����	 &�	��1 �	�
��3� 
�����3�� 
�	3
L ����	 &�	��� ����&��	
� ��"�� ��,����	��0 � �����: �� 
��)���:� ������3��
G �
*(��� ��6��	
��	 ��"�� e′ ���4� H � ��	���� ����	 ���� 
��)��� u′ ����6�1 


�	� L. ���	���� 
�	3 L′ 
 ���4� H � ��&���16�1�* �( 
��)��� u′. ������3�� 
��

��)��� ���4� H ���1	 &�	��1 �	�
��3� �� ����� 
��	���	3 ,��� L′ 
 ���4�
H � 
 ��	���� 
�� ��"�� 
�	� L′ ��(��&���

�
�
�
�

������

�
�
�
�

�
��

�
�
��
�
�
�
�
��

��

�u′
L L′

��
���

�
�
���

��
��

������� ���
���� 
�	3 L ����	 "�	3 
�������� � 
���631 
�	� L′. ;	� 
��	�2

���&�	 ��������3���	� k� ����� 
�	� L. K	��� L @ ;:����
 
�	3�

���



$�����
) =��4 G ����	 ;:����
 
�	3� ���� � 	��3�� ���� &���� ��&�	��0 
��2
)�� ��
�� �� ��� �	�� �1"�: ;:����
 
�	3 ��&����	�* � ����: ��&�	��: 
��)���
� ���&��	�* �� �����: ��&�	��: 
��)����

��#������������ ���	3 v1e1v2e2 . . . vk−1ek−2vk @ ;:����
 
�	3 � v1 �= vk. 8	�
���

��0 
��	�����0 
��)�� vi, 1 < i < k, &�	���� 
�����3�� ������� 
0��*6���
��"�� ei−1 ���	
�	�	
��	 ������ 
�0��*6�� ��"�� ei. 8	�
��� ��&��3��: 
��)���
v1 ��&�	��� 
�����3�� ���� ��"�� e1 
�0���	 �� � ���� �� ���	
�	�	
��	 �� ������

0��*6��� ��"��� <������&��� 
 ����&��: 
��)��� vk ���� ��"�� ek−1 
0���	 ��
�� ���� ��"�� �� 
�0���	� 
��	��� �	�
��3 deg vk ��&�	��� K	��� ���� ���4 ����	
;:����
 
�	3� 	� 
��)��� 
��0 
��	�����0 
��)�� &�	�� � �	�
��� �
�0 ����&��0

��)�� ��&�	���

+"��	��� ���� ���4 ����	 ��
�� �
� ��&�	��0 
��)��� 	� �1"�: ��������3��:

�	3 � ��&���� 
 ����: ��&�	��: 
��)��� ���&��	�* 
 �����: ��&�	��: 
��)���
� �"0���	 
�� ��"��� ����(�	��3�	
� 
�
	��*�	 ����������* 
��
������� 
�)� 

����(�	��3�	
� 	������ �" ;:����
�0 ,����0�

(�����) +	���	�: ���
��	 ����� ������
�	3 ����� ���&����� 
���� +���
�( 	���0 
�	�: ABDCBEDAE 
���(�� 
��(�� ����� ��&�	3 �( 
��)��� A� ���2
��
�	3 
� ��
��
����1 �	����� � 
�
��	3 
 
��)��� E.

A

B

C

D

E

��
�
�
�


�
�
���

�� �
�
�
�
�� �

%���	��� &	�

deg A = 3, deg B = 4, deg C = 2, deg D = 4, deg E = 3.

�
� 
��)��� A � E ���1	 ��&�	��1 �	�
��3� ���	��� �1"�: ;:����
 
�	3 ��&�2
���	�* 
 ����: � ���&��	�* 
 �����: �( �	�0 
��)���

(�����) %����	�: ���
��	 ��� ��
�(����� ������
�	3 ����� ���&����� 
�2
��� 
�����3�� �� ����	 &�	��� ��&�	��0 
��)���

A

B C

D

E�
�
�
�

�
�
�
�

deg A = deg B = deg C = deg C = 3, deg E = 4.

(�����) L��	�)��	
�� 
� 9�����"������� ���	��M  ���� ���1	�* �
� ��	2
��
�� ������ ��������� � ��	��
��� ���31 ���	���� ����� �� 
��:	� 
� 
���
���	�� �� 
��0��* �
���� 
� ������ � 	��� �� ���	� J

���



��
�
�

��
�
�

�� ��

�� ��

+	
�	A D�	�
5	�"� �
���	3 �	� �"�(��&�� "����� &���( A � C� ��	��
� &���( B� D � ���	�

&���( a, b, c, d, e, f � g�

��
�
�

��
�
�

�� ��

�� ��

A

B

C

D

a

b

c

d

e

f

g

!���� ���4 � 
��)������ ���	
�	�	
�16��� ��)� � ��"����� ���	
�	�	
�16��
���	�� ����	 4 > 2 ��&�	��0 
��)���

�
�

�
�

��
��
��
��

��������

A

B

C

D

g

e

f

a c

b d

deg A = 3, deg B = 5, deg C = 3, deg D = 3.

���	��� ���4 �� *
�*�	�* ;:����
��� ;	� �(��&��	� &	� ��� "� �� 
�	�)��	
�
��
&���
�� 
� 
��� ���	�� �"*(�	��3�� ��:��	�* ���	 
� ��	����� �� "���	 
��0���	3

� ���:��: ���� �
� ��(��

"�� :����/	���
� ���0�

JJJJJ

"�" ��������� ���0�

�������!- ���4 @ ���4� �(����4��: ���4�� � ��	����� ��"�� �� 
�������1	�*�
(�����) K2,2, K2,3 @ 
�������� ���4�A
B�������"����� L�	*��
�����	3 JJM ���4�
$�����
 L9���	�
���:M =��4 �� *
�*�	�* 
��������� 	���� � 	��3�� 	�����

����� �� �������	 
�����4� ��������4��: ���4�� K5 ��� K3,3.

���



(�����) =��4 ��	������ @ �� 
�������:�
����(�	��3�	
�� D�
����� �
��������� ���4� ��	������

� � �
� �

�
�

�
� �� �

�
�
�
����

�
��
�
�
�
��	
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8 
���631 �	*��
���* 
��)�� 
��)���� 
*	�����3���� � ���	
�	�	
�16��� 
��2
)����� 
��	�����: 
*	�����3��: (
�(�� ���4 ��	������ ����� �
��	� � 
������
���4� K5 :

� � �





�
��

�
�
�
�
�

�
�
�
�

�
�
�
�
�

� ��
�
�

�
�
�
��
�
�

8����
�	��3��� 
� 	������ 9���	�
����� ���4 ��	������ �� *
�*�	�* 
���������
$�����
 L;:���M ���	3 G @ 
�������: ���4 � v 
��)������ e ��"���� � f

����*��� !����
e− v + f = 2.

=��4 ��(�
��	�* 	�������!�$ ���� �	�
��� 
��0 
��)�� �������
� � �����*
����3 *
�*�	�* ���������3������ � �������
�� ����&��	
� �	���� � �����: ������

$�����
) 8�6��	
��	 ��
�� 
*	3 
��
��3��0 ���4�
� ���
��3��� ���������2
���� ���	
�	�	
�16�� 
��
��3��� ���4�� 
��
����� 
 �������0 33 � 33�

,��
-
���&��	�) ���	3 k = deg v, ��* �1"��� v ∈ V. ��
��	��� &	� �����*
����3 *
�*�	�* 
�
����� n2����3������ ����&�	��� ��
������ ����&��	
� ��"��
2e ���4� �
��* �
���"����

���
�: �
���"� �� 	������ � ����
���	�*0

kv = 2e.

���	���
e = kv/2.

 	���: �
���"� 9���&��	
� �����: @f. 9����* ����3 ����	 n ��"��� 9�����
��"�� *
�*�	�* �	�����: �
�0 �����:� 8����
�	��3��

fn = 2e.

!���� �"��(���
f = 2e/n = kv/n.

��$



%��&�	� 
� 	������ ;:����

v − kv/2 + kv/n = 2.

K	���
2vn− kvn + 2kv = 4n,

�
v(2n− kn + 2k) = 4n.

������3�� v, n ∈ Z, ������ "�	3

2n + 2k − kn ≥ 0.

������� ���
����
(n− 2)(k − 2) < 4.

����(
�����* �
�0 ,���0 
�����	��3��0 &���� < 4 ����	 
������	3 (��&���*
1, 2, 3. !���� �"��(��� ��* ,���0 &���� n, k 
�(����� �����16�� 
*	3 ���&��
A

n− 2 = 1, k − 2 = 1,

n− 2 = 1, k − 2 = 2,

n− 2 = 1, k − 2 = 3,

n− 2 = 2, k − 2 = 1,

n− 2 = 3, k − 2 = 1.

K	��� 
���&��� �����16�� 
�(������	�

k n v e f !�

3 3 4 6 4 !�	�����
3 4 8 12 6 9�"
3 5 20 30 12 ���������
4 3 6 12 8 +�	����
5 3 12 30 20 K�������

9�� 
���(��� 
 ����
��
�����0 �������0 
�� �	� 
�(������	� �����(�����
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�����	31 ����(����

���-������!� ���" �	���	�* 	��� ���	3 G = (V,E) @ 
�������: ���4� ��2
�	���� ��
�: ���4 G∗ � ������	
�� 
��)�� V ∗� 	���� &	� ��6��	
�1	 
(�����2
����(��&��� ���	
�	�	
�� ����� V ∗ � ������	
�� �����: ���4� G�  ��)���
u, v ∈ V ∗ ��������� ��"���� ���� � 	��3�� ���� ���	
�	�	
�16�� ����� 
 G ���1	
�"6�1 �����,��

(�����) =��4� �
�:�	
����: ���4� ��	����� �(����4�� ���4� ��"�
(�����) =��4� �
�:�	
����: ���4� ���������� �(����4�� ���4� ����������

����� ���	��()� ����(��(

����
3* � ������	
�� 
��)�� (�������
������ ������	��� ������	
� {1, 2, . . . , n}
����� (�������
�	3 � 
���631 n = 2 ������	�
 i1�2 . . . in−2 � ��� i1, . . . , in−2 ∈
{1, 2, . . . , n}. !���� ����� ��� ��(�
�1	�* ������ ��144���� �	��*	�* 
� �����12
6��� ������	���

�������� 4��������� ��%
 (�5����
)

���	3 T @ ����
� � ������	
�� 
��)�� (�������
����� ������	��� ������	
�
{1, 2, . . . , n} D�0���� 
��)��� � ������3)�� ������� � � ������3)�: �	�
��31�
���	3 �	� "���	 
��)��� vi1 � � �	�: 
��)���: �
*(��� 
��)��� vi2 . B"����� 
��2
)��� vi1 � ��,����	��1 � ��: ��"�� vi1vi2 . D�
�)�� ����� i2 
��)��� vi2 . 8 
���2
&����� ���4�� 
��	�
��� 	�&�� 	���� � 
�
	��*�� �	� 
��,����� �� 	�0 
��� 
���
�� ��	���	�* ���� ��"��� ����&����* 
������
�	��3���	3 n− 2 &���� i1i2 . . . in−2 �
��	3 ��� ��144����

(�����)

��.
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���� ⇒ ��� ����
� @ �����

�������� 4��������� %���	
 4� ��%� (�5����
)

���	3 i1i2 . . . in−2 @ ��"�� &���� 
���(
��3��� �"��(�� 
�"������ �( ������	
�
{1, 2, . . . , n}. 5	�"� 
��	���	3 ����
� T 	��� &	�"� ��� ��� "�� ��
�� i1i2 . . . in−2

����� 
��	�
�	3 �����16�� �"��(���
D�
���	3 	�� ��������  
��
�: 
��
�1 ������� 
��1&�	3 ���	 i1i2 . . . in−2�


� 
	���1 12 . . . n.  (*	3 ������3)�� &���� �� 
	����� ���	�� ��	���: �� ����	 


��
��� ���	3 �	� "���	 &���� j1. B"��	3 i1 � 
��
��� ���	� � ��
���	3 
���&����:
���	 
 
��
�1 �������� B"��	3 j1 �� 
	����� ���	� � ��
���	3 
���&����: ���	
�� 
	���1 �������� D�
���	3 
 	��	31 ������� i1j1. ��
	���	3 	� �� 
��,�����
� 
���&������ ���	��� 
 
��
�: � 
� 
	���: �������0 � ��
���	3 
 	��	31 ��2
����� i2j2� ��� j2 @ ������3)�� &���� �� �������6�� 
 
��
�: ���	�� ��
	���	3
�	� 
��,����� �� 	�0 
�� 
��� 
 
��
�: ������� �� ��	���	�* 
��	�� ������	
� �

� 
	���: ���	 �( �
�0 &����� ��������: ���	 �( �
�0 &���� �( 
	���: �������

��1&�	3 
 	��	31 ��������

!���� 
�� 
��� ��
������� 
 	��	3�: ������� ����	 ��� ������	
� ��"�� ��2
��
� 
��)��� ��	����� (�������
��� ������	��� ������	
� {1, 2, . . . , n}.

(�����)

��'
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�

�
�
�
�� �

�
�

� �

� �

�

�

� $

����� ,�.��	�� -�')����

���	3 (���� ���4 � 
���� G = (V,E, f). %���3 
���� ��(�
��	�* ����	���* 4���,�*
f : E → R+ � 
�����	��3���� (��&���*��� ��* �1"��� e ∈ E ��(�
�� f(e) 
����
��"���  �� 
�	� x = v1e1v2e2 . . . vkekvk+1 �
�����*�	�* 
� 4������

|x| = f(e1) + · · ·+ f(ek).

!��"��	�* 
��	���	3 
�	3 � �������3��� 
���� �( 
��)��� v1 � 
��)��� vk.
����� ������	� 
��	�����* 	���0 
�	�:� <�����	� ����	 ��* C� ���:��	���
D� ������ )��� s "���� �	���	3 ������	
� 
��)�� V (s)

1 � V (s)
2 � �����* 
��2

)��� v "���	 ���	3 
�� λ(s)(v). ��� �	��

V
(s)
1 ⊂ V

(s+1)
1 = V

(s)
1 ∪ {vis}, V

(s+1)
2 = V

(s)
2 \ {vis} ⊂ V

(s)
2 , s = 1, 2, . . . ,

� 
��� 
��)�� v ∈ V
(s)
1 ���3)� ���*	�* �� "���	 (λ(s′)(v) = λ(s)(v), ��* 
��0 s′ > s.

��* 	���0 vis ∈ V (s)
1 
������

λ(vis) = λ(s)(vis).

 	� 
���* 
��� 
��)�� v ∈ V
(s)
1 ����	 ���*	3�* � ���	�� s. ���	��� 
��)���

v ∈ V
(s)
1 ��(�
�1	�* 
��	�*����� � 
��)��� v ∈ V

(s)
2 @ 
���������� 9���� �	�2

�� �����: 
��)��� v ∈ V
(s)
1 ��
��	�
�*�	�* ����	���* 
��)��� u� ��	���1 "����

��(�
�	3 
��)���: 
������6�: � 
��)��� v. 8
���"� 
��	�����* 
���
 � 
����2
��6�0 
��)�� 
��
��*	�* 
��(��

 ��&��3��: �����	

V
(1)
1 = {v1}, V2 = V \ V1 = {v2, . . . , vk},

�
v1 = v1(0, 0),

��/



vi = vi(∞, 0}, i �= 1.

��
��	��� &	� �� s2�� )��� �� (����� &	�

V
(s−1)
1 = {v1 = vi1 , vi2 , . . . , vis−1}, V (s)

1 = V
(s−1)
1 ∪ {vis},

V2 = V \ V1,


��&�� vis @ 
������** 
��)����
��* 
��)��� v ∈ V �"�(��&�� &���( x(v) �� 
������6�* 
��)���
���	3 vj @ 
�������* 
��)���� ������* � vis � �: 
��
����� 
�� � 
������6�*


��)��� (λ(s)(vj), x(vj)).
K(����� 
�� λ(s+1)(vj) �� (λ(s)(vis) + f(vis , vj) � �(����� 
������6�1 
��)���

x(vj) �� vis, ���� λ
(s)(vj) > λ(s)(vis) + f(vis, vj) � ��	�
�� (λ(s)(vj), x(vj)) "�( �(��2

����* 
 
��	�
��� ���&��� ��������� �	� 
��,����� �� 
���� 
��������� 
��2
)������ �������� � vis .  �"���� ����� ��0 ���� 
��)���� 
��	3 �	� "���	 vis+1 ,
	���: &	� λ(s+1)(vj) ����������  ��1&�� 	���1 
��)��� 
 ������	
� 
��	�*���0

��)�� � ����1&�� �� �( ������	
� 
�������0 
��)��� !����

V
(s+1)
1 = V

(s)
1 ∪ {vis+1}, V

(s+1)
2 = V

(s)
2 \ {vs+1}.

��������� �	� 
��,����� �� s = n, ��� n = |V | @ ����&��	
� 
��)�� ���4� G.
!����

V1 = V
(n)
1 .

(�����) D�:	� �������3��� ����	�*��� ����� 
��)����� a � h�

�
�

�
� �

�

�
�

�
�
�
�

a

b

c

d

e

f

g

h
�

�

��

$

�

�

$

$

�
#

�

��)����� �������� ������	� ��:��	���
`�� �� ������� u(1) := a � 
���
��
��� �: 
�� (0, 0).  ��� ��	��3��� 
��)����


���
��
��� 
��� (∞, 0).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(∞, 0)

c(∞, 0)

d(∞, 0)

e(∞, 0)

f(∞, 0)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

K	���
V

(1)
1 = {a}, V

(1)
2 = {b, c, d, e, f, g, h},

λ(a) = λ(1)(a) = 0,

λ(1)(b) = ∞, λ(1)(c) = ∞, λ(1)(d) = ∞,

λ(1)(e) = ∞, λ(1)(f) = ∞, λ(1)(g) = ∞, λ(1)(h) = ∞.

���



`�� �� ����
��
��� 
��)���� b � c� ������� � 
��)���: u(1) = a 
��� (4, a) �
(3, a) L����	�*��* �� u(1)M

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(∞, 0)

e(∞, 0)

f(∞, 0)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

����� 
��)��� c 
 ��&��	
� u(2)� 
�����3�� ����	�*��� 
��)��� c �� 
��)���
u(1) ���3)� &�� ����	�*��� 
��)��� b �� 
��)��� u(1).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(9, c)

f(∞, 0)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

K	���
V

(2)
1 = {a, c}, V

(2)
2 = {b, d, e, f, g, h},

λ(a) = 0, λ(c) = λ(1)(c) = 3,

λ(2)(b) = 4, λ(2)(d) = 6,

λ(2)(e) = 9, λ(2)(f) = ∞, λ(2)(g) = ∞, λ(2)(h) = ∞.

`�� ��  ��)��� b, d � e ����	 
 V (2)
2 � ������ � 
��)���: u(2) = c.  �&�����


��� �	�0 
��)�� �	����	��3�� u(2). ���*�� 
��� 
��)�� d � e �� (6, c) � (9, c),

�����3�� 6 <∞ � 9 <∞.  �� 
��� b ��	�
�*�� ���(������� 	�� ��� λ(2)(b) = 4 <
3 + 2 = λ(c) + f(u(2), b).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(9, c)

f(∞, 0)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

����� 
��)��� b 
 ��&��	
� u(3), 	�� ��� 
��� 
��)�� d � e "��3)� &�� 
���

��)��� b�

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

K	���
V

(3)
1 = {a, c, b}, V

(3)
2 = {d, e, f, g, h},

���



λ(a) = 0, λ(c) = 3, λ(b) = λ(1)(b) = 4,

λ(3)(d) = 6, λ(3)(e) = 9, λ(3)(f) = ∞, λ(3)(g) = ∞, λ(3)(h) = ∞.

`�� ��  �&���*�� ����	�*��* �	 
��)��� u(3) = b �� 
��)��� d ������: �
u(3).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(∞, 0)

h(∞, 0)
�

�

�� � �
#

�

 �� 
��)��� d ��	�
�*�� ���(�����:� 
�����3�� λ(3)(d) = 6 < 4 + 5 = λ(b) +
f(u(3), d). ����� d 
 ��&��	
� u(4). K	���

V
(4)
1 = {a, c, b, d}, V

(4)
2 = {e, f, g, h},

λ(a) = 0, λ(c) = 3, λ(b) = 4, λ(d) = λ(3)(d) = 6,

λ(4)(e) = 9, λ(4)(f) = ∞, λ(4)(g) = ∞, λ(4)(h) = ∞.

`�� �� !��3�� 
��)��� e � f ������ � 
��)���: u(4) = d � ����	 
 V2. >����

���	3� &	� �	����	��3�� u(4) �	� 
��)��� ���1	 
��� (7, d) � (11, d).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(∞, e)

h(∞, 0)
�

�

�� � �
#

�

���	��� u(5) = e �

V
(5)
1 = {a, c, b, d, e}, V

(4)
2 = {f, g, h},

λ(a) = 0, λ(c) = 3, λ(b) = 4, λ(d) = 6, λ(e) = λ(4)(e) = 7,

λ(5)(f) = ∞, λ(5)(g) = ∞, λ(5)(h) = ∞.

`�� $� K���	�* 	��3�� ���� 
��)��� 
 V2, ������* � 
��)���: u(5) = e. ;	�

��)��� g. >���� 
���	3� &	� g ����	 
�� (12, e).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(12, e)

h(∞, 0)
�

�

�� � �
#

�

���	��� u(6) = f �

V
(6)
1 = {a, c, b, d, e, f}, V

(6)
2 = {g, h},

���



λ(a) = 0, λ(c) = 3, λ(b) = 4, λ(d) = 6, λ(e) = 7, λ(f) = λ(5)(f) = 11,

λ(6)(g) = 12, λ(6)(h) = ∞.

`�� #� K��1	�* �
� 
��)��� g � h 
 V2 ������* � u(6) = f. +&�
����� �	����2
	��3�� u(6) �	� 
��)��� ���1	 
��� g(12, e) � h(18, f).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(12, e)

h(18, f)
�

�

�� � �
#

�

8��
��
�* 
��� 
��)�� g � h 
����� &	� 
 ��&��	
� u(7) �� ������ 
(*	3 g.

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(12, e)

h(16, g)
�

�

�� � �
#

�

K	��� u(7) = g �

V
(7)
1 = {a, c, b, d, e, f, g}, V

(7)
2 = {h},

λ(a) = 0, λ(c) = 3, λ(b) = 4, λ(d) = 6, λ(e) = 7, λ(f) = 11, λ(g) = λ(6)(g) = 12,

λ(6)(h) = ∞.

`�� .� +�	����3 	��3�� ���� 
��)��� 
 V2, ������ h, ������* � u(7) = g. +��
����	 
�� h(16, g).

�
�

�
� �

�

�
�

�
�
�
�

a(0, 0)

b(4, a)

c(3, a)

d(6, c)

e(7, d)

f(11, d)

g(12, e)

h(16, g)
�

�

�� � �
#

�

K	��� �������3��� ����	�*��� ����� 
��)����� a � h ��
�� �� � 
�	3 acdegh
@ ����������

����� �����	

�� >���&��� 0�&�	 
���
��
�	3 ��(�� 
���� � ��
��	� �� �����: "����� >����
����� ����&���� ����	 "��	3 	��3�� ������ 
��������� 9�� ����&��� 
���
��
�	2
�* 
���	� �� �
���� �
�	������ �� �����: "����J D�����
�	3 ���4 
�����6�����

���



��)�����  ��)��� ���4� ���	�*��* ���	
�	�	
�1	 	�� &����� ������� L��2
��&���� ��(�� ��
��	� � 
���M� ��	���� ��0��*	�* �� ��
�� "������ 7��3 @ 
���2

��	3 �� 
��: �������: �� 
��
�: "����� ��� �	�� ��
��3(�1	�* �����16�� ��2
���6���*A > @ ����&���� 9 @ ��(��  @ 
���� � @ ��
��	��

 ��&��3��� ���	�*��� �� ��
�� "����� ��0��*	�* 
�* ������� L���	�*��� > 9�M�
 ����&��� ���	�*��� �� ��
�� "����� ������ ��0���	�* 
��	�� ������	
� L��2
�	�*��� ∅M� K	��� ��� ���"0����� 
�*���	3 ���1	�* �� 
 ���4� 
�	� �	 
��)���
> 9� � 
��)��� ∅.

=��4 
�����6���* ����&���� � ��(�:� ��
��	�: � � 
�����A

> 9�
�

 �
� ��> ��

�
�

�� �>9�
�
�
��9

 

� �
> 9

�
�
��

�
� � � >9 ∅

K	�� �� 
����� &	� ���1	�* �
� �
���"� 
���
��
��

���
�: �
���"� ��	3 
� 
��0��: &��	� ���4� { > 9��  �� > �� �� >9�� 9� >9� ∅}
�(��&��	 �����16�� �
�����* ����&�����

�� L8��	�*���  �M ����
��
�*�	�* � ��(�: �� 
��
�: "�����  ��
�� "�����
��	��	�* 
��� � ��
��	��

�� L8��	�*��� > �M +�	�
�*�	 ��(� �� 
��
�� "����� � 
�(
��6��	�* 
 ��
�:
"���� �����

�� L8��	�*��� �M ����	 
���� � 
���
��
�*�	�* �� 
��
�: "�����
�� L8��	�*��� >9�M +�	�
�*�	 
���� �� 
��
�� "������ "���	 ��(� � 
���
��
2

�*�	�* 
 ��
�: "�����
$� L8��	�*��� 9M +�	�
�*�	 ��(� 
 ��
�� "������ "���	 ��
��	� � � ��
��	�:


���
��
�*�	�* �� 
��
�: "�����
�� L8��	�*��� >9M +�	�
�*�	 ��
��	� �� 
��
�� "����� � 
����� � ����&���


���
��
�*�	�* ���� �� ��
�: "�����
#� L8��	�*��� ∅M %�"����	 ��(� � 
���
��
�*�	�* �� 
��
�: "�����
 	���: �
���"� ��	3 
� ������ ��"��� ���4� { > 9��  �� > ��  � > 9� 9� >9� ∅}

�(��&��	 �����16�� �
�����* ����&�����  �� ��� 
�)�� (� ����1&���*�� 
���	�

� � ��  ���	� ��0 ������ "�	3A

�� L8��	�*���  M ����	 ��
��	� � 
���
��
�*�	�* �� 
��
�: "�����
�� L8��	�*��� >9�M +�	�
�*�	 ��
��	� �� 
��
�� "������ "���	 ��(� � 
���
��
2

�*�	�* 
 ��
�: "�����

�� L?%���&� � 	��0 ��
��
�0 ���3*0?M !�� ��
�������� 
��� 
���)�� � �����
��� ��� ��)�� �����3��1 ������ ��	���* �� ����	 
���*	3 "���� �
�0 &���
��
����
�������� ����
��
� ������*�	�* 	��� &	� 
�� ���3* ��
��
� � �� ���� �(
��0 �� ����	 ��
��	�	3� &	�"� ��� ���� ��	�
����3 "�( ���� 
 ���
����� ��� ��	3
����:2��"��3 �����: ���&���� D�&��	�	3 ���4 ��
��	���0 
�����6�����

�� 8���� �����	31 . ��	��
 ��
����� 
���:� ��(��)��	�* 
�����
�	3 
���� ��2

��3(�* 
��	�� ������ R �����	*�� � � $ ��	��
�

��$



• D�����
�	3 ���4 ���	�*��� (x, y, z)� ��� x, y � z ����&��	
� 
��� 
 ��	��0 

	��0 ������0 L�� � � $ ��	��
 ���	
�	�	
����M�

• ����(�	3� &	� 
��� ����� ��(����	3 
� � ��	��� ������� ���
���� ���	�*���
(0, 4, 4) ���	������

• ����(�	3� &	� ���	�*��* (1, 1, 6), (1, 2, 5), (2, 1, 5), (1, 3, 4), (1, 4, 3), (2, 2, 4),
(2, 3, ), (2, 4, 2) �� ���	������

B��(����� +"�(��&�� ���	�*��� ���	��� &���( (x, y, z), ��� x, y � z @ ����&��	
�
��	��
 
��� 
 ������0 � �� $ � . ��	���� ���	
�	�	
����� %���	��� &	� ���
�����
x+ y + z = 8 � ����
�*�� 0 ≤ x ≤ 3, 0 ≤ y ≤ 5, 0 ≤ z ≤ 8, ����	 �� ��)����A

{{0, 0, 8}, {0, 1, 7}, {0, 2, 6}, {0, 3, 5}, {0, 4, 4}, {0, 5, 3}, {1, 0, 7}, {1, 1, 6},
{1, 2, 5}, {1, 3, 4}, {1, 4, 3}, {1, 5, 2}, {2, 0, 6}, {2, 1, 5}, {2, 2, 4}, {2, 3, 3},
{2, 4, 2}, {2, 5, 1}, {3, 0, 5}, {3, 1, 4}, {3, 2, 3}, {3, 3, 2}, {3, 4, 1}, {3, 5, 0}}.
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• ������	
� 
��)�� V (G)� ������	
� ��"�� E(G)� �	�
��� 
��)�� � 
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���	3
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���	�� ,�
� �	 A �� F
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• 
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� �	 A �� F

• ���	��,�* �	 A �� F

• �����	� ���4� G
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� ����&��	
� ��"�� �� �����,� ���3)� &��
����&��	
� 
��)���

llM ����(�	3� &	� �
*(��: ���4� � ��	����� ����&��	
� ��"�� �� �����,� ���3)�
&�� ����&��	
� 
��)��� *
�*�	�* ����
���

*� ����(�	3� &	� ��* 
�*���� ���4� G = (V,E) � k ���
����	��� 
�
������
����
���	
�

|V | − k ≤ |E| ≤ (|V | − k)(|V | − k + 1)/2

(�����) >���:��: ���4 L(G) ���4�G ����	 
��)���� ���	
�	�	
�16�1 ���2
���� ��"�� ���4� G � �
� 
��)��� L(A) ��������� ��"���� ���� � 	��3�� ����
���	
�	�	
�16�� ��"�� ���4� A ���1	 �"6�1 
��)����

!����

G = � ���
���

����

��

���

��
� ⇒ L(G) =

�
�

�
��

�
�
��

�
�
� �

�

G =
� � �
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<
	����4�(� ���4� G ����,����	 �
	����4�(� L(G), �� 
�������: ���4 ��2
��	 ���	3 ��
����	��3��� �
	����4�(���

$�����
) ���	3 G @ �
*(��: ���4 
� ���:��: ���� � 	���* 
��)������ 	����
AutL(G) ∼= AutG ���� 	��3�� ���4 G �� *
�*�	�* ����� �( �����16�0 ���4�
A
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>���:��� ���4� 
 ����1&�	��3��0 ���&�*0A
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L(K4) = ��	����

 ������ �( ����1&�	��3��0 ���&��
 AutL(G) "��3)� &�� AutGd ��
������
L(K4) @ ��	����� �� �� 
�� ��� �����	��� ����,���1	�* �
	����4�(���� K4.

��	�������� ���4� G ��(�
��	�* ���4 Ḡ � 	��� �� 
��)������ &	� � ���4 G
� ��"����� ��	���� ������*1	 �
� 
��)��� ���4� Ḡ 
 	�� � 	��3�� 
 	�� ���&���
���� �	� ���4� �� ��������� ��"��� 
 ���4� G. =��4 ��(�
��	�* ����
�	����*
������-� ���� Ḡ ∼= G.

(�����) D� �����16�� ������� �(�"����� ���4 L�
��)��� �����M � ��� ��2

������� L
����
��	�� �����M

��
�

���
���

��
��
��
��

�

�
�
�
�
���

��
��		
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�
�

�

�

>���� 
���	3� &	� ���4 � ��� ��
�������� ���������� �� ���� � 	� �� ������	
�

��)�� �"��(��	 
����: ���4 � ��������3��� &����� ��"�� p(p−1)/2, 
�(������
� ���4� � p 
��)������

C��� ���4 ������
����	����� 	� &���� ��"�� ���4� � ��� ��
������* �����2
��
�� 8����
�	��3��� p(p − 1)/2 ������ "�	3 &�	���� ;	� 
�(����� 	��3�� 
��
p ≡ 0, 1(mod 4).

�� ����(�	3� &	� ��6��	
�1	 ��
�� �
� ������
����	��3��0 ���4�
 � $ 
��)�2
����A

��.



�
�
�

��
����

�
�
�

� ��
� �

� ��
� ��
�
�

��
����

�
�
�

+� 8���3�� ��6��	
�1	 ������
����	��3��0 ���4�
 � � � # 
��)����� J

� � =��4 ��(�
��	�* ������������#��$ ���� �����0 �
	����4�(��
� �����
	�����	
������ �
	����4�(�� ��	A AutG =< e > .

• ����(�	3� &	� ������	��&����0 ���4�
 � &����� 
��)�� �� "���� &�� 
*	��
��	�

• ���
���	3� &	� �����16�: ���4 �������	��&��A

���� �
�
��
�
��
�
��� �

�
�

• ����(�	3� &	� 
�*��: ������	��&����: ���4 � )��	31 
��)����� �(����4��
�	��� ���4��

• ����(�	3� &	� ������	��&����0 ����
3�
 � &����� 
��)�� ≤ 6 ��	

• ���
��3	�� &	� �����16�� ����
� ������	��&��

�
�
�
�
�

�
�
�
�

��
� � �

�

• ����(�	3� &	� �����0 ������	��&����0 ����
3�
 � ���31 
��)������ ��	�

��� D�:	� �������3��� ����	�*��� ����� 
��)����� a � x
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"�+ :��0� � ����
�������

 �	�: ���,�� 
��
��*	�* 
��������* 	����� ���4�
 
 ������4���,�� 
�����3��0
L����6����0M ����
�������
� �������� ����
������� ���	�*	 �( �	���
 ��������
L
����	���	3 �M � �	���
 
������� L
����	���	3 �M � ��� ����	 "�	3 
����	�
���� 


��� ���4�� D�
������ �������� "�	��� � �2��	��
��
��� L�(�"�	��M �"� �������	
&�	��� �	���
 �������� � ���*	3 �	���
 
�������A

� � � � � �
� � � �

� � � �
�
��� 
������������

��
��� �

� �� � � �� ��
�
�
�
�
�

�
�
�
��
�

!���� ���(����4��� �	���	��� ���4�
 � ����� � 	�� �� ����&��	
�� �	�2
��
 �������� � 
������� (���1	 �(����� ����
��������  �)� 
���(��� 
������
�(�����
 C4H10.

�� ����(�	3� &	� �����0 �(�����
 C4H10 ��	�

�� ����(�	3� &	� C1H4 ����	 ��
�� ���� �(���� L��	��M

� � �
�����

�

�
�� ����(�	3� &	� C2H6 ����	 ��
�� ���� �(���� L�	��M

� � � �
����

� �

� �
�� ����(�	3� &	� C3H8 ����	 ��
�� ���� �(���� L
��
��M

� � � � �
������

� � �

� � �
��/



!� ����(�	3� &	� C5H12 L
��	��M ����	 ��
�� 	�� �(�����

� � � � � �
� � � �

� � � �
�

�

�
������

� � � �

�������
���

� �

� �

�

�
�
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�
�

��
��

� �
� ��
�
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�
�
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� � � � �� � �
� � �

�

�

� �

� �

�
��������������

#� ����(�	3� &	� C6H12 L������M ���1	 ��
�� $ �(�����
� +�� ���	
�	�	
�1	
�����16�� ����
3*�

���
���

���
���� �

����
���
�

�
���
������ �

���
� ��

%���3 ��* �
��6���* �������
 
��
����� ��)3 
��)��� ���	
�	�	
�16�� �	����
��������� ��"�
�
 � �	��� ����
� 
��������� �
*(� L����� �"���	3�*� &	� &����
	���0 �
*(�: 
����� "���	 2n + 2 M 	��� &	�"� �	�
��� 
��0 ��� 
��)�� ��
�*���3
&�	����� 
���&�� 
����� �(�"������� �	���	��� ���������*� �������
�	��3���
����
� ���	
�	�	
��	 
�*��: ,�
� ����
�������� 
 ������ ����
3* 2 ��� �(�������

*� ����(�	3� &	� 
�*��* �������� ����
������� 
��� CnH2n+2 L��� ��(�
�1	�*

���4���� ��� ��������M ���1	 �	���	��� ����
��

�� ����(�	3� &	� �������� ����
������� 
��� CnH2n L��� ��(�
�1	�* ��������M
�� ���1	 �	���	��� ����
��

���



	���� !

"��� #�� �����������$��% �����

9	� 0�&�	 
���&�	3 �,���� ?�	��&�� �
	���	��? ����	 ��(��"�	�	3 ���� �(

����������0 ���� 	��� ��* �	��� ������	 ��
���	3 ���	���3��� ��"�	� (� �
�
�����* �� �� ���� &�� �/ "����
 � 	��� ������ "�	3 ��(��"�	��� �� �� ����
&�� �/ "����
�

c���1 ��
�0�
 P

+�� #���$�

�� 2�������!� �����!� L�M
����	 �������	 � ,�4�� ����	 ��(�
��	�* �&��	��
��� ���� ����� 
��
�0 	��0

,�4� ��

����	 � �����: 
�������0 	��0� 8���3�� ��6��	
�1	 �&��	��
�0 "���	�

J

�� '�����!� �����!� L$M
����	 �������	 � ,�4�� ����	 ��(�
��	�* �����
��� ���� 
���(
������ 
��2


�0 	��0 ,�4� ��

����	 � 
���(
������� 
�������0 	��0 � 
�� ,�4�� ��(����
D�
������ "���	 � ������� 643189 �����
� ����(�	3� &	� ��6��	
��	 ��
�� ���
�����
�0 "���	�
�

����	 ��(�
��	�* ��
�������
��� ���� �� �����
 � �&��	��
� ����(�	3� &	�
��
�������
�0 "���	�
 �� ��6��	
�1	�

��  ���������!� ��������� L�$M
8���3�� ��6��	
�1	 	���(�	�
��0 �	��)���� �� ������	
� �( n ������	�
 J

�����
������	���:	� �� ���
31	����

�� :��������������#�� ��������� L#M
8���3�� ��6��	
�1	 ��	������	��&����0 �	��)���� �� ������	
� �( n ���2

���	�
 J ��
��"�:	� 
�&����	3 �	� &���� ��* ��"��3)�0 n �� ���
31	����

���



!� ��������� 	���
#� L�$M
8���3�� ��6��	
�1	 �	��)���� 
��*��� �� ������	
� �( n ������	�
 J ��	3

����	  �� 
�����	 ����	���: ���
31	����: ���
������	�

#� ��������!� "
�#.�� L�M
-���,�* f : A → A, ��� A = {1, 2, . . . , n}, ��(�
��	�* ����	����:� ���� �(

����
�* i < j ������	� &	� f(i) ≤ f(j). D�:	� ����&��	
� ����	����0 4���,���

*� ��������� �� ��������� {1, 2} L�M
8���3�� ��)���� ����	 ���
����� x1+· · ·+xk = n, ��� xi ∈ {1, 2}, i = 1, 2, . . . , k, k =

0, 1, 2, . . . J

�� ;4� �
�� "���
�� 
�� �	��
������� L$M
���	3 A = (ai,j) @ �
����	��* ��	��,� 
��*��� n. D��*�� � �(
��	���� 4��2

������

det A =

n∑
i=1

ai,j∆i,j =

n∑
j=1

ai,j∆i,j ,

��� ∆i,j = (−1)i+jdetAi,j @ ����"���&����� ��
�������� ����	 ���	� �����16��
?���������*? �	�0 4������

��
��	��� &	� 
�� ���
����	� ��	��,� A = (ai,j) ∈ Matn� n ≥ 3, �	��&�� �	
���*� !���� ��* �1"��� 1 ≤ j ≤ n�

detA =

n∑
i=1

λi,jai,j∆i,j,

� ��* �1"��� 1 ≤ i ≤ n�

detA =
n∑

j=1

λ̄i,jai,j∆i,j,

���

λi,j = (
∏
s 
=i

as,j)(
n∑

r=1

a−1
1,r · · ·a−1

i−1,ra
−1
i+1,r · · ·a−1

n,r),

λ̄i,j = (
∏
s 
=j

ai,s)(

n∑
r=1

a−1
r,1 · · ·a−1

r,j−1a
−1
r,j+1 · · ·a−1

r,n).

����(�	3�

+� �����������!� �����.! �������� 	���
#� L$M
D����	�* �� �������	3 
������6�* 4������ ��* �
������	���: ����	 �1"�2


�	��� 
��������� 
�� �(�&���� <������
�0 �"��	��0 ��	��,� D�
������ &	�
<������
� �"��	��* A(−1) �
�����*�	�* ��* �
����	��0 ��	��, � ������
��� ���2

����	���A ���� A = (ai,j), ai,j �= 0, 	� A(−1) = (a−1

i,j ).

���



���	3 A @ �1"�* ��	������3��* ��	��,� 
��*��� 3 � ������
��� ���
����	����
	���� AAt = E, ai,j �= 0. ����(�	3� &	� ��	��,� A(−1) 
���������

� � �
������������!� #�(""�.����! L�M
����(�	3 4������

(x1 + · · ·xk)
n =

∑
i1,...,ik

(
n

i1, . . . , ik

)
xi1 · · ·xik

k ,

��� (
n

i1, . . . , ik

)
=

n!

i1! · · · ik!
@ ���3	�������3��� ���44�,���	��

��� 9�#���
������!- ����� 9�3���� L�$M
��
��	��� &	� 
��������� x, y ���
��	
��*1	 ����
�1

[x, y] = x

���
yx = x(y − 1).

D��� ��:	� 4������ ��* (x+ y)n.
K������ ������	�� &	�

(x+ y)n =
n∑

i=0

λi
nSi(x, y),

���
S0(x, y) = 1,

Si(x, y) =
i−1∑
j=0

(
i

j

)
xi(y + 1) · · · (y + i− j) + xj

�
λ0

0 = 1, λi
n = λi−1

n−1 − (i+ 1)λi
n−1, i = 0, 1, . . . , n.

������� ���
���� L��* 	�0� �	� (���	 &	� 	���� &���� 8	�������M

λi
n = (−1)n+i s̄i+1

n+1,

��� s̄i
n, 1 ≤ i ≤ n, @ &���� 8	������� 
	����� �����

��� 
�
��� 4������ L�����	�	�
��:M D31	��� �� 
��3(����* (������� ����2
,��	�
���	� � �����	�	�
���	�� D�
������

(x+ y)2 = (x+ y)(x+ y) = xx+ xy + yx+ yy =

(	�����	
� �����	�	�
���	�) = x2 + 2xy + y2.

���



 �"6�� ���&��
(x+ y)2 = x2 + 2xy + y2 − [x, y],

��� [x, y] = xy − yx @ �����	�	��� ���	���

(x+ y)2 = x2 + 2xy + y2 − x = S0(x, y)− 3S1(x, y) + S2(x, y),

���

S0(x, y) = 1, S1(x, y) = y + 1 + x, S2(x, y) = (y + 1)(y + 2) + 2x(y + 1) + x2.

��� 
�
��� 4������ ��* ����� �
����	�
 	�����	
� ����,��	�
���	� �� ��2
���� ��� 
�
��� 4������ ��* ����� ��"�
 �� ������ 
��3(�
�	3�* (������
����,��	�
���	�� 0�	* "� ��* 	��� &	�"� �
������	3 &	� 	���� ��"A

(xx)x = x(xx),


��	��� �� ����� 
�����	3 x3 = (xx)x = x(xx) �� (�"�	*�3 � 	��� ��� ���
�2
������ ���"��� D�� ��	�����1	 4������ ��* �	�
���: ����� (x + y)n 
�� �	��
��(��)��	�* ����	�
�*	3 ���"�� ��� 0�	��� �� 
����	�
�*	3 ������	� �� ������
� "��3)�: ��	�������	31� ��
��3(�* 4������ yx = xy − x.

��� 9�����.�������� ���������#� �#���#� L#M
8���3���� �
���"��� ����� ����	�
�	3 ���"�� �� n "��
�0J D�
������ ���2

�	�* $ �
���"�
 ����	���
�� ���"�� ��* � "��
A

a(a(aa)), (aa)(aa), ((aa)a)a, (a(aa))a, a((aa)a).

������3�� (����� ����,��	�
���	� ��	� 
�� �	� ������	� ��(��&��� D��� ����(�	3�
&	� ����	�*

1

n

(
2(n− 1)

n− 1

)

�	�: ������,��	�
��0 ����	���
�� ���"��� !���� &���� ��(�
�1	�* &������ 9�2
	������ K���	�* �&��3 ����� �����0 ��	��
��	�,�� &���� 9�	������

��� ������!� 
������ L#M
D�:	� ����&��	
� "������0 �����
�0 ����
3�
 � n 
��)������

��� '���
�������� ���������#� �#���#� L�/M
�������6�* (���&� 
�� ����
�� (����� �����	�	�
���	�

ab = ba, ∀a, b.
���	3 cn2����&��	
� �����	�	�
��0 ����	���
�� ���"�� �� n "��
�0� D�
������
c4 = 2� 
�����3�� ����	�* 	��3�� 2 �
���"� �����	�	�
��0 ����	���
�� ���"�� ��
� "��
�0

a(a(aa)), (aa)(aa).

��$



+�	��3��� �20 "��
����� ������	� � 
���631 (����� �����	�	�
���	� �
���	�*
� �	�� �
�� ������	��A

((aa)a)a = a((aa)a) = a(a(aa)),

(a(aa))a = a(a(aa)),

a((aa)a) = a(a(aa)).

���	��:	� �����	�	�
��� ����	���
�� ���"�� ��* n ≤ 10 � �"���	3�*� &	�

n 1 2 3 4 5 6 7 8 9 10
cn 1 1 1 2 3 6 11 23 46 98

��
��"�:	� ��:	� ����
	�	��� ��* cn� !�&��: 4������ ��* cn �������&��: 4��2
���� 9�	����� ���(
��	���

�!�  ��
����� :����� L�/M
����(�	3� &	� ��* �1"�0 x, y, z,

(x+ y)n =

n∑
k=0

(
n

k

)
x(x− kz)k−1(y + kz)n−k,

�#� 0��� � CD L$M
����� ��(����� 4×4 (�
������ �$ 4�)����� (�������
������ &������ 1, 2, . . . , 15.

 �����	3 4�)�� (�
��6���� ��(��)��	�* �
���	3�* 
 �
�"����1 ���	�� ��� 
�2
��(��� 
 �����16�� 
������

�$ � � ��
. � # �/
' �� ��
�� $ � �

⇒
�$ � � ��
. � # �/
' $ �� ��
�� � �

⇒
�$ � � ��
. � # �/
' $ �� ��

�� � �

����� �� 
 
��������

� � � �
$ � # .
' �/ �� ��
�� �$ ��

� 
���631 	���0 �
�2

����� 
����*	3 ���	��� 4�)�� � �������� �� � �$ A

� � � �
$ � # .
' �/ �� ��
�� �$ ��

⇒
� � � �
$ � # .
' �/ �� ��
�� �� �$

?

���



�*� )���
�� :��	����� L�/M
����(�	3� &	�

dn

dtn
{tn−1f(

1

t
)} =

(−1)n

tn+1
f (n)(

1

t
),

��� f (n)(1/t)@ n2�* 
���(
����* 4���,�� f 
 	�&�� 1/t�

���  ������ �������� L�M
����(�	3� &	� ���� p 
���	��� 	� (p− 1)! + 1 ����	�* �� p�

�+� ��
�����!� �����$ #����!� 
������ �� #��
��� L$M
D�:	� �������3��� &���� k �"����16�� �����16�� �
�:�	
��� >1"�� �����2

�	
� �( k ������	�
� ���	�*6�� �( ,���0 &���� ����� 0 � 9 �������	 �
� ������	�
	����� &	� �
�(��&��� &���� ���	�
������ ��� ����	 ����
�1 4���,�1 ��"�����

� � +���� �����

���� L$M
����(�	3� &	� a1729 ≡ a(mod 1729) ��* 
��0 a ∈ Z.

��� ��������� x! + 1 = y2 L�$M
��)�	3 ���
����� x! + 1 = y2 
 ,���0 &����0� ;	� ���
����� ����	 ��)���*

(x, y) = (4, 5), (5, 11), (7, 71). D��(
��	�� ��6��	
�1	 �� ������ ,���&�������� ��2
)���*�

8����16�* (���&� �����	�* �	�: 	��� � �� ��)���� �� *
�*�	�* ��������

��� ��������� x! + a = y2� L�M
���	3 a @ ��	����3��� &����� B��
����� x! + a = y2, ��� a �� *
�*�	�* �
����2

	��� ����	 ����&��� &���� ,���&�������0 ��)����� B��
����� x! − a = y2 ����	
����&��� &���� ,���&�������0 ��)���� 
�� �1"�� a.

��� ��������!- ���
����4�#� L$M
����	��3���� ����� 
 �������" �
�� )�*
�� 9���� ����
��� �"��� "��� 
�(2


��6���� ��� (���	���� &	� �������"6�� 
�� 
���
�	�� � ���	� �� 
���&�� �
�1
)�*
� �"��	��� 8���3���� �
���"��� �� �	� ����	 �����	3� ���� ����&��	
� ����2
	��3����
 @ n.

L��* 	�0 �	� (���	 &	� 	���� 
���*	���	3M D�:	� 
���*	���	3 	����� ��"�	�*�

���  ��
����� ,� L�M
���	3 A @ ����,��	�
��� ���3,� � ���������� ◦. ������� ���
��� 
 A 
�
��2

���� 	�����	
�
a ◦ (b ◦ c) = (a ◦ b) ◦ c, ∀a, b, c ∈ A.

 
���� 
 A ��
�� ��������� �"�(��&����� �
����	��: ���"��: [ , ] 
� 
��
���

[a, b] = a ◦ b− b ◦ a.

��#



;	� ��������� ��(�
��	�* ���������� >� ��� �����	�	���� >� 
 &��	3 ���
��2
����� ��	���	��� 8�4��� >�� ������	� &	� ��
�� ���3,� ���
��	
��*�	 	����2
�	
��

[a, b] = −[b, a],

[[a, b], c] + [[b, c], a] + [[c, a], b] = 0.

�!�  ��
����� E��
���� L�M
���	3 A@ ����,��	�
��� ���3,� � ���������� ◦�  
���� 
 A ��
�� ���������

�"�(��&����� 4������: ���"��: {a, b}, � �
�����*���� 
� 
��
���
{a, b} = a ◦ b+ b ◦ a.

;	� ��������� ��(�
��	�* �������
�� ���������� 
 &��	3 ����,���� ��	���	�2
�� �������� !���� ��������* 
�(����� 
 �
��	�
�: 4�(���� ������	�� &	� ��
��
��������� ���
��	
��*�	 	�����	
��

{a, b} = {b, a},
{{a, a}, {b, a}} = {{{a, a}, b}, a}.

�#�  ��
����� 
�� q*#���
�������� L�/M
���	3 A @ ����,��	�
��� ����"�� ��� 
���� ���
������� &���� C � ������2

���� ◦ � q ∈ C. D������ A ��
�� ���������� ◦q L��(�
�� ��� q2�����	�	����M
�
�����*���� 
� 
��
���

a ◦q b = a ◦ b+ q b ◦ a.
����(�	3� &	� ◦q ���
��	
��*�	 	�����	
�

(q − 1)2(a, c, b) + q [c, [a, b]] = 0,

��� 
�������
(a, b, c) = a ◦q (b ◦q c)− (a ◦q b) ◦q c,

[a, b] = a ◦q b− b ◦q a.

�*�  ��
�����  ���#�� L$M
���	3 A = C[x]@ ����"�� �����&����
 �	����	��3�� ��������*

a ◦ b = ∂(ab).

%���3 ∂ = ∂
∂x
@ �"�&��� ��44����,���
���� � ab @ �"�&��� ��������� �����&��2

��
� D�
������ ∂(x5) = 5x4 � x3 ◦ x5 = 5x7. ����(�	3� &	� 
�
������ 	�����	
�

(a ◦ b) ◦ (c ◦ d)− (a ◦ d) ◦ (b ◦ c) = (a, b, c) ◦ d− (a, d, c) ◦ b,
��� 
������� (a, b, c) = a ◦ (b ◦ c)− (a ◦ b) ◦ c.

��.



��� �������
���� �
�� #��
����� L�M
����(
������ ����� �
�0 �
����	�
 ��	3 ����� �
����	�
A

a = x2 + y2, b = z2 + t2 ⇒ ab = (x2 + y2)(z2 + t2) = (xz)2 + (yz)2 + (xt)2 + (yt)2

= (xz)2 + 2xyzt+ (yt)2 + (xt)2 − 2xyzt+ (yz)2 =

(xz + yt)2 + (xt− yz)2.

������� ���
���� ������	
�

A = {x2 + y2 | x, y ∈ Z}

(�����	� �	����	��3�� ��������*A

a, b ∈ A⇒ ab ∈ A.

<� 9��� ������	��
��	 �"�"6���� �	��� 
�
����� ��* ����0 k ������	
�

A = {x2
1 + · · ·+ x2

k | x1, . . . , xk ∈ Z}

(�����	� �	����	��3�� ��������* J
������	�� &	� �	
�������� 
���� A

• ��* &�	���0 �
����	�
d
• ��* 
��3�� �
����	�
�
 ���� �� �	� �	
�������� ��* ����� 	��0 �
����	�
J �
�0 ��"�
 J

�+� �������
���� 	�	���!5 ��������- L�$M
Lg� eNonTo� =FGHIJ HK JLF MINJNOL ?OOH%NPJNHQ KHI JLF ?RSPQ%FTFQJ HK >%NFQ%F$ L�.#$M�

���/� EUPJLFTPJN%PV WPGFIO$ z�'� �.'�� ����M 9��� �(�&��	 
�
��� 
����	�
����	�

���(
������ 
�
����0 ��(���	�: 
 
��� ����� � ��(���	� �
����	�
 
�
����0
��(���	�:� 8���� 
��&�0 �	 �	��&��	 �����16�: �1"�
�	��: 4��	�

2(a− b)(b− c)(c− d)(d− a) = (b− c)2(a− d)2 − (c− a)2(b− d)2 + (a− b)2(c− d)2

����(�	3�
g� eNonTo� XQ P IFVPJNHQ YFJZFFQ %FIJPNQ GIHR[%JO HK RN\FIFQ%FO$ �rNqTXno i� VrXT

g��n� |Nqj�s z� �$� �.#.� ��� �#�� �#$�
C6� ���� �1"�
�	��: 4��	 �� 	��� 
���(
������ ��(���	�:�

S[a, b, c] S[d, c] + S[b, d, c] S[a, c] + S[d, a, c] S[b, c] = 0,

���
S[a, b, c] = (a− b)(b− c)(c− a),

S[a, b] = (a− b)(b− a).

������	��

��'



8��	�
3	� 
�������� �� �N[lR� e ��� VN[RNn ��� �� �����2��"� ������ *(���

����������
���* � 
��
��3	� �	� ���	��)���*� ���� "� ��	������ ��:	� ������
���	��)���* 	����� 
���� � 
���)31 ���
31	����

���
��3	� ��
����� 
��&��1 � (�	�� �� ���
31	��� �����16�� ���	��)����
��* 
���(
������ ��(���	�: �	 
*	� ������	�


3S[a, b, c] S[d, e] + 3S[b, c, d] S[e, a] + 3S[c, d, e] S[a, b]

+3S[d, e, a] S[b, c] + 3S[e, a, b] S[c, d]

−S[a, b, d] S[c, e]− S[b, c, e] S[d, a]− S[c, d, a] S[e, b]

−S[d, e, b] S[a, c]− S[e, a, c] S[b, d]

= 10 S[a, b, c, d, e],

�jTXT
S[a, b, c, d, e] = (a− b)(b− c)(c− d)(d− e)(e− a).

9��� �� 
��
���	 ����(�	��3�	
�� ��� ���(
��	�� 
���	�� ����(�	��3�	
� �	�2
�� 4��	�� ��* ���* ����(�� "���� ��	������ 
�
���A 8�6��	
��	 �� �������&��*
4������ ��* 
���(
������ 
�
����0 ��(���	�: �	 )��	� ������	�
J

� � �����.�� �� ���
 	������
���� 	�	���!5 ��������- L#M
���	3 A @ ����,��	�
��� �����	�	�
��� ���3,� � Fk(A,A) @ ������	
� 4���2

,�� �	 k �������	�
 A× · · · ×A→ A.
+
������� 
���(
������ Fk(A,A)× F l(A,A) → Fk+l(A,A) 
� 
��
���

ψ � φ(a1, . . . , ak+l) =
∑

σ∈Symk,l−1

sgn σ ψ(aσ(1), . . . , aσ(k))φ(aσ(k+1), . . . , aσ(k+l−1), ak+l),

���
Symk,l = {σ ∈ Symk+l | σ(1) < . . . < σ(k), σ(k + 1) < · · · < σ(k + l)}.

���	3
sk(a1, . . . , ak) = (a1 − a2)(a2 − a3) · · · (ak−1 − ak)(ak − a1).

����(�	3� &	�

s2i � sl = 2

(
[l/2] + i− 1

i

)
s2i+l,

s2i+1 � sl = 0, ∀0 < i, 1 < l.

2k+1∑
i=1

(−1)is2k(a1, . . . , âi, . . . , a2k+1) = −2(a1 − a2)(a2 − a3) · · · (a2k − a2k+1),

2k+1∑
i=1

(−1)iais2k(a1, . . . , âi, . . . , a2k+1) = −(a1 − a2)(a2 − a3) · · · (a2k − a2k+1)(a2k+1 + a1),

��/



2k+1∑
i=1

(−1)ia2
i s2k(a1, . . . , âi, . . . , a2k+1) = −2a1a2k+1(a1 − a2) · · · (a2k − a2k+1).

 �"6�� ���&���
2k+1∑
i=1

(−1)iar
i s2k(a1, . . . , âi, . . . , a2k+1)

����	�* ��
(a1 − a2) · · · (a2k − a2k+1)

��* 
��0 r.

2k∑
i=1

(−1)is2k−1(a1, . . . , âi, . . . , a2k) = 0,

2k∑
i=1

(−1)iais2k−1(a1, . . . , âi, . . . , a2k) = 0,

2k∑
i=1

(−1)ia2
i s2k−1(a1, . . . , âi, . . . , a2k+1) = 0,

2k∑
i=1

(−1)ia3
i s2k−1(a1, . . . , âi, . . . , a2k+1) = (

2k−1∑
i=1

(−1)iaiai+1 + a2ka1)s2k(a1, . . . , a2k).

 �"6�� ���&���
2k∑
i=1

(−1)iar
i s2k−1(a1, . . . , âi, . . . , a2k)

����	�* ��
s2k(a1, . . . , a2k)

��* 
��0 r.
5��	��� ���&��A

4∑
i=1

(−1)ia3
i s3(a1, . . . , âi, . . . , a4) =

∏
1≤i<j≤4

(ai − aj),

4∑
i=1

(−1)ia4
i s3(a1, . . . , âi, . . . , a4) = (

4∑
i=1

ai)
∏

1≤i<j≤4

(ai − aj),

4∑
i=1

(−1)ia5
i s3(a1, . . . , âi, . . . , a4) = (

∑
1≤i<j≤4

aiaj)
∏

1≤i<j≤4

(ai − aj).

��� )
�#.�� :##������� L�M
-���,�� <�������� 2 4���,�* �	 �
�0 ���	��,�	��3��0 ,���&�������0 ����2

���	�
� �
���������* �����16�: �������
��: 
��,�����:

���



• C��� m = 0� 	� A(m,n) = n + 1.

• C��� m �= 0 �� n = 0� 	� A(m,n) = A(m− 1, 1)

• C��� m �= 0 � n �= 0, 	� A(m,n) = A(m− 1, A(m,n− 1)).

 �&����	3 A(1, 3).

��� �	��4���� �
����
	����- �5��! 
�� 	���#�
�������� L$M
 ����3 	��0��(�*���0 �
��&��0 &���� ���1	 
�� (a, b, c)� ��� a, b, c ∈ {0, 1}.

9����: �( 
��3�� ��(�*��
 ���� �2�(2. ���	�
�*�	�* 
 	�&���	� ����: �( 
��3��
��
��)����0 ���H1��,�:� ��	���� 
������1	 (��&���� 1 
 	�&���	� ��* ����:
���"���,�� a, b, c� ��� 
���(��� 
 �����16�� �����	�
����� ��	����	
� ��* 
���2
������
���*

a
b
c

������������������ ������������
!��"��	�* 
��	���	3 
��������3��1 �0��� ��
�
����	��1 �: ��
��3(�* 	��

�	��,���* � �
����,�	3 �
����	��0 ���H1��,���

��� 2������ (��#�������� ����������� L�M
9���	�	 �( 	��0 &���
�� 0�&�	 
������	3 ����	�����1 �0��� ��* 	�:���� ��2

����
���* 
���	�� "��3)���	
�� ������
� ���	���	3 	���1 �0���� &	�"� �����:
&���� ������16�: ?(�? ������� ���
�� � �� ������� ��� ���� �� �������	 
��	�
�
� &	�"� 
 ���&�� � ���� "��3)���	
� &����
 ����	�	� 
���������	 ?(�? (��������3
������3��* ���
�&���

��� +���� )��������� L�M
5���� -�""���&&� �
�����*�	�* ��������	��: 4������:

F0 = 0, F1 = 1,

Fn = Fn−1 + Fn−2, n > 1.

����(�	3� &	�

Fn =
1√
5

((
1 +

√
5

2

)n

−
(

1−√
5

2

)n)
.

�!� )������������ ������� ��������� L.M
����(�	3� &	� ��* �1"��� ��	����3���� &���� a ∈ N

���



• ��6��	
��	 
����	�
����� 
 
��� ����:��: ���"���,�� � 
���631 &���� -�"2
"���&&� a = λ1Fn +λ2Fn−1+ · · ·+λn−1F2 � &���� λ1, λ2, . . . , λn−1 
������16�0
(��&���* 0, 1� 	���0� &	� λiλi+1 = 0, ��* 
��0 i ≥ 1.

• !���� 
����	�
����� �����	
����� 9��44�,���	� λ1, λ2, . . . , λn−1 ��(�
�1	�*
4�""���&&��
��� ,�4���� &���� a � 
������
�	��3���	3 λ(a) = λ1λ1 · · ·λn−1

��(�
��	�* 4�""���&��
�: (�
��31 &���� a� D�
������ λ(19) = 101001 	��
��� 19 = F7 + F5 + F2.

•  �*��* �� (�
��3 � 
���631 ����: � �����, ����	 "�	3 
���*	3 
 ��&��	
�
4�""���&&��
�: (�
���J

�#� ��#�!��� �����-�#��� ������� L�/M
 �.�� �� �����:���: ������ -���: ���
������ 
 ���"�
�16�� 
��*��� 
��


��
��3��� &���� �� (������	��*��� �� "��3)��� N, � 
���&��� 	� &	� ��:&��
��(�
�1	 
������
�	��3���	31 -���* fN � D�
������ f3 @ �	� 0

1
, 1

3
, 1

2
, 2

3
, 1

1
.

• ����(�	3� &	� 
 �*�� fN 
�� N > 1 ��	 �
�0 �������0 ���"�: � �������
���
(������	��*���

• ���	3 a
b
� c

d
@ �������� &���� �*�� fN . ����(�	3� &	� ad− bc = 1.

• ���	3 1
b
� c

d
@ �������� ���"� -���*� ����(�	3� &	� ���"� a+c

b+d
� a+b

c+d
�������2

	����

• ����(�	3� &	� ����&��	
� ������	�
 
������
�	��3���	� fN ��
��
∑N

i=1 φ(i)+ 1.

• ���	3 a
b
≤ α ≤ c

d
, a

b
� c

d
@ �������� &���� 
 �*�� -���* fN . !���� �
��
����
�

0�	* "� ���� �( 	��0 ����
���	
A

|α− a

b
| < 1√

5b2
, |α− c

d
| < 1√

5d2
, |α− a + c

b+ d
| < 1√

5(b+ d)2
.

�*� 2��	��� 
�""����.�������� � 5���#�������#� p L�$M
���	3 ∂ = ∂

∂x
@ ��44����,���
���� ����"�� �����&����
 C[x]. ����(�	3� &	�

��* �1"��� f = f(x) ∈ C[x]

∂p−2(f p−1) + (f∂)p−2(f) ≡ 0(mod p).

���
���� �	� ��* ��"��3)�0 p. ���	3 p = 3. !���� 
� 
��
��� >�:"��,�

∂(f 2) = 2f∂(f) ⇒ ∂(f 2) + f∂(f) = 3f∂(f) ≡ 0(mod3)

���	3 p = 5. !���� 
� 
��
��� >�:"��,�

∂3(f 4) = ∂2(4f 3∂(f)) = ∂(12f 2(∂(f))2 + 4f 3∂2(f))

���



= 24f(∂(f))3 + 24f 2∂(f)∂2(f) + 12f 2∂(f)∂2(f) + 4f 3∂3(f)

= 24f(∂(f))3 + 36f 2∂(f)∂2(f) + 4f 3∂3(f)

(f∂)3(f) = (f∂)2(f∂(f)) = f∂(f 2∂2(f) + f(∂(f))2) = 2f 2∂(f)∂2(f) + f 3∂3(f)

+f(∂(f))3 + 2f 2∂(f)∂2(f)

= f(∂(f))3 + 4f 2∂(f)∂2(f) + f 3∂3(f)

�
∂3(f 4) + (f∂)3(f) = 25f(∂(f))3 + 40f 2∂(f)∂2(f) + 5f 3∂3(f) ≡ 0(mod5).
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� ��2

���� ��(�J �����* 4��������
��A *
�*�	�* �� ���4 � 
��)����� 
 )�0��	��0
���	��0 � ��"����� 
����������� 
��
�(������� �
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��
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��� 2��
#�
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�����
���
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� L�$M
�������� ����
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��� L�(�"�	��M �"� �������	 &�	��� �	���
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!���� ���(����4��� �	���	��� ���4�
 � ����� � 	�� �� ����&��	
�� �	�2
��
 �������� � 
������� (���1	 �(����� ����
��������  �)� 
���(��� 
������
�(�����
 C4H10. ����(�	3� &	� �����0 �(�����
 C4H10 ��	�

����(�	3� &	� C5H12 ����	 ��
�� 	�� �(�����

� � � � � �
� � � �
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�
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����&�	 &���� 
��
�(�����0 �(�����
 ��* 
���4���
��� �*�� CnH2n+2� ��� �
��* �*�� �����0 ������&����0 ���������:� ����
�� �� ������0 ��	���0 ���"���2
	������ �����(� � 
 (��&�	��3��: ���� �	�������
��� ��� ��(
�	��� 9���&��	
�
��(��&��0 ����
3�
 �
*(����0 � CnH2n+2 
�� ��"��3)�0 n 
��
����� ����

m 1 2 3 4 5 6 7 8 9 10 11 12 13
9���&��	
� ����
3�
 1 1 1 2 3 5 9 18 35 75 159 357 799

��
��"�:	� 
�
	���	3 ����	���� �( �	�0 
�&�������� D�
������ ��* n = 6, 7.
���	��:	� ���	
�	�	
�16�� ����
3*�

���A�5���! 5× 5. 2
4����
�� �� ����������� .�#� 
�� 5�
� #���
JJJJ

��� ��������� #��
���� �� ������� #��
���!
JJJ

��� ����#
�! �� �����������#�5 L�$M
���	3 �	��� q ��(��&��0 ���	�
 ���
�����1	�* 
��
�(������� �
���"��� 



��)���0 
��
��3���� �������������M. ?��������? 
���&�16���* ���� �( ���2
�� 
�
���	�� 
����� ����	���: ���� �� ��(��&�1	�*� ���	3 f(M, q) @ &���� ��(��&2
��0 ?�������?� ����&�	3 4������A

M =

� �
�� � �

��

� � � � �� � � � � � � ������
���

�
�

�
�

�
�

� f(��", q) = q2(q6+17q2+16)
24

,

���



M =
����

�
�
�
��
�
�
�

��
��

� �
�

�� � � � � � � � � � � � � � � � , f(	�	�����, q) = q2(q2+11)
12

,

M = � �
� �

�
�

������
�� � � � � �� � � � � � � �� � � � � � � � � � �

�
�
�
��

�
�
�
�%
%

�
�
�
�

&
&
&
&

�
�
�
�
�
�
�����

, f(��	����, q) = q2(q4+3q2+12q+8)
24
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-������ ��* ����&��	
� �(�����
 ����� 
���&�	3 �( 	������ ������:���
���	3 G @ ����&��* ���

� � G ��:�	
��	 �� ������	
� M � ������� ���
���

��	3 (����� 4���,�*

α : G×M →M

	���*� &	�
α(g ◦ h,m) = α(g, α(h,m)), ∀g, h ∈ G, ∀m ∈M,

α(e,m) = m, ∀m ∈M.

��* �
��6���* (�
��� 
���	� α(g,m) "���� 
���	3 g(m). ���	3

Fix g = {m ∈M |gm = m}
@ 4����	�� ������	� g ∈ G.  
���� "������� �	��)���� �� ������	
�M 
� 
��
�2
�� mRn� ���� m = g(n) ��* ����	����� g ∈ G. ���
��3	�� &	� R "���	 �	��)�����
��
�
����	���	��

��.



!���� ����&��	
� ������
 ��
�
����	���	� ����� 
�&����	3 
� 4������

N =
1

|G|
∑
g∈G

|Fix g|.
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